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UNIT VI: SURVEYING AND REMOTE SENSING

QUESTION

Q1Which survey is considered as the mother of all surveys?

D160 &G Do ellwcosefledr HTUTs &HSUIU([HID Diemefliucd 6T8I?

a) Chain Survey (s &l6S SiereSliweco)
b) Compass Survey (Hlemewmrant_Lg. DiereNwicd)
¢) Levelling (usvo6ueSim)

d) Theodolite Survey (HIGwrGLremeol”_ DiemeNwicd)

Q.2The prismatic compass works on which principle?

Sifl&wmg & SHemeoral g 61hs e GamL_um 1q 6o G&weou[HSInE)?

a) Reflection (Qlr&lueSitiy)
b) Refraction (6Meoé &smeo)
¢) Magnetism (&mhs1b)

d) Optical Illusion (& edor Geoormi’_L oW &ID)

Q.3Which method is used to determine the elevation of inaccessible points?
DIE0)Is (Plq W Yoreflseflesr 2 wirsemss Siwneflés 6rbs (pemm
vwesTU(HSSUUHISIDEI?

a) Chain Survey (&1 &165 Sierellwco)

b) Trigonometric Levelling ((yp &@&mesor ueoeueSlih)

¢) Tacheometry (51" 8@wrGuor_f)

d) Contouring (eefliby SiereSliwco)
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Q.4Contour linesnever

aflefliby Gasm(Haseir oo GuTgID

a) Merge (S oo eorwng)
b) Cross each other (6p6sremm 6p6or ) HL_&aM8)1)
¢) Indicate slope (#Fmiemend &m_(Hib)

d) Show elevation (2_wréem&s &ML (Hib)

Q.5Which instrument is used in tacheometry?

&L HGwrGwoL_Fflulled 61hs & (1H6N LweTU(HSHSUIUHISIDEI?

a) Prismatic Compass (Gifl&iomiq & &lomesorasim_Lq )
b) Dumpy Level (Lib§) Geoeusd)

¢) Theodolite (51Gwn@L_remeor”)

d) Plane Table (9@eresr GL_S6iT)

Qseln levelling, the line of collimation should be to the axis of bubble

tube.

ucoau6SlhiSled, BsmedlGwageir Gam(h), uSler @WmuileT FadE
@euetor (Hb.

a) Parallel (&emeooriunss)

b) Perpendicular (Q&mi@651s)
¢) Inclined (emisbgy)

d) Tangent (@@ (Heuneorons)
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Q.7Theline joining points of equal elevation is called:
0@ 2_wrsSleo 2_dror Yeitatlecmer &ememrd @b Gsm(h) eTliulg &

@&mevbeolIu(Hib?

a) Gradient Line (smiey Gan(h)
b) Contour Line (eMefliby @s&m(h)
¢) Level Line (ueoeueSiiy Gar (i)
d) Meridian (@Guwoifliq wiebr)

Q.sThelength of onelink in a Gunterschain is:

&BoTLIT &1bi&leSlulled 6 (15 &emesorulledr b 6rmib 61651 6oT?

a) 0.25m (0.25 D)
b)osm (0.58)
€)0.75m (0.75 D)

d)10m (1.0 B)

Qo9oWhich error is not eliminated by reciprocal levelling?

61h% Uemp NHAUGTTE 60 UcvEUESIHIST6D B IhIsHTS)?

a) Collimation error (8&meSiBweg 6ot Slemip)
b) Earth's curvature (y,luSler sucmerey)
¢) Refraction (efeod &smeo)

d) Parallax (uroev&eiv)

QaoThe first all-digital surveying instrument is:

W60 (P(IR&S 19.9811" L 60 iemeliicd &(melil 61517

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

a) Plane Table (9@erssr GL_G6iT)

b) Total Station (BLm"_L_6o 6lo@L_619.661)

¢) GPS (g8.91.67600)

d) Phototheodolite (Gum”_GLr & GwrGLmemeol”)

Q1Which type of curveis used in highways and railways for smooth change
in direction?
O edtmwwmet Slems IHMSSHENE OIb(h©EhHETme0&ET hMIb Sruilcosefleo

6THS QUEHE QIGMH6T6| UGHTU(HS SUIU([HISImE)?

a) Simple Curve (erefliu ucmerey))
b) Compound Curve (ge.L"_(f) cnemeorey)
¢) Transition Curve (b ay euemerey)

d)Reverse Curve (oridHlw euemerey)

Q12Which of the following is NOT a levelling method?

65T 62 (HGUGHT UMD 16O 6T 8 UEvEN6SIThI (Lp CHDIWTEHTS)?

a) Rise and Fall Method (2_wiiey wbHmib &fley (psom)
b) Height of Instrument Method (&@meMuSlesr 2 wimb (p emwm)
¢) Check Levelling (&flunitiy ueoeueSira)

d) Traverse Method (iqnmeuieio (wemm)

Q3The scale used in plane table surveying is called:

1Bemest GL_loir SterailweSleo LWGHTU(HISSUIU(HID SieTEMEY 6TUILILG &

@&meveotIU(Hib?
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a) Engineer's Scale (& 66t shleoflwii Diorey)
b) Plane Scale (9@eretr iorey)
¢) Diagonal Scale (@snesor iemrey))

d) Field Scale (&6 =i6mey))

Q14 Which system provides 24-hour global coverage for position fixing?

iflemeowineor SL_&ems 24 wenfl GBI 2_cvsermeliliu SieTefiled auIhIE D (Y DM 6T5)?

a) GIS (g9.e3.616/0)
b) GPS (ghl.9).6160)
¢) Remote Sensing (usnemreo eme_iieay)

d) Photogrammetry (Gum”_GLn&lrmGuor’_f)

QasThe science of obtaining information about objects without physical
contactis called:
2 (HUULY.&EHL 6T GBIy @& iTYleveomned &&6aico GUmID Sidlefwucd eriiulg &

@&meoeolIu(Hib?

a) GIS (ueSluSlweo &&6u60 (P 6M)
b) Photogrammetry (Gum”_@GLr&rm@uor_f)
¢) Remote Sensing (usnemreo eme_iiey)

d) Hydrographic Surveying (®itiuniy Sierellweo)

Q1eWhich projection is commonly used in GIS?

sdl.ez.6rerdl6d @UTGIGUTES LWGTU(HSSUIUHID UTTOIe2 869,65 6187

a) Mercator Projection (@wi@s1"_Lit (irm©lg286:9,66T)

b) Conical Projection (@&nedr Uirm@ignse, 651)
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¢) Cylindrical Projection (8eSesor_flweo imm©lee 86, 667)

d) All of the above (Gweols er6veomib)

Q17Theline of sight not passing through the optical centre of alensis called:
©@oevcsTonSleoT GpeiflsaSlit emwwib eupluns s GlFcoeons uniemaud s () sTiuig &

@&mevbeolIu(Hib?

a) Axis of Telescope (O&T6m60@HT&H&H 18 &)
b) Line of Collimation (8&neSi@weagesr Gan(h)
¢) Axis of Bubble Tube (u§leir @mi & 8)

d)Parallax Line (ungeoéeio @&m(h)

Q18Which method is used in photogrammetry to obtain 3D information?
Gum”_GLn&rmGuot”_flufled 3D s&eusments GUM 6TihS (L M

uwesTU(HSSUUHISIDEI?

a) Stereoscopy (erore flGwimero @amél)
b) Orthographic (@,F@srSITm9s)
¢) Monoscopic (Bwr@eormeio@amillés)

d) Relief Displacement (2_wiiey &L_0@uUWIT&S)

Qa9Hydrographic surveying deals with:

Birouriy Siereilwco 618 cmeord &MiiheG)?

a) Mapping forests (&m"_(h&cmer cuemrs co)
b) Measuring water bodies (Bivuriyasemer Sieref(5&60)

¢) Studying atmosphere (eweflioedor_co piiie))

d) Soil exploration (wesor Diie))
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Q.20Which type of error occurs due to improper centering in compass
surveying?

SlemeramL_Lg Siem6eileSled §eummest eomwIU(hHiE S 6omed arbu(Hib Slemw 618)?

a) Instrumental Error (&@p69 Qlemip)
b) Personal Error (sesfliiuc_ Slemip)
¢) Observational Error (seuesfliiy Slemip)

d) Centreing Error (eowwiiupéseo Slemip)

Q.21Whatis the minimum number of satellites required for GPS position
fixing?
shlfl.ereiv b @MI&B& GmmHsUL_&F @FwHemned@anersaflesr ereoramildsomns

6T 60T 60T ?

a2
b)3
c)4

d)s

Q.22Theodolite least count is usually:

SICWTGLmemevL”_19 65T @& OMIHSHUL_& DI6IT6Y FTSITTGITLONG 6T6)6U6IT6?

a1
b)30’
c)20"

d) 5n
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Q.23In plane table surveying, the process of transferring ground details to
paper is called:
1Bemest GL_Yl6ir tereilweSled, &6mrs STemeu s &S S S @ Wb mib

@& wed (W emm 610U & Gl&FTEdeOTIL(HID?

a) Radiation (&&\iefi&sr)
b) Intersection (& ecmewortiL)
c) Resection (Beir@mnd @)

d) Plotting (euemrs60)

Q.24Which oneisnota component of GIS?

e9).20.616r5165T S6r D& G060 E &) 6157

a) Data (sre)
b) Hardware (& @pof&eir)
c) Sof tware (@ est@UT(H6IT)

d) Photogrammetry (Gum”_@Ln&lrmGuor_f)

Q.25Which curve is provided on hill roads to avoid overturning of vehicles?
LDEMEVE FIT60I60861TI60 GUITE GOTTRIS 6T HANIDNDS S &6l 6THS IEHEIT6)

UBISUUHISIDG)?

a) Simple Curve (erefliu aucmerey))
b) Vertical Curve (Q&1ki@ 68 euemerey)
¢) Transition Curve (b euemerey)

d) Superelevation Curve (Gwevsmiio)] aicmere))
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Q.26 Which method is used for locating an unknown point in plane table
surveying using three known points?
ewest M Sidhwtul_L yeireflesemerts uwestu(Hls S G1Bemest GL_leir iereweSleo

SIHwBUL TS yeiteflem & esor_ b (p 6mm 6187

a) Radiation (&&\iiefi&sr)
b) Intersection (& ecmewortiL)
c) Resection (Beir@mnd @)

d) Traversing (1q omeui &)

Q.27In chain surveying, tie lines are provided to:

&b &168] Siemefilwedlev, smL_ C&m(H&AT 6186 MH&TE euLhIsUIU(H &6 m6oT?

a) Check accuracy (gye06Slwsems & eflunise)
b) Locate interior details (2_eirona 6Nl emer & 6vorL_ M)
¢) Connect main stations ((p &&lw Hlemeoiwrhigs smelr &6t)6001 88 )

d) Both (a) and (b) (a b mutb b Sresor(Hib)

Q.28The fore bearing and back bearing of a line differ by:
6215 @&IM_1q 65T (W 65T SlemasorsmL_Lg. b MIb ST SlememramL_Lg EemLGw

NS S &Id eT6M6N6T6R)?

a)90e
b)120°
¢)150°

d)180°
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Q.29Which error is common in chain surveying due to unequal pull on chain?

&hi&l6S] StereflieSled sbiomhm &(giumed arbu(bhib GuNgieureor Glemip 6T8i?

a) Sag error (&(1Hr&60 GlemLp)
b) Compensating error ( () Sleomw)
¢) Cumulative error (@&ii&ona Slemip)

d)Random error (&rhm Gleop)

Q.30Which levelling instrument has the highest precision?

91516 gl6o6SIwib @& 6soTL Ueveuedlih &(Hed 618)?

a) Dumpy Level (LD @eoeued)

b) Tilting Level (smiiey Geoeico)
c)Auto Level (<11 GLm Geoeusd)

d) Digital Level (1q 89l"_L_60 @o6v6u60)

Q.31Which error in levelling increases with distance?

ucoau6SIhISleo HMTSHHIL 6T BiS&fle @D Uemip 618)?

a) Collimation error (8&meSiBweg6ir Slemip)
b) Instrumental error (&@Hed) Glemip)
¢) Curvature and Refraction (euemerey b mib 6feosd Hgmeo)

d) Parallax error (ungeoéeiv Slemip)

Q.32Which surveying method isbest for mountainous terrain?

LOE®EOUIUNHIGT 60T U@ Sl &Teor Smibha Diemeliliucd (W emm 618)?

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

a) Chain Survey (s &l6S Sierellweo)
b) Plane Table Survey (9@erssr GL_Sl6iT iemreSlco)
¢) Compass Survey (Hlomemram_1q DiemeSleo)

d) Theodolite Survey (HIGwrGL_remeor”_ DiemeNuwico)

Q.33In tacheometry, the multiplying constant is generally:

&1 HCwr G flufléo, GuH& @D I MHleS GUTEHICITE 6TEIRIGTE)?

a)50
b)100
C¢)150

d)200

Q.34The method used in remote sensing to classify imagesis called:

USTEo0T60 6m2_[6Xl60 UL Th1&6m6m auem&UIU(h &S UWESTU(HSSUIU(HID (Y 6mm 6187

a) Georeferencing (yef @& mMIy)

b) Image Classification (UL suem&UILHIESH60)
¢) Orthorectification (F@HTEH (HSH &)

d) Resampling (ogy wrSfl er@io)

Q.35Which curve is used to connect two parallel roads or rail lines?
E16607 () &6 OTITGOT &FITENEOHGT DiG060G) TUIl60d U608 8 606 360601 &8 6T1HS

cUemOT6| LWGTU(HSSUIU[HISIDEI?

a) Simple Curve (erefliu aucmerey))

b) Reverse Curve (onhmdlu euemerey)
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¢) Compound Curve (ge.L"_() cucmerey)

d) Transition Curve (onbH ) euemerey)

Q.36Which isnotan electromagnetic band used in remote sensing?

usTexTeD m2_[F6Xil6d LWEHTU(HISSUIUL TS LDIGHT HTHES IEHEOEUELD 6T5)?

a) Microwave (emwé&GrmGeush)
b) Infrared (&e6r-timm@m”_)
¢) X-ray (erdheiv-&S)iT)

d) Visible (unif emeud ser1q W)

Q.37Which system is used to measure depth of water in hydrographic
surveying?
Birouriy SereNweSleo Bifler s 608 Do s 6THS (Y DM

uwesTU(HSSUUHISIDEI?

a) Echo sounding (61888 &6y6toriq rhi)
b) Levelling (ucoeueSim)
¢) Traversing (.q rmeui i)

d) Tacheometry (51" S GwrGuor_f)

Q.38Which error in photogrammetry arises due to camera tilt?

@swrm smibeured Gur”_GLr&lTmEwLflulled erbu(Hib Glemip 618)?

a) Scale error (Sierefic_ () Sleow)
b) Relief displacement (2_wiie| &L 0@uUWITS& &)

¢) Tilt displacement (smiiey SL_UGUWITE &)

d) Orientation error ($lema Glemip)
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Q.39Which curveis used in vertical alignment of highways?
OB (h 6 FTemevs6ifledT C\&ThIE S8l E6marTUdeD 6THE GUENH6T6)

uwesTU(HSSUU(HISIDEI?

a) Horizontal Curve (SlemLiol” L aucmerey)
b) Transition Curve (i my euemermey)
¢) Vertical Curve (Q&1ki@ & 8 eucoerey)

d) Compound Curve (ge.L"_(f) eucmerey)

Q.40Which oneis NOT a property of contours?

eflafliby @& (hasefledT ustoTuN s E6d6oN S8l 6T8)?

a) Contours never cross each other (eflefliby @am(hseir 6 (HBUNGID 66T M
6Q60T M) HL_SH&HITE))

b) Close contours represent steep slope (1@ &Slw sfefliby @& (Ha6ir & HIb
FMibcmeus & (Hib)

¢) Contours form closed loops (eflefliby @& (Hl&eir eiqw el L hisemer

2 (HeuN&H@GD)

d) Contours are straight lines (eflefliby @& (hiser Gri@sm (Haer)

Q41Which method is used for quick determination of distancesand
elevationsin rough terrain?
&1q eoTwomeot Hleotugti§leo Gmb WHmIb 2 wWnTkisemer Gausswnes MU 6TiHE

(P 6o LWGTU(HSSUUHISIDEI?

a) Tacheometry (51°_SA@wrGuor_f)

b) Trigonometric levelling ((p &8s eoor usoeueSihi)
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c) Plane table (9@omrsr GL_l6iT)
d) Chain survey (&u&leS Sierefliwco)

Q.42Which instrument is used to measure horizontal and vertical angles
precisely?
SlemL L L whHmib O&hIG S8 G&meorihie cmor &16oeSIns Diords 6Ths

&(H6eN LWETU(HSSUUHISEIDG)?

a) Compass ($lemesrani_iq)

b) Theodolite (5IGwnGL_memevr” )
c) Plane table (9@eresr GL_leir)
d) Abney level (11607l Glev6u60)

Q.43The capacity of GPS to provide accurate positions depends on:

881.19).676M0 Fl606SIIWIDITGOT S 15186 QILPIHIE D SIM6OT 618 65T BF) FITTHSI6T6NS)?

a) Number of satellites visible (uri&stu@pib G&wHems &Bsneiraeficsr
6T 600T 600115 60785 )

b) Position Dilution of Precision (gi606Sw 8gmeo Hlemeo)

¢) Atmospheric conditions (euefloesorL_ev Hlemev)

d) All of the above (BGweoSls ercoeomib)

Q44Which survey uses stadia hair method?

o BL1qwir Gamif (YoM 6THS Siemedliuedled LWesTUHSSUUHISIDE?

a) Chain Survey (18165 Sierellco)

b) Tacheometry (51" 8GwrGuor_f)
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¢) Compass Survey (Hlomemram_1q DiemeSleo)

d) Levelling (usoeueSim)

Q.45The main advantage of photogrammetry over ground surveying is:

Gu_BLn&lrm@wL_flé@E &oor SemellucmeveilL (&S 65T 6L 6T65T6oT?

a) Higher accuracy (®i$ls gieoeSiuib)
b) Rapid coverage of large area (Quflw u@ S eow eSlemrauns e (HG6o)
c) Less cost (@& oomibg @&eoe))

d) Simple instruments (ereflw & mHeflseir)

Q.46Which is NOT a method of plane table surveying?
S1Bermredr BL_Gl6iT SiemeflweSIeHT (W HOWITE EB6060T S G) 6157

a) Radiation (&&\iieS&sr)
b) Traversing (1q mmeur &)
¢) Intersection (&emewortiny)

d) Cross staff method (&lrmeio stoL_m--11 (p 6mm)

Q.47The process of aligning telescope with a signal is called:
©5Teme0BhHnsSHlemw HécorepL 6ot &Fwiblemeotiu(hs &b G&wed (W emM 6TILLg &

@&meoeolIu(Hib?

a) Centering (emowwiu(h&60)
b) Levelling (usoeueSim)
¢) Sighting (@B @)

d) Focusing (&eueorib Q\&ep16 818 60)
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Q.48Which GIS data type represents roads and rivers?

FMTEmOV&EIT LDH MID HE&emar SlITSlueSls @b eil.ee.6T6/0 HT6) U6HE 6T8I?

a) Raster (gmeioL_f)
b) Vector (@6usLii)
¢) Grid (&ifl)

d) DEM (19 &erid)

Q.49Which method of setting out curves uses deflection angles?
6UGHOIT 62| & 6D DML EELD 6T1HS (W emMUIled & med &I esorrhis o

uwesTU(HlS & UIU(H&lesT D 6oT?

a) Tangent method (@L_@p&esT"_ (p6>M)

b) Deflection angle method (Asmeb @asmesor (1p mm)
¢) Chord method (@& (ip emm)

d) Rankine method (Grmu&lesr (1p smm)

Q.50Which of the following isnot a GPS error source?

et 621 66T D MH6d 618 281.9].6T6M lemp eYpoOLTEHTE)?

a) Multipath (usotiurems)
b) Ionospheric delay (Sm@esrmero Gt &minsib)

c¢) Receiver clock error (Qumumii s1q & Slemip)

d) Echo sounding (6168 &6 600719 1h1)
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Q.:51In chain surveying, which of the following isa well-.conditioned triangle?
&1b1&166] Siemefilwedleo, &1 & avorL_euih Ml6d 618 IH606v Hlemed G\aTevorL

(W& Bsmevorid?

a) Equilateral triangle (s &@asmevorid)

b) Isosceles triangle with small vertex angle (Adw 2_& & Gasnewor(peirer &iné &1
(W&Bsmeoorid)

c) Right angled triangle (@ &miBsswor (1p & Basmevorid)

d) Obtuse angled triangle (691"_L_iomeor Gamesorpeirer (W& Bameoorid)

Q.52Which survey instrument uses prismatic compass?

6Tih % Steredlweo &pefl Slfleow g & Slem&sn g emw LWETU(HSSHISIDEI?

a) Chain survey (gmi&leS Dieredliueco)
b) Compass survey (Hlemasm_1q Sieredliico)
¢) Levelling (usv6ueSir)

d) Theodolite survey (SIGwiL_smeor”_ DiemeSlico)

Q.53Which error in levelling is eliminated by balancing back sight and fore
sight distances?
ucoeueSitu&leo Slerasm_ & hHmIb (WeTHM & ks emer &Wlu(HSslens 6eor

ewoolbd 61HS Ulemp B &HaUU[HISIDE?

a) Collimation error (&651@we6965r Slemip)
b) Parallax error (unmeodeiv Sleop)

¢) Instrumental error (&5 65 Slemip)

d)Settlement error (Siemwoiiy Sleomw)
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Q.54Contour interval depends on which factor most significantly?

eflefliby SemL_Glevefl iSlsb enibSlHUILE) 618 6T Bg)?

a) Type of survey (SierelliLco a16m&)
b) Purpose of survey (ierefiueSiesr @mméaib)
¢)Scale of map (uemruL SieTey)

d) Nature of ground (& emmudlesr 8661 6m10)

Qs55Theleast count of a vernier theodolite is usually:

615 Geuieoful SIGWwImL_cmeol” 1q 6T @& mmHSUL & WSy GungHieuns:

a)1 (1HIBILIb)
b) 20" (20 6MeoriTLg &H6iT)
¢) 30" (30 6Xl6oTITIq &61T)

d)10" (10 eNleorimigq &6iT)

Qs6ln trigonometric levelling, the distance is measured using:

WP &85 Bamemr UEv6U6SIHISIED, HITTD 678 63T eLPEOLD SieT&H&IL(HEIDEI?

a) Chain (s &l6S))
b) Tape (ur_Lm)
¢) Angle and height observations (@amesorib wHmub 2 wiré &ewityseir)

d) EDM instrument (\bl61 60160y ST Sierm smeuwii & (15 651)

Q57Tacheometric surveying is mainly used for:

SL&C&HIMesor S16mNlLcd (L & 6T EMIWITE 618 DTS LIWGSTU(HSSUUHISIDE?
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a) Precise levelling (g606Swinmeor usoeueSihi)
b) Rapid contouring (@eusioneor efleflibL) 66mir s 60)
¢) Chain triangulation (sai&16S) ey 6ueSlweo)

d) Boundary survey (eér6b6meo Diemewico)

Q.58Which type of curve is provided at the intersection of two straight linesin
road design?
&memov aulg. auemlibled Sresor(h) CmiiGam(hsefler &bSlidleo 61hs aieme

UEMOIT 6 UPHISUIU(HESIDSI?

a) Simple curve (eroiflu GusmoT6Y))
b) Transition curve (b my eeverey)
c) Reverse curve (o ay Hlev& euemerey)

d) Vertical curve (Q&mi@ 68! cuemerey)

Q.59Which satellite-based system provides global positioning?
2_ocosommeili hlemev Hlif smoriug 6ms ek b O &FWwhHemned@smelr

g UIU6BL_USl60MT 60T SiGmLOUIL| 6T8)?

a) GIS (gflezereiv)
b) GPS (efllet6iv)
¢) Photogrammetry (Gum”_@GLr&lrmGuo1”_f)

d) Remote sensing (UsTewT60 W2 _[F6)))

Q.60Which is not a type of remote sensing resolution?

USTeooTe0 6m2_[fellesT HiiomeoT emasoifled Eeocons &) 6187
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a) Spatial resolution (&L Sineorid)
b) Temporal resolution (&meo Sireorib)
¢) Radiometric resolution (&8)ieSs & Siwmeorid)

d) Economic resolution (Qunaperngnr Siimeorid)

Q.61Which principle does photogrammetry mainly rely on?

Gur”_GLn&lrmGw L if] (i & 65T OIS 6T1HS & OI&ITET & GO FTTTH ST 6T &7

a) Triangulation (eyeueSwev)
b) Trilateration (b emeors GMIib)
¢) Parallax (urgevéeiv)

d) Contouring (eMefliby exemr s 60)

Q.62Which hydrographic surveying method is commonly used to measure
depth of water?
Birouriy SereweSle Biflesr 10608 SerellL Gungieuns LIETU(HISSUU(HID

(poeom 6181?

a) GPS (shl96r6iv)
b) Echo sounding (616 8&m &6 6ooriq rhi)
¢) Photogrammetry (Gum”_GLr&lrmGuo1”_f)

d) Chain triangulation (g&16S) eyeueSiuco)

Q.63Which instrument is essential in Total Station for angle measurement?

GLm_L_6b 6vBLagefléo Gamemrmhisemer Siemiiu SisShwmeuwioreor &(H6s 618)?

a) EDM (1ble5T 6016001 ST St61m smmeuuii)

b) Theodolite (5/Gwim_smeor”)
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¢) Compass (Slemasm_iq)

d) Clinometer (smiiey ieremeuwui)

Q.64Which GIS data type represents real- world features in the form of points,
lines, and polygons?
yeullwed &8 6160 SiemesortiSleo, Yeteflaer, @sm(hiaeir, ueo@amemTihigser <&l

oulg GG 6fled 2608 2 68T ™D LEtoTLIE smer YIT&luedlé @b HT6) & 6T8I?

a) Raster data (mmeoLif s16))
b) Vector data (QeusLii Hr6)
¢) Attribute data (uedory BT6Y)

d) Remote sensing data (usnemTe0 s2_[i6) HT6)

Q.65Which surveying method is best suited for hilly terrain?

emeolIuNhisTeor Hleoturiiyé @ s b arbhm Sierelliucd (W emm 618)?

a) Chain surveying (&ai1&leSl Siemefwico)
b) Compass surveying (Hlemasn_1q Dierelwico)
c¢) Plane table surveying (9@ersr GL_Gl6ir iereuico)

d) Triangulation surveying (eypeueSiweo ierefuweo)

Q.e6Which line is perpendicular to the plumb line?
Bl Gsmi_1q hH@E O&FhiESsTer @am(h) 61817
a) Level line (hlemeod @am(h)

b) Horizontal line (SlemL w1 L @&m(h)

c) Vertical line (Q&ti@ 681 Gan(h)

d) Datum line (®ierey s 8mid @sm(h)
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Q.67Which method of contouring is most suitable for hilly regions?

L EEOVIUNTRISTEOT UG S1H0H&E 1516 o hm eflefliby cuemrsed (pemm 61g)?

a) Cross-section method (g &&1°_ ;) (poo)
b) Radial line method (&8l @& (i) (pemm)
¢) Square method (g&ir (p som)

d) Tachometric method (81_&8s&mewr (1 6mm)

Q.68Which correction isnecessary in chaining over sloping ground?

gmiie) hleod Sleo &rkisHleS SiereflweSled o1ihs &(HHSD SieuSlwb?

a) Sag correction (5Mpe| H(HSHHD)
b) Temperature correction (@eutiuBlemeo Hl(H& D)
c) Slope correction (smiiey H(H& D)

d) Pull correction (&@guy Slps51b)

Q.69Which reference surface is used for determining elevationsin surveying?
StereilweSleo 2 _wirmhiss emerr Hlifeoorudlé s 61ihs Diq LiuemL G hHumiiy
uwesTU(HSSUU(HISIDEI?

a) Ellipsoid (feireu_L_ib)

b) Geoid (e91@wmullL)

¢) Datum plane (Sierey & simib Horrib)

d)Mean sea level (srm&ifl &L_60 w1"_L D)
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Q.70Which method is used in GIS to store continuous data like elevation or
temperature?
sflenererdled 2 _wirb Dicveog @eutiublemeo Guresrm @S f& et HTemoey

@&dlé s 61H5 (Y oM LWGTU[HSSUU(HISIDEI?

a) Raster method (mmeoL_if (i emm)
b) Vector method (@eusL_ii (ip smm)
¢) Attribute table (Uetory =iI1”_L_eu6m600T)

d) CAD system (@&L"_ SeioL_b)

Q.71In remote sensing, which platform provides highest spatial resolution?

USTexTED 265160, DiSle S SioNeorHems QIPHIEGD S6TD 6187

a) Ground platform (6o emib)
b) Aerial platform (euresfiwed errib)
c) Satellite platform (@& wihHens&@s&mer seormib)

d) Balloon platform (uspresr gemib)

Q.72Which property of electromagnetic wavesis used in remote sensing for
vegetation studies?
U&6mID SHTEUT Dbl 16)]&61Tl6d LS ITEtoTE0 6m2_[T651160 6TTHS OGO &HITIHS DI LIGHOTL]

vweTU(HSSUUHISIDEI?

a) Reflection (SQir&lueSliy)
b) Refraction (eNleo&60)

¢) Absorption (2_ereunmigseo)

d) Transmission (epefli&8)
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Q.73Which error in plane table surveying arises due to non-horizontal table?
1Bemest GL_leir SterafileSled Geme SlemL L™ L 1oms &6oeonsHSmed o hHu(Hib

Sleowp 6181?

a) Orientation error (Slewa Glemp)
b) Instrumental error (&peM Slemip)
¢) Parallax error (ungeodeiv Slemip)

d) Collimation error (6698w 6sr Slemw)

Q.74Which type of aerial photograph has the least distortion?

6)IT 60T
= YemsUUL bis6lfled @ mmibHUL_&F aIcneTcm6 O1&IT6ooTL &) 6157

a) Vertical photograph (@&ii@ s g yemstiuL_b)

b) Oblique photograph (smiie yeme&iuL D)

¢) Low oblique photograph (@ eomhg mie) yemasUuL_tb)
d) High oblique photograph (=i$l& smiie) yensUuL b)

Q.75Which surveying method is most suitable for preparing topographic
maps?

GLm@un&lnm§ls cuemruL s emer Swiflés WlsaD arbm Siereilcd (W emm 6T8)?

a) Compass surveying (Hlem&sn_1q SiereSliico)
b) Chain surveying (5ai1&l6Sl iemeflwico)
¢) Triangulation surveying (eypeueSiweo SiereSlwco)

d) Tacheometric surveying (&1_&@&meoor iereSlico)
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Q.76 Which is the most accurate method of levelling?

ueoeueSIftuSl6iT Ol& S &1606SIULDIT6oT (L DM 6TE)?

a) Barometric levelling (euefloesor_oco 11988 ueoeeSIi)
b) Trigonometric levelling ((p &8 @ameoor ueoeeSihi)
¢) Spirit levelling (<21,6M ueoeueSiihi)

d) Tacheometric levelling (&1_&8smewor U6o6u6SIHI)

Q.77Which scale is commonly used in cadastral surveying?
@sLoivL b StereilweSled GUTEHIITS 6TiHE Di6T6) s E&med
uwesTUHSSUU(HISIDSI?

2)1:50,000

b)1:25,000

€)1:5,000

d)1:500

Q.78Which correction in chaining isalways subtractive?

&1b1&5160] Sioreilwedled 618 6TUCUNSID HWYI&&HUIUHID Sl(1HS5HD?

a) Temperature correction (@eutiublemeo $l(H& D)
b) Pull correction (&g Hipssb)

¢) Sag correction (&Mpey H(HSHHWD)

d) Slope correction (gmiey H(HEHSb)

Q.79Which method is used for setting out right angle in field without

instruments?
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&(HN&6T E6060MD6d Flemmulled O\&HIGET 6T S 608 AHEMDES 6THS (L DM
uwesTU([HSSUUHISIDEI?

a) Indian circle method (8m&w en” L (ip som)
b) 3-4.5 method (3-4-5 @ 6mm)
¢) Intersection method (&nHl0y W eom)

d) Radiation method (&8l (wpoom)

Q.80Which method is used to eliminate local attraction in compass survey?
Slomasm_1g oeredlueSled 2 _oiTeomiT Frilicnu 868 61Hs (L 6mm

uwesTU(HSSUU(HISIDEI?

a) Orientation (Hlemwa DiemibliLy)
b) Included angle method (2_sireunii&Hlu Gamesor (W 6mm)
¢) Radiation method (&8l p som)

d) Traversing (LwesoTib)

Q.81Which type of levelling uses reciprocal observations?

o Hw &efltiyss emerts LWESTU(HS SHID LeoeueSIk (L DM 6T8)?

a) Profile levelling (srweSeur ucoeueSii)

b) Differential levelling (Geumyumt’_(H usoeueSiri)
¢) Fly levelling (eMemrey ueoeueSirhi)

d) Check levelling (&flunitiy ueoeueSiri)

Q.82Which curve connectsa straight line and a circular curve smoothly?

621 BB G&sm(h) LHMID 6(H AL 66t 6T 6t76) (GILD 63T DTS &60)600T 85 (G LD

GU6DOIT6) 6T8)7
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a) Simple curve (616l cusmerey))
b) Compound curve (B&iis6m8 aucmomey)
¢) Transition curve (b gy cuemerey)

d) Reverse curve (onbmy Heos eucmerey)

Q.83Which system provides height information directly from satellites?

@& wWIH 608 & Gasmarsefled(mibg ChIgwns 2 WIrs &8566060 QIPHIELD el
org)?

a) DGPS (q..g8.9).61610)

b) GPS (ef1.9).616/0)

¢) GIS (e9).en.61600)

d) Photogrammetry (Gum”_GLn&lrmGuor_f)

Q.84Which remote sensing resolution indicates how often a satellite revisits
the same area?
(15 QO FWH 8 &BsTeT QET BL_5815E S Sl(HDUEF Q&b ig &&lq

& 60T MDD HITL_ (HID USHTEOTE0 6m2_[f6] SHLONGOTID 6T8)?

a) Spatial resolution (&L Siwneorib)
b) Temporal resolution (&meo Simeorib)
c¢) Radiometric resolution (&&)liefis & Siwmeorid)

d) Spectral resolution (euedsreoor Siiomeorip)

Q.85Which principle is used in photogrammetry for height determination?

Gum”_BLrSlrmGIoL_flulled 2_wirdems Hlif coorullé & 61ih s & G\&ITeiT6ma

uwesTU([HSSUUHSIDEI?
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a) Stereoscopy (S(pwLs&mL_&)
b) Collimation (&69@w65.657)
c) Refraction (6Ml6o&60)

d) Reflection (Qir&lueSliy)

Q.86Which method is used to find depth in hydrographic survey using sound
waves?
6065 Di6m60& meIl LWETU(HSS] BIrTuTiY SiereilwueSleo p s ens &evorL b

(W 6181?

a) Lead line sounding (8mibys &ulim) (pemm)
b) Echo sounding (616 8&m &6 60or1q rhi)
¢) Cross staff (&lrmeio eroL_m-01)

d)Sextant (@&& 6oL _mesorL”)

Q.87Which part of Total Station is responsible for storing data?

GL_L_6b 6vBLagetléd sremen G&dle @b uES 618)?

a) EDM (leir corgmy g Siememeuiui)
b) Processor (@ &wed))

¢) Data logger (5o uslef)

d) Telescope (gnresiaS)

Q.88In GIS, which data type is used to represent satellite images?

sbl.en.eTerdled @&FWIHema & @asmer UL kg emer SlTSlueSlés 61ihs HI6) alcma

uWesTU[HSSUUHSIDEI?
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a) Vector data (QeusLif 516))
b) Raster data (rmeoL_if sT6Y))
¢) Attribute data (uedory BT6Y)

d) Tabular data (®n"_L_euemesr sr6y)

Q.89Which line passes through the optical centre of the theodolite telescope?

SCGwm_omeol” grefis Fulledr sefluflco emwwib euplwns & @&coopibd s (h) 618)?

a) Axis of telescope (gnmefig HuSlesr s &)
b) Line of collimation (&65@we9q6r @si(h)
¢) Vertical axis (Q&hi@ g ié &)

d) Horizontal axis (SlemLol’_L <15 &)

Q.90Which property of contour linesis always true?

oflefliby @& (Hasoifiesr TtIGUTED 2 60T EMLDWITGOT UGBOTL| 6T87?

a) They cross each other (B ouemmBmlé @ &coSHlesrmeoT)
b) They merge into rivers (<yihdleo &6t 6ot 66T m6oT)
¢) They close either inside or outside (2_er@er icoeog @enefBGu ew (H&ledTmeoT)

d) They are straight lines (®1emen Gpii@an (Ha6ir)

Q9o1Which error occurs in tacheometry if the staff isnot vertical?
SL&Csmeoor Sierailiedled sl C\&hIE S SM8 &eoeonelll_Lmed arbu(hib Ylemp
61g)?

a) Additive error (ga.l’_(HUSIemLp)

b) Multiplicative error (QuB& @V Slemip)
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¢) Collimation error (&65@we965r Slemip)

d) Instrumental error (&6 Slemp)

Q.92Which curve is provided when two curves of different radii meet
tangentially?
16007 (h) UEmET&H6T Gaum HTSHHIL ST OS5I (H CHMLs &hsHlé@E b Gung)

QHISUIU(HID QICHOT6 6TF)?

a) Simple curve (616l cusmeTey))
b) Transition curve (b my eleverey)
¢) Compound curve (B&ii& 608 a16m6m6])

d) Reverse curve (omb oy Heos aucmerey)

Q.9o3Which satellite is India's first remote sensing satellite?

SHSWnel6dT (& 6d USTETeL m2_[Te] CIFWH e s E&meT 618)?

a) INSAT-1A
b) IRS1A
c)GSATA

d)Cartosat-1

Q94Which hydrographic survey method was traditionally used before echo
sounding?
6185 @& &6 6voriq bl (W &Teorii ummbuflwrs vwesTuHiSSUUL L BFtumiy

Slomreilwcd (L 6mm 6187

a) Sextant method (@&&etoL_medort”_ (W emm)

b) Lead line sounding (&pbys sullmy (pwemm)
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¢) Cross staff method (Slrmeio ehoL_m0 (p 6mm)
d) GPS method (g81.9.616i0 (W 6>m)

Q.95Which component of Total Station emits electromagnetic signals?

GLm’_L_6b 6o BL_ag60fled TEHMHS Diemevsemer @eusfluil(Hib uE Sl 6181?

a) Data logger (&1 uSlef)

b) EDM (D\66r 601000 ST Dieim smeuiui)
c) Telescope (gnrefig &)

d) Processor (@&wed))

Q.96Which GIS operation is used to overlay multiple thematic maps?
9l.e2.616r5160 LGV & (HUIEUIT(IHOIT AIGHITUL h1& 66T 6T &L_&Sl6d Siemsd&UIu(Hib

@& weoun (i) 618I1?

a) Buffering (u-~ufira)
b) Overlay analysis (@euiGeo u@uLMiIe)Y)
¢) Digitization (1.9 g8)"_cmL_B&69.66T)

d) Georeferencing (yeNl&&i"_L_60)

Q97Which isthe first step in photogrammetric surveying?

Gum_BLn&lrm@wL_flé SiemeilweSleo (L &6d ulg. 618)?

a) Aerial photography (eumeor yema&UULIb)
b) Control survey (&1 (HOum’(H erefuwed)

¢) Map preparation (euemruL_ swmiflé g 60)

d)Image interpretation (UL eMer&&Ib)
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Q.98Which line in a theodolite is made truly vertical by centering?
SIBWITL_6m60L"_19.60 GRWLWIU(HS GI61E T ELP6OLD 2_660T GHLDIWITGOT O\ &FTRIGH &S TEH

& &UU(HID Bam(h) 6187

a) Line of sight (umiemey Gar(K))
b) Vertical axis (Q&ki@ &g & &)
c) Horizontal axis (SlemL_ol” L i &)

d) Line of collimation (&651@wegesr @&m(h)

Q.99Which principle isapplied in chain triangulation?

&1 &165] ey aueSlwedleo LWGsTU(HSSIL(HID C&T6ITENE 6T8)?

a)Sine rule (em&6or NS))
b) Cosine rule (8snems 6t 6515))
¢) Tangent rule (BLcoren6or1”_ 6N &))

d) Pythagoras theorem (ewug@&mreivo @sm_un(h)

Q100Which instrument is used for rapid contouring in rough terrain?
Wpr_Lmeor HleotiurtiSleo eflemreunest afleflibL euemIUL & 815 @E 6THS & (HoN
vwesTU(HSSUUHISIDEI?

a) Abney level (11601l Gleoeu6v)

b) Dumpy level (L1519 @eoeued)

¢) Theodolite (5lGwr_emeo1” )

d) Total station (GLm"_L_6b 6ivBL_619.65T)
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Q101Which error in levelling is eliminated by balancing backsight and
foresight distances?
ueveu6SIfisled YlesTumT6m6u W hH MILD (L 65T @6oTITE & LI LI 606 SHITITTHIS GO

gwiblemeotiu(hs &lIeus 6T eweold HaH&EUIU(HID Yemip 618)?

a) Collimation error (&65@we6:965r Slemip)
b) Parallax error (unmeodeiv Slemp)
c) Refraction error (6fev& 6o Slemip)

d) Instrumental error (&6 Sleop)

Q102Which survey is used for locating boundaries of property?

©&155) 616060608 e HlifeooTuNé s 6TiHhg Steredlco LwesTU([HISSUIU[HISIDEI?

a) Topographical survey (GLr@ur&lrm9lé Sierelleco)
b) Cadastral survey (@sL_6io1”_reo ierefico)
¢) Engineering survey (@QurdluSlweo SiereSlwieo)

d) Hydrographic survey (®itugtiy iereslweo)

Q103Which line in a theodolite must be perpendicular to the vertical axis?
SBWL_cmooL’_19.60 C\&FHIEH &G D15 &G O FRGSHH5TH SHHs Cousriqw Cam(h)
618)?

a) Horizontal axis (HlemLo1” L 16 8r)

b) Line of collimation (5651@wegesr Gaim(h)

¢) Line of sight (umiemey s (i)

d) Axis of bubble tube (USl6T @EMUSIGST 15 &)
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Q.104Which instrument is used for determining magnetic bearing of a line?

(15 B&TL_1q. 65T HMhS Slems cmiu &esorLHIW 6T1HS &(H6M UIWETU[HISSUIUHISIDS)?

a) Plane table (Q18eretr GL_Nleir)

b) Prismatic compass (Qifleiowomig & SHlemassm_iq )
¢) Theodolite ($1Gwm_cmeor”)

d) Dumpy level (L9 @Geocued)

Q105Which levelling method is suitable for rough preliminary surveys?

WrL_Lrer O&ML_&8& Sierellueyid @ o hm UeoeueSihi (L 6mm 6T8I?

a) Spirit levelling (<21,69 ueveueSlii)
b) Trigonometric levelling ((p &8 Bameoor ueoeu6SIhI)
¢) Barometric levelling (euefioesor_oco 211988 ueoeeSIi)

d) Fly levelling (eSlemrey usoaieSibi)

Q106Which curve is commonly used in railway tracks for smooth entry and
exit?
Tulleo@ex U Seifled Gl 65T EIITEDT HIEMP 6 WHMID @euaflGWIbDS &iHGE

@ungiouns LWGTU(HSSUU(HID CEM6TR| 6T8)?

a) Simple curve (616l cusmerey))
b) Transition curve (onhm) euemerey)
c) Reverse curve (onhmy Sleo & auemerey)

d) Compound curve (B&isom8 aucmore))

Q:107Which satellite system is India’'s regional navigation satellite system?

SpSwnellesr GirmihShu oudlO&eIS s 60 QFWIH &S GEHMET Siemlil 6187
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a) GLONASS (&@ermeorieiv)

b) Galileo (&65691@wr)

¢) IRNSS (.21 61651 .6T600.6T6D)
d) GPS (ghl.9l.er6iv)

Q.108Which resolution in remote sensing depends on the number of spectral
bands?
UBITeooTeD 621765160 Sicmevauiflen&s @& Tema&aifledT 616tor 60 d 658 MWL

@Qurmiss Siiwreord 6T8)?

a) Spatial resolution (&L Siwmeorid)
b) Radiometric resolution (&8lieSs & Siomeorib)
¢) Temporal resolution (&meo Sifomeorib)

d) Spectral resolution (euessrewors Siitomeorib)

Q109Which method is used to plot survey details directly in the field?
Sloem6ilcd 6leunrhis emer glemmuiled Gbiig WITs eI 6THS (L GHM
uwesTU(HSSUU(HISIDEI?

a) Chain surveying (&ai&leSl iemefuwico)

b) Compass traversing ($lem&&m_1q UWESOTID)

c¢) Plane table surveying (91@eresr GLSl6iT iereNlco)

d) Tacheometry (&1_&@&mesor iereSlco)

Q1o Which method of tacheometry uses fixed stadia hair interval?

&L &8s meoor SierelweSleo Hlrbsr 6oL g wir HiTed &emL_Geusiflemwi

UWESTUHISGID (WP DM 6TG)?
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a) Tangential method (8Lesreedri”_ (1p omM)
b) Stadia method (6o @L1qwir (1p 6m>M)
¢) Subtense method (s01GL_6br6M0 (p6DM)

d) Direct method (@mmq (ip smm)

Q.mWhich map projection preserves area but distorts shape?

uTUemud FfluNss SIML_Lg aIlg IS 6mS WITDH MID QeOTULS Sl L b 618)?

a) Conformal projection (&redrumioedo SI”_L_1b)
b) Equal area projection (& untiy SI"_L1b)
¢) Azimuthal projection (18 & & 60 HI”_L_1b)

d) Perspective projection (@QuiferoGlUsLg 631 SI”_L_Ib)

Q12Which error occurs due to eccentricity of telescope in theodolite?

SGwimL_emooL”_1q 60 Frelis & smiiaumred arbHu(Hibd Slemip 618)?

a) Horizontal axis error (SlemL w1 L Si& & Glemip)
b) Vertical axis error (Q&1ki@ 68 & & Gleow)
¢) Collimation error (&651@we6g65r Slemip)

d) Parallax error (ungeoéeiv Slemip)

Q113Which curve consists of two arcsbending in opposite directions?

o185l Hlemaulled euemeTHE E600T () CUEHOIT 6|8 6T E O1&HITCOTL . CUCHOT6) 6T8)?

a) Simple curve (616l cusmerey))
b) Reverse curve (onhm Hleoe aucmerey)

¢) Transition curve (b ) Iem6T6Y)

d) Compound curve (B&i&6m8 aicmome)
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Q1aWhich GPSerror is reduced by using dual frequency receivers?
S oL Sicmcoalflemns GIUMIbITE M6 UWGHTU(HESHIRISITED @& D ESIL(HID

s8l.9).61610 SlemLp 6T8)?

a) Multipath error (ueotiunems Sleo1p)
b) Ionospheric delay (@uw@eormeiv Gt Hmosib)
¢) Tropospheric delay ("_Grr@umeivSwii HmosIb)

d) Clock error (19 &1 Slemip)

Qm5Which feature cannot be represented by contour lines?

aflafliby @& (haser eyeold GlrSluedlss (PLg WS D ELD 6T8)?

a) Hill (nemev)

b) Valley (usiren & smé @)

¢) Overhanging cliff (Gweo@mnéHiw uremm)
d) Depression (smpey)

Qm1eWhich survey method is best for reconnaissance survey?

umibE & ((p 1) SieTeNwenIs @) WIS6D 6 Hm (W emm 6T8)?

a) Plane table survey (9@eresr GLSl6ir Sieradliico)
b) Compass survey (Slemasn_1q Semredliico)

¢) Chain survey (5i1&l6Sl iorefwico)

d) Aerial survey (eumeor SiereSlco)
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Q17Which instrument is used in hydrographic survey for locating position at
sea?
&L_6%l60 BL_§6ms &evor_ i Hiidurtiy SierefweSleo 61ihs & (1H6M

uwesTU(HSSUU(HISIDEI?

a) Sextant (@& &eioL_mesorL”)
b) Theodolite (51Gwr_smeor”)
¢) Compass (Slemassm_iq)

d) Echo sounder (61688 &6y 6torL_T)

Qm8Which component of GISlinks spatial data with attribute data?

sdl.en.616r5160 S5 HTEORILLD U6HoTL| STEORILLD 36060018 @D For M) 6187

a) Database management system (&16)& 86 GLo6oiT 60T 6oL HGHIOUIL])
b) Hardware (& @pof&eir)
c) Sof tware (@ est@UT(H6IT)

d) Digitizer (g l"_coL &)

Q19Which method is used in photogrammetry to establish ground control
points?
Gum_BLn&lrmGiwoL_fludled Hleod &L (HUumL_(h Lereflessmer Hlifcooruilé s 61hs

(WP eom UWETU(HSSUUHISEIDSI?

a) Triangulation (eypeueSwev)
b) Traversing (UweoTiD)

¢) Resection (Bermiiey)

d) Radiation (&8 (p emm)
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Q120Which error occurs if staff is not bisected exactly in levelling?
ueo6u6SIhISled e GlieoeSiuwme Sresor_masl GlemeSlLtuLmeSl_L 6o arbu(pid

Sleowp 6181?

a) Parallax error (ungeodeiv Slemip)
b) Instrumental error (&peM Slemip)
¢) Collimation error (&651@we6965r Slemip)

d) Personal error (efliur_L Siemip)

Q.121Which map shows natural and artificial features of an area?

6 (15 UGS 6T SWiH 68 WhH MID CFWH NS D FIEIS DO HITL_(HILD CIEHTUL LD
o1g)?

a) Cadastral map (@sL_6oL"_ed euemIruL_ D)

b) Topographic map (GLrGur&iam9s euemIuL b)

¢) Thematic map (&@BUGUI(HET euemIUL D)

d) Index map (81" () euemrUL b)

Q122Which instrument measures horizontal and vertical angles accurately?
SlemL L L whHmib O&FhIG S8 G&meor ke emorm &16o6SIns iomd @b &(Hed
618)?

a) Compass (Slemssm_1q )

b) Dumpy level (L1519 @eoeued)

¢) Theodolite (5lGwr_emeo1”)
d) Plane table (9@eorsr GL_Nl6iT)
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Q123Which principle of surveying states that "whole to part" method should
be adopted?

SioreilweSledr 6TihsH & GlHT6Tems " (RSleSHHSI UG S!" (P s SlesTUDHMUUL
@ouetor (HIb 616018 For MISIDF)?

a) Principle of accuracy (g1606Swé @smeiromns )
b) Principle of consistency (@b micmws @sneremns)
¢) Principle of working from whole to part ((p g &leS(5ib g1 UGS GsTaTens)

d) Principle of economy (§l&8 6018 Q&6 omns)

Q124Which system uses aerial photographs for preparing maps?
QUEHIUL h1& 606 W flées auTeorl ema UL kg emerl) UeTU[HISSID Siemoliy
o1g)?

a) GIS (£9).e3.616/0)

b) GPS (e81.9).616/0)

¢) Photogrammetry (Gun”_@GLr&lrm@uo1”_)

d) Remote sensing (UsTewT60 H2_T6)])

Qa125Which satellite sensor records thermal infrared radiation?
@eutu Nl e Diemeos Hlit s emerr uHleyG&F D OFWIHemadGasmer

2_eoorfliumesT 618)?

a) LISS (er60.23.616/0.6T610)
b) PAN (9).6r.61661)
¢) AVHRR (ar.65).618.24F.11)

d) MSS (erib.6T610.6T6MD)
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Q126 Which type of error in chain surveying is caused by temperature
variation?

&rb1&l68] Siemeflwedleo @eutiublemen wrmUM Lmed arHu(Hib Klem 6r8)?

a) Sag error (&Mpey Slemip)
b) Compensating error ((p) Sleomwp)
¢) Cumulative error (@&ii&oma Slemip)

d)Random error (&rhm Glemp)

Q127Which curve provides gradual change between a straight line and
circular curve?
(1 BCHIG&sT(HIb 6uL_ L aIcmeTa|b &emL G Gl 65T EHLWITEOT N HMS 6mE

QILDIBIG LD 6I6D6IT6) 6T8)?

a) Simple curve (erafli cusmoTey)
b) Transition curve (b my euemerey)
¢) Compound curve (@&ii& 608 a16m6T6)

d) Reverse curve (onhm) Hlevs cucmerney)

Q128Which error in plane table surveying arises if magnetic declination is not
considered?
&S FMiey &HSUUL TSI L med SlBerest GLleir StemailueSlecd arhu(hitd Glemip

618)?

a) Orientation error (@mremwiiy Slemip)
b) Centering error (smwwtiu(pés60 Semip)

c) Plotting error (euemreyts Glemip)

d) Instrumental error (&H6510 Sleo)
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Q129Which levelling method gives reduced levels by arithmetic calculation?
&1 H S 119 &T eLP6VLD & DM ESBUIUL_L DL L 1BI& 66T QULPIhIELD Ueoeuedlikl (1 6mm
org)I?

a) Rise and fall method (2_wiey-sfle) (p som)

b) Collimation method (&65@weag6sr (1p 6mm)

¢) Fly levelling (eNemrey ueoeueSirhi)

d) Check levelling (&flumitiy ueoeueSirki)

Q130Which principleis followed in triangulation survey?

ey eueSlued Sierellwedleo GlesrumMUIL(HID G&TITENE 6T8)?

a)Sine rule (em&6or NS))
b) Cosine rule (&renSlesr 6515))
¢) Trigonometric functions (( &8&mesors CUIT(H & Ghig6iT)

d) Law of tangents (GL_coreetr1”_ 69 &))

Q131Which method of setting out curve requires deflection anglesand
chords?

CUCHIOT NG DD &HES SHlem&F D M) G&ITaoIThIS (OTHLD &i(1H&HE & BT (H&OpHb
@ omanuneT (W emm 6T8)?

a) Tangent method (GLedrenedri"_ (W omm)

b) Chord method (&:q5& @, (Y omm)

¢) Deflection angle method (Slem&wnh m Gsnesor (wemm)

d) Offset method (@p-0@ &L (1p 6>M)
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Q132Which instrument is used for measuring short base linesin
triangulation?
ey eaueSluedled @ mIShu Sig LuemL Ba(He emer SierellL 6TiHg &HeN

uwesTU(HSSUU(HISIDEI?

a) Steel tape (e1:.@ ooy &@sieo)
b) EDM (erevés1_nmeoid g <iermemeviwi)
¢) Gunter's chain (@ egor_fledr &bi&Hled))

d) Subtense bar (F01@\L_6br6i0 UMEF)

Q133Which line connects points of equal depth in hydrographic survey?
Brouriy SerefweSleo &w b GI&T6esoTL LsiTaflesemer &ememord @b @& ()
o1g)?

a) Contour (eflefliby @& (k)

b) Isobar (&2 @&mumit)

c) Isobath (22@snmuns)

d) Isohyet (s3@&nmemami”)

Q134Which projection is used for preparing topographic mapsin India?
SipSlwredleo GLrGurnSlamis cuemTuL hisemerd swniflést) uwesru(hdSUU([HID

Sl b e1g)?

a) Mercator projection (@wi@asL_Lif SI°_L1b)
b) Polyconic projection (uneSI@&smeofld Sli”_L 1b)
¢) Conic projection (@&meofld Sl°_Lib)

d) Cylindrical projection (8eSlesoriq fluico Sli”_1_ib)
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Q135Which method of tacheometry uses stadia interval factor (k)?
6o BL 1 wiT GomL_Geuef] srrenfl (k) LwesTURISSVIUHID HL_&G&Tesor Sierefico

(oo 618I?

a) Tangential method (8L esreedri”_ (1p 6oM)
b) Stadia method (6o @L1qwim (1p 6m>M)
¢) Subtense method (s0IGL_6br6M0 (p6DM)

d) Direct method (@mmq. (ip smm)

Q136 Which GIS data type represents features as points, lines and polygons?
sdl.en.6T6/0 HIRYS Guemauiled Yeitalfl, 8 (k) U@ &MTemTID 611q 65160 Db &Fhid 66T
&L (Houg) 61817

a) Raster data (mmeoL_if 16

b) Vector data (QeusLii Srey)

¢) Attribute data (uedorys Srey)

d)Metadata (Gwr_Lr G _Lm)

Q137Which GPS error is minimized by differential GPS (DGPS)?
19-~u@resTagwed ghl.fl.ereiv (DGPS) eyooid @emmésriuhHib ghl.ll.erev Slemip o18)?

a) Ephemeris error (er-91@wfleio Slemip)
b) Receiver noise (Qummii #65D)
c) Satellite geometry error (Q&FwWHem&s&@smeT SLrhHm) Glemip)

d) Multipath error (usotiurems Sleo)

Q138Which contour pattern indicates a gentle slope?

@uwestemwwer Fiflemeud s (Hib eilefliby G& () ailg eIb 618)?
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a) Contours very close (Bla Sipa @588 @& (heeir)
b) Contours widely spaced (unbs SeoL_Gevefl @& esor Gsm(heeir)
¢) Contours merging (®ermns Senewonyb s (Hseir)

d) Contours crossing (o) G&cogpid @& (h&eir)

Q139Which type of error is eliminated in reciprocal levelling?

umerour UeoeuedlhiSled H&&sUU(HIb Yem 6rg)?

a) Collimation error (65@weg65r Slemip)
b) Parallax error (unmeodeiv Sleoip)
c) Sag error (Bmpoey Slemip)

d) Staff reading error (croL_nm0 eun Sy Gemip)

Q140Which remote sensing platform operates at altitude 20-40 km?

20-40 815 2_wrsHSled SwibkiGb USHTEHTE0 6M2_[6) HOEITID 6TF)?

a) Ground based (&e»muesmoliL)
b) Aerial (eumeor$ SHemib)
¢) Balloon based (uspresr sermib)

d) Satellite (@ &wmH 688 @ameir)

Q141Which method is used for setting out works like culverts and bridges?

sreoeumil b Mt umeolb Gumestm ueile 6T D& e LWETU[HISSUU(HID (L DM

61g)?

a) Chain and cross staff method (&i&leS) wbH mib @& midE) oL (Y emm)

b) Radiation method (&8l (wp smm)
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¢) Intersection method (&emeworiiy (p emm)

d) Resection method (Bermiie) (i som)

Q142Which surveying method is most suitable for hilly terrain?

wemeoUIUGSEHGsMHM DieTeilucd (L emm 618)?

a) Plane table surveying (91@eresr GLGl6iT Siemeslico)
b) Compass surveying (Slem&sm_Lg. DiemeNicd)
¢) Tacheometric surveying (51L& @&meoor ieredliuco)

d) Chain surveying (5ra15l65] DiemeMwico)

Q143Which satellite of ISRO provides cartographic data?
SibSw eflesor @everfl ,ormiiég & Himieueord (ISRO) euemruL_g sremey auiprhiEb

O &WwihH 6088 @s ol 61817

a) INSAT (Scorem)
b) CARTOSAT (&smi@Lm&m’)
o) RISAT (flem’)

d) Oceansat (@egesr &)

Q144Which method of plane table surveying requires three well - defined
points?
ewedr M @sefleureor yeraflaer @8 emeutiu(hib GlGemesr GLGleir Siemefilwed (W 6mm

61g)?

a) Radiation (&&if (p emm)

b) Intersection (&emevoriiy (1p 6mm)
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¢) Resection (Bermiiey (1 smm)

d) Traversing (UwewoTib (1Lp 6mM)

Q145Which scale is used when graphical scale isdrawn asa line divided into
units?
couemTuL SierefiL_(h Gam(h Slfleysermat GIflss0uL_LTed Dig) 6TOILIG &

@&meoeotIuHSIng)?

a) Plain scale (engnmeor iemefi_(H Gan(h)
b) Diagonal scale (eypsmeoblemeods Garr (i)
¢) Comparative scale (6USL"_ (i) Stemesi(h)
d) Vernier scale (Qeuicoflwi Siemssi(h)

Q146Which contour pattern indicatesa ridge?

8(1h LML S @S (Hliemey &ML (Hib eMefliby & (h) culg 6D 6T 8)?

a) U-shaped contours pointing uphill (Gweo@mré s U euig eu Bam(hlaeir)
b) V-shaped contours pointing downhill (8p@mré& V euq.eu Ban(paeir)
¢) Closed contours with lower inside (2_eir@er mibey G&metorL ewiq w
@am(h&eir)

d) Concentric circles decreasing outward (@euefi@w @& somuwb eu” 1 @& (Ha6ir)

Q147Which instrument is used in modern total stations for distance
measurement?

boSicor GLI"_L_6b 6o BLasg6irsaifled Hrsems SierellL U uwesTu(HidSUIU([HID

&(HoN 618)?
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a) Prism reflector (9fl&b Gr&HlueSitiumesr)
b) Optical square (<0119 &8 60 &gymid)
¢) Sextant (@& &eroL_meoorL”)

d) Plane alidade (Q1@eresr 169G ()

Q148Which GIS operation combines two data layersinto one?

S 16007 (h) ST (&G M6 GREOTMMEH 6060015 @ LD gbl.en.6T6/0 GFWeouN(h) 6157

a) Overlay (Bweoeppa o)
b) Buffering (Lufir)

¢) Clipping (@e”_ (& 6o)
d) Merging (Sememoriiy)

Q149Which method is most suitable for locating inaccessible pointsin
theodolite surveying?
SGwim_smool” Siereiliwedled Digm)ss (Wigwins Yeitatlesemer bHlifeooruils s Wleseyb

OUNHS ST T (L DM 6TH?

a) Intersection method (&emevortiy (i smm)
b) Radiation method (&&lieS& 8 (1 smm)
¢) Traversing method (g rmeuieio (wemm)

d) Resection method (Beir§ifley (womm)

Qas50Which type of curve is preferred for highways and railways to provide
smooth transition?

OB (h G FTmE0&AT W H MID Tulledseifled Gl 65T emWITEDT WTHMSSIHEU

UWESTU(HISSUU(HID GIEHOT6| 6T8)?
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a) Simple curve (616l cusmerey))
b) Compound curve (Semesoriiy exemerney)
¢) Transition curve (b gy cuemerey)

d)Reverse curve (5606081 eucmerey)

Q51In hydrographic surveying, the position of a sounding boat is fixed by
Brouriy SerefweSleo, &6 esoriq bl UL Sledt hlemeo eTehieummy

Bl eoorudléstiu{HSlms)?

a) Cross staff survey (&lrmeio eoL_m11 Siereflieco)
b) Range and bearing (Hlewe b mib gmmb)
¢) Prismatic compass (Uifletoiomiq & Slemasni_iq )

d) Plane table survey (91@erssr GL_1Gl6iT Diom6eSlico)

Q152Which error is most common in chain surveying?

&1b1&165] Siereilwedled WlHa|b Gungieureor Ylemip 6187

a) Personal error (efliur_L Slemip)
b) Instrumental error (&@Hef Glemp)
¢) Natural error (Swihena Semp)

d) Cumulative error (&iidoma Sleow)

Q153Which instrument is used in tacheometry for stadia method?
6ivBL1q W (P eDESTE GL_&Gs&menor Diem6edlwedled 61ihs &(Hed

uwesTU([HSSUUHISIDE?

a) Compass (Slemasm_1q)

b) Dumpy level (Lb9) @eoeued)
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¢) Theodolite (H1Gwm_cmeor”)
d) Plane table (9@omsdr GL_l6iT)

Q154Which system provides 24-hour global coverage for positioning?

iBlemeowndlw 24 wewfl G 2_cvsermeliu G&emeauemiu aUIHIE D DiemlL 6T8)?

a) GPS (e9.9.616/0)
b) GIS (gf1.en.616/0)
¢) Remote sensing (ugnesoreo eme_iiey))

d) Photogrammetry (Gum”_GLn&lrmGuor_f)

Q155Which map projection is commonly used for topographic mapsin India?
SpSlwnelleo GLrGurSITTIé aIemIUL kIS 6HEE GuNgHieuTs UIETU(HISSUU(HID

ouemIUL & SI_L b 61817

a) Conical projection (@&smeoor L _1b)
b) Mercator projection (@wiGs1L_L i Sli"_L_ib)
¢) Cylindrical projection (8eSledor_flweo Si”_1_1b)

d) Azimuthal projection (il 860 'L b)

Q156 Which is the primary advantage of remote sensing over ground survey?
USTETE0 02_[[6)] teTellicd &emruiliuco SiemelliucmeoelilL auLpThIE D (Y & 65T 6D

H60T 6OLD 6T8))?

a) Low cost (@oomihs @&eoe))
b) Synoptic view (b miemio umiieme)

c) High accuracy (2_wi g1606Shwib)

d) Simple instruments (ereflw &mHeMNseir)
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Q157Which method is used to calculate reduced levelsin levelling?
©160621651b1 Si6meNW6ESIeD & HMESILL_L O L hisemel HeoTéSIL 6Tih& (L 6mM
uwesTU(HSSUU(HISIDEI?

a) Height of instrument method (&@mef 2_wmb (pemm)

b) Rise and fall method (arbmib wbH mud #fley (o)

¢) Both a and b (8resor (Hib)

d) None (erg10)1b &6ocmev)

Q158Which element is not required in GIS database?

shl.en 61610 HTRS S 6T SH Slod B8 emanubm se m) 6187

a) Spatial data (&L_eSwed s16))
b) Attribute data (Ustorys ST6e)
¢) Temporal data (&meo s16Y))
d) Audio data (665 Brey)

Q159Which instrument isbest for measuring horizontal and vertical angles?

SlemL L L whHmib O&FhG S8 Ganeo s smor Seriiu HAmibhs &aped o18)?

a) Dumpy level (Libi9 Geoered)

b) Prismatic compass (Ofleiowomiq & Slemassn_iq.)

¢) Theodolite (5lGwr_smeoo1”)
d) Plane table (9@orsr GL_Nl6iT)
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Q160Which photogrammetry technique uses two overlapping photographs?
& 6ot (i) L MIUHID YemaUUL higsemertl uwesTu(hs gl Gum”_ GLrSlmGiol i

(oo 618I?

a) Stereoscopy (etoLeflGuwimeio Gamdl)
b) Orthophoto method (24 6885rT@um”_GLr (W omm)
¢) Mosaic method (Gwrenss (ipemm)

d) Rectification (5 s1b)

Q1e61Which type of error in levelling is eliminated by balancing the back sight
and fore sight distances?
@oveueSliti&led SledTuT e WHMID (Y GTUMT6m6) ST ThIES GHEIT ELOLDITE (&) 6U& 65T

ewood B &sUUHID Ylemwp 618)?

a) Collimation error (&65@we6g65r Slemip)
b) Parallax error (unreod e Slemip)
c¢) Curvature error (cusmere) Sleomw)

d) Instrumental error (&6 Sleow)

Q162Which curve is used when two parallel roads/railways are connected by a
curve?
ST 6007 (1)) & 65 600TIIT 60T &FITGME0E6IT /MU 6085 66T 60760018 G 1D GUT )

UwedTU(HSSUU(HID UENHETE 6TSI?

a) Reverse curve (5 cm60&1p aucmoney)
b) Compound curve (Semesortiy exemerney)

¢) Transition curve (b ) Iem6T6Y)

d) Vertical curve (Q&mi@ 68 oucmerey)
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Q163Which survey uses triangulation method asits principle?

PP AIGSILIGD (Lp DM EDI Bilq UIUGHL WITE & O&T6ooTL i6emelcd 6187

a) Geodetic survey (yefuSlweo Sieredlico)
b) Plane table survey (9@erssr GLiSl6iT iemredliico)
¢) Chain survey (5186 Diorefwico)

d) Hydrographic survey (Bitiuniy iereSlweo)

Q164 Which factor mainly affects the accuracy of GPS positioning?

s8l.9).6160 [HlemeowIg 65T &1606SIus 8 (L& 6T emWITE UTSEE D Srrenil 618)?

a) Number of satellites (Q&wihoma&Bameiraefiesr 6160or 6wl 6m8s)
b) Weight of receiver (Qummbflesr etemL)
¢) Antenna height (<6601 @\L_66T60TT 2_WIib)

d) Battery power (Gui_L_fl #&5))

Q1e5Which instrument is used for measuring depth in hydrographic survey?

Brouriy SereweSleo By s ems Semiiu LIETUHISSUUHID &(1HeN 6187

a) Echo sounder (61688 &6y 600rL_iT)
b) Sextant (@&&e6ivL_6oT1")
¢) Prismatic compass (Uifleioiomiq & Slem&sm_Lq )

d) Plane table (9@emssr GL_Nl6ir)

Q1e6Which is the main application of photogrammetry in civil engineering?

Holloo GedrBleoflwflitudleo Gum”_ CLrSlrm@wnLfluSledr (W& &S uwesTum (i) 6181?
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a) Structural analysis (euq euemty UG VUMIEY)
b) Topographic mapping (GLrGun&lrmSlé euemruL_b)
¢) Soil testing (1esor UG &8 cmeoT)

d) Concrete mix design (&nest Sl H606m61 Gl BIEHIOUIL])

Q167Which satellite system is operated by Russia?

TO¥SWIT SWéH @D O\FWIH 608 8 Bs&ToT Diemliy 6187

a) GPS (ghl.9).e16i0)

b) GLONASS (& @ermeormeiv)

¢) Galileo (&69651@w)

d) Compass/BeiDou (Quii@Lr)

Q1esWhich levelling method is used in hilly areas where ordinary levelling is
not possible?

sngnrer @eoaeSlh &1é Sl bHm wemeotiu@ Slsafleo uwesTu(HidSUU(HID
©l606u6SIhI (L DM 6T8)?

a) Reciprocal levelling (urehour Geo6u6SIhI)
b) Differential levelling (Geumyun () GeveueSih)
¢) Trigonometric levelling ((p &8 8smemr @ev6ueSihi)

d) Fly levelling (umé& @b GleoeueSiri)

Q169Which map scale is most suitable for town planning?

H&TOWULEG) WIS UM (IHESLONGT QIGHITUL 66 6T8)?

a) 150,000

b)1:25,000
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€) 15,000

d)1:2,50,000

Q.170Which GIS operation is used to combine two different thematic maps?
Sresor () Caumiul_ L &HUGIUTIHOT QIGHTUL HIS GH6IT 365600 88

vwedruHSsUUHID GIS @&Fweoun () org?

a) Buffering (u-~ufira)
b) Overlay (speuiGev)
¢) Clipping (Hleflidm)

d) Intersection (& ecmeortiL)

Qa71Which type of aerial photograph is best for photogrammetric mapping?
Gum_BL&lrmGoL_flé cuemruL_&5lh @& U LWETU(HSS WIsAID 6 hHM 6T 6T

LHom&UUL_ LD 618)?

a) Vertical photograph (Q&ki@ g yemstuL b)
b) Low oblique photograph (@& eombhg Fmia) yenastuL tb)
¢) High oblique photograph (21§l smiie] yemeUiuL )

d) Panoramic photograph (u@eormimiblé yemaiuL_ib)

Answer: a) Vertical photograph (Q&mii@ 8 yemasUuL b)

Qa72Which method is used to determine azimuth in compass survey?

Slemnasn_q SoreilweSleo SiFl s ems Hlifcroruilé st uwesTuHisSUU{HID (W e

61g)?
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a) Forward bearing method ((p 61 Hlemea (p emm)
b) Back bearing method (Slesr Sleme (1p smm)

¢) Both a and b (8resor (Hib)

d) None (e1g101b &6ocmev)

Q173Which is the major disadvantage of chain surveying?

&b &l68] Siemefilwedlest (&S @& emmun (i) 618)?

a) Cannot be used for small areas (8w urtleo LwesTURISS (WPig WITE))
b) Cannot be used for large areas (Quflw urtifieo LweSTU[HIGS (WLg WITG))
¢) Very costly (Db @aeoeureorgy)

d) Needs modern instruments (beSieor &(meflseir @& cmen)

Q.174Which sensor isactive in remote sensing?

usmTeooTe0 6m2_[fefled G&FWe6Sled 2_oiTerm 2 _eoorfliumesT 6187

a) LISS (er6.e3.616/0.6T610)
b) SAR (er6i0.6r.11)
¢) MSS (erib.616M0.6T610)

d) AVHRR (ar.69).616.9i§.<,17)

Q.175Which instrument combines EDM with theodolite?

o119.611b (EDM) 1o muid S1@wim_emeor”_eomL_ & ememord @b & (1565 6187

a) Total Station (GL_m"_L_6b 6ivBL_619.65T)
b) Plane table (9@omrssr GL_Nl6ir)
c) Abney level (11607l Gleoeusd)

d) Optical square (1,019 &8 60 Fgimid)
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Q176 Which curve provides a gradual change from straightline to circular
curve?
CriiGam _1q.65(HH &I Ul Lcuemenellih @ G 6T eHWITGT MTHME M QULDIHIELD

GUGMOITE) 6T 8?7

a) Simple curve (616l cusmeTey))
b) Transition curve (b my eueverey)
¢) Compound curve (8emeworiiy 6uemere))

d)Reverse curve (5606081 euomermey)

Q177Which type of survey is conducted to determine mean sea level?

san&fl HL_60 L §6m8 Hlifeooruilé s bL_&SUU([HID SiemeSliucd 6T8i?

a) Levelling survey (@eo616Shi Siermellico)
b) Hydrographic survey @ituniiy ierelweo)
¢) Geodetic survey (yeSludweo Dierefliico)

d) Cadastral survey (@& gy Sierefilweo)

Q178Which property of contour linesis correct?

oNlefliby Gan(haseiflest 61ibg Lesory &Fiflwimeor &)?

a) Contours cross each other (eflefliby s (& 6iT 69 66T M GUITEHT M) &HL_&GLD)
b) Contours merge into rivers (,misefieo eflefliby Gam (&6 &608@ID)
¢) Contoursnever cross each other (efefliby Gasn(Hiaeir 5 ((HBUNHID HL&&MG))

d) Contours always straight (sflefliby @sm(h&eir sTi@u gy GrHIns SIH&E D)
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Q179Which map projection preserves area correctly?

urUueremey Eflnsd &sTéE b euemIUL & SI°_L b 6187

a) Equal-area projection (w0 ugtiy Sl_1L_ib)
b) Conformal projection (swevig.6u "L 1b)
¢) Azimuthal projection (I8l & 860 HI”_L_1b)

d) Cylindrical projection (8eSiesori_flweo Hli”_L_1b)

Q18o0Which is the first step in photogrammetric survey?

Gum_GLr&lrm@w1”_fl& Sierellwedleo (1 &6d ulg 6T8)?

a) Aerial photography (eumeosrt) yemas UL D)
b) Control survey (&1 (HOum(p SiereSlweo)
¢) Map plotting (euemruUL 636mT&60)

d) Stereoscopic study (sroreNGwineroBasrtitlds Spiiie))

Q181Which GIS data model uses points, lines, and polygons?

Lerefaser, Bam (BT, U6 BHMEIhIBET St LIeTURSEID G1S Srey
Sl org?

a) Raster model (rmeroL_it om&)f)

b) Vector model (@eusLii ion&)if)

¢) Grid model (Hfl"_ wr&H)f)

d) Network model (@p1"_©@eunié wrHifl)

Q:a182Which instrument is used to plot directly in the field without

calculations?
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H6oo18 8 (h) S6d1 1 GBITig Ws YeodSled auenrs h @l UweTu(HidSUU(Hib &pel
o18)?

a) Theodolite (51Gwm_smeol”)

b) Plane table (9@omsr GL_Nl6iT)

¢) Dumpy level (Lb9) @eo6ued)

d) Prismatic compass (Ofletowomigq & Hlemasm_iq )

Q183Which EDM instrument uses light waves?

opaifl Semevs emerts wesTuHiS G EDM & (1565 6187

a) Tellurometer (GL_coep@rmBL_L i)

b) Distomat (1q 6ro@L_momt")

¢) Geodimeter (g8l@wimiq (B1"_ L i)

d) Microwave EDM (6o 88nmBeus EDM)

Q184Which error occurs due to improper centering of theodolite?

SGWINL_smool”_6oL_ SIS eoWIU([HISSHIRISTEO arHu(hib Slemlp 618)?

a) Eccentricity error (Q&ki@ & g) Slemip)
b) Centering error (emwwiiu(hésco Glemw)
¢) Collimation error (&651@we6:965r Slemip)

d) Parallax error (ungeoéeiv Slemip)

Q185Which technique is used in GIS for finding shortest route?

& DI&W uren s oow sesorLHw GIS Geo uwesTuHiSSILEHID K ULD 618)?
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a) Buffer analysis (u~uif u@UUMLIEY)
b) Network analysis (Qb1_@eumis u@liumiiey)
¢) Overlay analysis (eui@eo u@uumiiey)

d) Interpolation (&6srL_fGurBeo6r9.65T)

Q186 Which system is used for storing GIS data?

GIS sremen @ahlé &t weTURHISSUIUHID SiemUIL 6T8)?

a) RDBMS (1719 861D 6T610)
b) CAD (fleriq)

¢) GPS (g1 9).616i0)

d) EDM (FFuq.611D)

Q187Which survey determines property boundaries?

0\ &5 8) 6160607608 6ma Hlif 6oor U418 G Diem 6o 6187

a) Topographic survey (GLrGurn&lam§lé DierefNuwico)
b) Cadastral survey (@&ns g SiemeSlweo)
¢) Hydrographic survey (®itumiy Siereiluico)

d) Geodetic survey (yeMuSlweo Sieredlco)

Q188Which curveis used at road intersections for smooth turning of vehicles?

UN&GOTIRIS 6T GILD 6T WS Sl(HU &FTemed FHSIUYs6iTled LWETU(HSHSUIU(HID

GU6MOIT6) 6T8)7

a) Simple curve (616l cusmerey))

b) Transition curve (orhm) euemerey)
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¢) Vertical curve (Q&ki@ 5 g) cucmorey)

d)Reverse curve (5606081 eucmermey)

Q189Which surveying method isbest for underground tunnels?

91q 15l6vd §I6MMEO1HS @) Wl&6D OUT(HSHSLOMTET Si6eTeSlicd (L DM 6T5)I?

a) Traverse surveying (i rmeuieio SiereSliueco)
b) Tacheometry (LT &iGwr@w1"_f)
¢) Photogrammetry (Gum”_GLr&lrmGuo1”_f)

d) Hydrographic survey (Bitiuniy iereSlweo)

Q1920Which type of aerial camera gives stereoscopic vision?

ooLeflGwrervBamiils Ui emeUEHIL MILPIRIE D QITesTE G 6T8)?

a) Single lens camera (@hHemm Glevssreiv Gastomm)
b) Twin lens camera (8r_emL @evedroiv &0
¢) Panoramic camera (u@sormrmiblés @aswomim)

d) Strip camera (eio1q i G&omm)

Q191Which projection is most suitable for mapping poles?

&I(HoUhIS 6meT euemTUL I Wlsa|b Gurpsneot Sl L b 61g)?

a) Conical projection (@&mewor S°_L_1b)
b) Cylindrical projection (8eSlesor_flweo Hli”_L_ib)

¢) Azimuthal projection (18w & &6o HI”_L 1b)

d) Mercator projection (@uwi@Gs1_Li Sli”_L_ib)
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Q.192Which GIS data model represents elevation using grids?

2 wirkisemer SIflL_ eweod s1L_(HIb GIS 16y TSI 6187

a) Vector model (QeuéLif ion &)

b) Raster model (mmeoL_i ion &)

¢) Network model (@mr_@euris wr&lfl)
d) TIN model (19 .e3.61651 on &)if1)

Q193Which error is eliminated by the method of repetition in theodolite
survey?

S BGwim_smool” Semefilwedleo fllig 6965t (Y smmWTed & &UIU[HID Slemw 618)?

a) Collimation error (865@we6:966r Slemip)
b) Reading error (eur &ty Slemip)
¢) Centering error (eowwiu({Hé s 60 Slemwp)

d) Instrumental error (&6 Sleop)

Q1924Which instrument is used to measure vertical anglesin plane table
survey?

S1Berredr BL_l6iT StemaflweSleo G\&ThIE &g G&imeThis Mo SieTUiull
uwesTU(HlSSUUHID &HeN 6187

a) Alidade (=1691@L (i)

b) Plumb bob (Qlertb unty)

¢) Trough compass ("_n+0) Slemasm_iq.)

d) Clinometer (&6fl@eormBr_L_if)
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Q195Which type of curveis used in summit or valley roads?

&b Dicoe0g) LTS ST @G FT6m60s6il6d UIWGTU([HISSUIU(HID 6U6H6T6)| 6187

a) Horizontal curve (SlemL o’ L cucmerey)
b) Vertical curve (Q&1ki@ & 8 cucomerey)
¢) Transition curve (b gy cuemerey)

d)Reverse curve (5606081 eucmerey)

Q.196Which is the main advantage of remote sensing?

USTeTe0 2_[FeSl6dT (Y & &N HEST LD 6T5)?

a) Costly (@&eveuneor &)
b) Wide area coverage (@Quifiw urtiy sm&wiTemeo)
¢) Requires more manpower (2i8)s weoflsalenid G&emen)

d) Low accuracy (@& eomihs gi606Shuib)

Q197Which levelling method is used in setting out long tunnels?

B eoorL s his s etleo Siemwiug @ UWETUHISSUUHID Gleoa16SIhi (W emm 6T8)?

a) Reciprocal levelling (urehour Geo6u6Sih)
b) Differential levelling (Geumyun () @eveueSii)
¢) Trigonometric levelling ((p &8 8smemr @ev6ueSihi)

d) Fly levelling (umé& @b GeoeueSirhi)

Q198Which instrument is used for rapid determination of distancesand
elevations?

SNIThS 6T 2_Wihisemeriyb elemreuns Hlif coruildsst uwesru(HldsUu(Hib

&N 618)?
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a) Theodolite (51Gwm_smeol”)
b) Tacheometer (LTAGWMBL_L i)
¢) Total station (GLm"_L_6b 6ivBL_61965T)

d) GPS receiver (ghl.9).6r6i0 QUmybi)

Q199Which error occurs due to eccentricity of theodolite verniers?

S BGwm_smool” Gauieflwisefleor @ &ki@E &85 &Houmned arbu(hid Slemlp 618i?

a) Parallax error (ungevdeiv Sleop)
b) Eccentricity error (Q&rki@ &g Gleow)
¢) Collimation error (65@weg65r Slemip)

d) Centering error (smwwiiupdseo Glemip)

Q.200Which system integrates GPS, GIS, and Remote Sensing for disaster
management?
Sieu&T Goeoresor mw & aTs eBldl.eTem, 85l.e.6T6/0 L hH MILD USTEmT60 602_[f 66

62 (15151851 6076007 85 (&) LD D16V 6T8))?

a) DGPS (1q.g9.9).616/0)
b) Decision Support System ((1p1q. 6] 5T 6] DiemdUIL])

¢) LIS (hlevs 86160 SiemioliLy)

d) MIS (@ eor 666t 610 886260 DiemioliL])
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UNIT VI: SURVEYING AND REMOTE SENSING

ANSWER AND EXPLANATION

Q1Which survey is considered as the mother of all surveys?

D160 &G Do ellwcosefledr HTUTs &HSUIU([HID Diemefliucd 6T8I?

a) Chain Survey (s &l6S SiereSliweco)
b) Compass Survey (Hlemewmrant_Lg. DiereNwicd)
¢) Levelling (usvo6ueSim)

d) Theodolite Survey (HIGwrGLremeol”_ DiemeNwicd)
Answer: a) Chain Survey (si1&l6S ierefluico)

Explanation:

Chain survey is the simplest and oldest method: it is the basis for all other
surveys.

&1b15165] o efiliwed Wla 6y eToiflemLpIT6oT &I UL 6WTEOTSHID <@ D: &) DM

SDINEOT 58 D16 6O E (615 &G D ilg LIUEHL WG LD.

Q.2The prismatic compass works on which principle?

Slifl&Ewmg & Slemeorsn_Lg 61hgHe Gasm_um_1g 6o GFweoU[HISIDG)?

a) Reflection (SQir&lueSliy)
b) Refraction (efeos Asmed)
¢) Magnetism (&nibh&1b)

d) Optical Illusion (& edor Geoormi”_L 10w &ID)
Answer: b) Refraction (efleo&8smeo)

Explanation:

Prismatic compass uses a prism for reflection and refraction, which allows

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

simultaneous reading and sighting.
Sifl&mig & Slemeram_Lg Slir&luedlty wbmib 6Sleod HgHmed eyoolbd oG
@ Sleo oun &l sonib CHrsSlweb G Fiw 2 _SaSns.

Q.3Which method is used to determine the elevation of inaccessible points?
SIS (Plq W LeTetlseflesr 2 wirsemss Siwneoflés 6rbs (pemm
uwesTU(HSSUUHISIDEI?

a) Chain Survey (s &l6S SiereSlico)

b) Trigonometric Levelling ((p &@&mesor usoaieSlibi)

¢) Tacheometry (1" AGwr@w1"_f)

d) Contouring (efefliby) SiemreSlwed)
Answer: b) Trigonometric Levelling ((p &@&nesor usoaieSibi)

Explanation:

By measuring vertical angles and distances, trigonometric levelling is used for
inaccessible points.

©\51hIE) 5 8 G&ITGTTHIS GHOITILLD HITNTEISHOTILD DM HG), GO (PLg WIS

yeiraiflas o & &mss (W& @8imesor ueoaueSlhl LIWETU(HSSUUHISIDS).

Q.4Contour lines never

allafliby @& (Haseir 62 (1HBuUMGID

a) Merge (Somemorwingy)
b) Cross each other (666t 6mm G661 M) HL_&&M8))
¢) Indicate slope (eFmiiemend &L (Hib)

d) Show elevation (2_wréemss &M (Hibd)

Answer:b) Cross each other (6pcromm 6eirm) &1L &M8)1)
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Explanation:

Contours of different elevations cannot intersect each other except at
overhanging cliffs.

@oueBoumi 2 wirs Slepieirer eflefliby & (Hlaeir, Guoed GGG D uTemD &6,

69 60T 60D G 60T M) HL_EH BTGl

Q.5Which instrument is used in tacheometry?

S HGwrGoL_Fflulled 61hs &(1H6M LweTU(HSHSUIU[HISIDEI?

a) Prismatic Compass (Sifl&iomiq & &lemesorasim_iq )
b) Dumpy Level (Lib§) @eoeed)

¢) Theodolite (51GwnBL_remeor”)

d) Plane Table (Q@eresr GL_Sleir)

Answer: c¢) Theodolite (51GwnBGL_remeor”)

Explanation:

Tacheometry isa method of rapid surveying using a theodolite with stadia
hairs.

&U_SGwr Gl etesTug v BL 1w Gamif Gi&smesor SGWTGLTemedl”_emL

uwesTU(HS G GeusTeoT SieTellcd (L 6.

Q.s6ln levelling, the line of collimation should be to the axis of bubble

tube.
ucoeueSlhiled, BsmedIGuwageir Gam(h), uller @&WTUIGT D& &G

@euetor (HiLb.

a) Parallel (&emeooriunss)

b) Perpendicular (Q&mi@&5ns)
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¢) Inclined (smisbgy)
d) Tangent (@@ (Heuneorons)

Answer: a) Parallel (86 eoorunss)

Explanation:

For correct readings, line of collimation must be parallel to the axis of bubble
tube.

sflwreor &y enss, @emeSIGw agesr Gaim(h uller @muilesr D& &dHE

S cneTuTs & (Hée @ aiesor (HIb.

Q.7Theline joining points of equal elevation is called:
0@ 2_wirdSleo 2_oirer Yeiratlescmer & emeord: @b Gasim(h) 6rliuLg &

@&mevbeolIu(Hib?

a) Gradient Line (smiey @& (h)
b) Contour Line (eMefliby @& (h)
¢) Level Line (usoeueSiiy Garr (k)
d) Meridian (Gwifliq wedr)

Answer: b) Contour Line (eSlefliby @an(h)

Explanation:
Contourisa line joining points of equal elevation above mean sea level.
san&fl B0 w1 L 5@ Gwed 6@ 2_wirsSleo 2_eirar Yeiraiflescmer

Somenriu@s eflefliby Gasim(f).

Q.8Thelength of onelink in a Gunter'schain is:

@&ooorL_T &1hiSHleSlulled 6p(15 & cmeorudlesT b orrib 6165t Gor?
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a) 0.25m (0.25 D)
b)0o.5m (0.51B)
€) 0.75m (0.751D)

d)10m (10 B)
Answer:b)0.5m (0.5 B)

Explanation:

Gunter's chain has100 links, total length 66 ft, hence onelink =066 ft=02m
approx =05m.

&L &h1S51651 100 S emeoorscmerd O\&meorL_g), Glné s Homb 66 Iilq., 6rer@ 6

62 (1H & 6meuor oM 0.5 1.

Q.9oWhich error isnot eliminated by reciprocal levelling?

61h% Ulemp NHAUGTTS 60 ucvENESIHISTED BhIsTS)?

a) Collimation error (8&reSiBw 69651 Slemip)
b) Earth's curvature (y 15luSleér oucmomey)
¢) Refraction (eflevs Asmeo)

d) Parallax (uroevéeiv)
Answer: d) Parallax (unevéeio)

Explanation:

Reciprocal levelling eliminates curvature, refraction, and collimation error
but not parallax.

NAOGTTE 60 UcveUESITE GuemaTe), 6levs &g med, BHmeSIGLag6iT Ylemip&semer

581D, <, 60TIT60 UMTE0&610 Slemp eoiu b & &g,
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Q10The first all digital surveying instrument is:

WSO (P(IR&E 19.981L" L 60 iemeiliicd &(mHelil 61517

a) Plane Table (Q1@erresr GL_GNeir)

b) Total Station (BLm"_L_6b 6lo@L_619.66T)

¢) GPS (g8.91.67600)

d) Phototheodolite (Gum”_GLr &S GwrGLmemeol” )

Answer: b) Total Station (GLm"_L_6b 6ivBL_619.65T)

Explanation:

Total station combines electronic theodolite, EDM, and microprocessor for
complete digital surveying.

BLr’_L_60 608619651 6T6dTUS) 6TEVSL_TTeofld HBWTGLmemeor”, EDM w i mibd
6010 & BrmSlIT &oroemr & 6060016 5) (P (1 CDLOWIT 60T 19 SBL°_L_60 Dierellweo @& b

&(HeN.

Q1Which type of curve is used in highways and railways for smooth change
in direction?

O eTemwwneT Slems wThHmSSlhHaTs Ob(hEhHFTemevsaT WhHMIb Sruilcosafleo
6THS QUEHE QIGMH6T6| UWGSTU(HSSUU[HISImE)?

a) Simple Curve (erefliu aucmerey))
b) Compound Curve (6.1 () cucmerey)
¢) Transition Curve (b ay euemerey)

d) Reverse Curve (orbh i euemerey)
Answer: ¢) Transition Curve (onhm) cuemerey)

Explanation:

Transition curves provide gradual change in curvature, ensuring safety and
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comfort.
O H M) QIHETEEET GIDGICUTEOT QIGHOITEY LT HME MG QUPMHIS], U GISTIGHULLD

ougSHleowd 2 miSl GFSlesTmeor.

Q.12Which of the following is NOT a levelling method?

65T 621 62 60T 6D N16D 6T &I LELEUESITAI (L EHMWITETE)?

a) Rise and Fall Method (2_wiie whHmb &fle) (peom)
b) Height of Instrument Method (&@peSlulesr 2_wimb (p smm)
¢) Check Levelling (&flumitiy ueoeueSirii)

d) Traverse Method (igrmeuieio (pemm)
Answer: d) Traverse Method (iqrmeueio (ipsmm)

Explanation:
Traverse is for plotting horizontal control, not for determining elevations.
g ITeuT6iv TATUS & MISE &L (HUUTL_(H&&NS, 2 Wihisemors Siioneofléss

SI6VL6V.

Q3The scale used in plane table surveying is called:
S18emredr BL_G6iT SiemafilweSled LWETU(HISHSUIL(HID DieTem6eY 6TUILILY. &

@&meoeolIu(Hib?

a) Engineer’s Scale (& et ghleoflii Sierer))
b) Plane Scale (9@ersr iomey)
¢) Diagonal Scale (@snewor ierey))

d) Field Scale (&6 =i6mey)

Answer: b) Plane Scale (9@eresr iomey)
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Explanation:
In plane table surveying, plotting is done with plane scale for accurate
proportional measurements.

G1Bemest GL_leir SiemelweSleo, Fflwneor e &SlsmemT Siomei(HeEmHssns W@ eredr

SieTe) UWESTU(HSSUU(HISIDG).

Q14Which system provides 24-hour global coverage for position fixing?

iflemeowineor SL_&ems 24 wenfl GBI 2_cvsermefilu Diemefiled auIThIE D (Y M 6T5)?

a) GIS (g9.e3.616M0)
b) GPS (ghl.9).6160)
¢) Remote Sensing (ugremreo eme_iiey)

d) Photogrammetry (Gum”_GLn&lrmGuor_f)
Answer: b) GPS (£8.9.6r6/0)

Explanation:
GPS provides global positioning using satellites with continuous coverage.
s8l.9).e16i0 @ FWIH 608 EBHMETSH6IT eLpovld 2_cosermeiiu SL_&ems s @& MIsSng)

wHmb CO&TLiihg G&FweuhHiSmg).

QasThe science of obtaining information about objects without physical
contactiscalled:
2 (HUULY.&EHL 6T GBIy @& iYleveomoed &&6ico Gumib Sidlefwucd erliulg &

©@&meveotIU(Hib?

a) GIS (uedluGlweo & & 6M60 (1P 6>M)

b) Photogrammetry (Gum”_@GLn&lrmGuor”_f)
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¢) Remote Sensing (ugnesoreo sme_iiey)

d) Hydrographic Surveying (®itumiy Sierellweo)
Answer: c) Remote Sensing (usnewreo eme_fie))

Explanation:

Remote sensing collects data using satellites, sensors, and aerial cameras
without direct contact.

USTETED m2_[f6) CFWH 6028 & B T6TE6IT, O1&F T FMIT&6IT, Lo M e¥liomeoT

@swrms sl eypoold Gmiig @SITLiiL &6cocorned Hremel G&sfléSling).

Q16Which projection is commonly used in GIS?

shl.en.61or8160 @UINGIUTE LWGTU(HS SUIU(HID UITTO\eR 86, 65T 6T8)?

a) Mercator Projection (Qwi@aL_L it Uirm©len 6 661)
b) Conical Projection (@&mesr Uim@ieeses, 651)
¢) Cylindrical Projection (fleSlesor_fweo Uirm@ign 6w, 661)

d) All of the above (Gweo&ls er6vc0mID)
Answer: d) All of the above (Gweo&)s er6veomid)

Explanation:

GIS uses different projections depending on application and area, such as
Mercator, Conical, and Cylindrical.

edl.ez.616/0 LWSSTUM () W H MID UG Slewt CIUT MG S @WIFGsL L I, B&T6dT,

HoSlevorL_iflweo Gumedtm ued UM OIE2de 65T & 6melr LWGHTU(HS SIS &l.

Q7Theline of sight not passing through the optical centre of a lensis called:

@oeoesTondSleoT 6peiflsasSlif smwwib eupluns g GlFcocons uniemaud s () eTiuig &

©@&medeolIu(HID?
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a) Axis of Telescope (0&T6m60@mTéH&H 18 &)
b) Line of Collimation (8&neSi@weagssr @an(h)
¢) Axis of Bubble Tube (u§lerr @mi &)

d)Parallax Line (ungeoéeiv @&m(h)
Answer:b) Line of Collimation (@&rmeS@weg6r @sm(K))

Explanation:

Line of collimation is the line of sight through crosshairs, not through lens
centre.

@ameSIBag65T s () 6T68TUS) @16065T6r0165T GMOIID EUPIIITES DIGOGOTLDED

G M&SG Can(haor auplunss G&coomib uriemeud s (.

Q18Which method is used in photogrammetry to obtain 3D information?
Gum”_GBLn&rmGuot”_flufled 3D s&euements GUM 6TiHS (P 6mM
uwesTU(HSSUU(HISIDEI?

a) Stereoscopy (ehore flGwimrero@amél)

b) Orthographic (@,F@srSITm9s)

¢) Monoscopic (Bwr@eormeio@amillés)

d) Relief Displacement (2_wiiey &L_0@uUWITSS)
Answer: a) Stereoscopy (erore flGwimero@amél)

Explanation:
Stereoscopy uses overlapping aerial photos to obtain 3D depth information.

ooLefl@wireroBamll eT6oruG) G @60 L oot 6Nl 6Tl LemE UL hig D6l

vwesTuHSS 3D s H&6umedts CUIISIDG).
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Q19Hydrographic surveying deals with:

Brouriy Sereilweco 6185 6meoTE EFMiheS)?

a) Mapping forests (&M (h&cmer 6uemrs eo)
b) Measuring water bodies (Bivuriiysemer Sieref(5&60)
¢) Studying atmosphere (eweflosor_co i)

d) Soil exploration (wesor D, 1e)
Answer: b) Measuring water bodies (B i0urtysemer ieref(hgeo)

Explanation:

Hydrographic survey involves measurement of lakes, rivers, seas, and ocean
beds.

Brouriy Serefwed eresTus orfla 6T, hS& 6iT, HL_608&6iT LM MID &HL_6019 &

&oIhi&emerT SieTell(Heuensd & MISSIms.

Q.20Which type of error occurs due toimproper centering in compass
surveying?

SlemeramL_Lg Sier6eilueSleo &eumimest eowwiu(hid g eomed arbu(Hib Slemw 618)?

a) Instrumental Error (&9 Glemip)
b) Personal Error (sefiiur_L Qlemip)
¢) Observational Error (seueofliy Sleomw)

d) Centreing Error (emwwiiupéseo Slemip)
Answer:d) Centreing Error (emwwiiu(pé s 6o Slemip)

Explanation:
Improper centering causes angular error in compass readings.

SQUDITEOT HWLIWIU([HS S 60 SlemeorsL_Lg eum&lULsefleo Gsmeor Slemp cmw

THubHISSID.

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Q.21What is the minimum number of satellites required for GPS position
fixing?
shlfl.erelv b @ MI&BE G mHHUL_&F @FwWHemsd@anersaflesT 6retoremildsomnas

6T 60T 60T?

a)2
b)3
c)4

d)s
Answer:c)4

Explanation:

Three satellites give 2D position, four are needed for 3D (latitude, longitude,
and altitude).

e &t M) FWHensdBasmeTser 2D S1L_&cmad & (HéG D, IHTeoT @

@swhHemas&Bsndrser 3D SL_&6ma s (1”_sCrens, Q&5IUGTmES, 2 WITD) &(HLD.

Q.22Theodolite least count is usually:

SICWTGLTemevL"_19 65T @& OMIHSHUL_& DI6IT6Y FTSITTGITLONG 6T6I6UEIT6)?

a1
b)30’
c)20"

d) 5n
Answer: c¢) 20"

Explanation:

A standard theodolite has a least count of 20 seconds.
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6 (15 Hlemoowimeor SIGWTGLT6medL" 19657 & ODIHSUL_& o6y 20 6Sl6oTiTLg. &6iT

AEGID.

Q.23In plane table surveying, the process of transferring ground details to
paper is called:
1Bemest L6 StereilweSled, &6mrs STemeu &N &S S S @ b mibd

@& wed (W emm 61U & @& TEdeOTIL(HID?

a) Radiation (&&\iieSi&sr)
b) Intersection (& cmewortiL)
c) Resection (Beir@mns @)

d) Plotting (euemrs60)
Answer: d) Plotting (euemrs o)

Explanation:
Plotting is the act of transferring field details to drawing sheet in correct scale.

Slemm”_1q.ihi 6TeSTUS) &6 e5laNThE 06T FFIWTET Siememauuiicd 6U6mT S 60.

Q.24Which oneisnota component of GIS?

e9l.20.616r0165T &6r D& L3OO G 6157

a) Data (srey)
b) Hardware (& peS&e6ir)
¢) Sof tware (@oedt @UIT(mH6T)

d) Photogrammetry (Gum”_@GLn&lrmGuor_f)

Answer: d) Photogrammetry (Gum”_@GLn&lrmGuor_fl)
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Explanation:

GIS hasdata, hardware, and software: photogrammetry isa data source, not a
GIS component.

891.82.6T6/0 BTG, & (H6N&ET, GO ST UM (HETEHT S SlWweuHemmE &L &):

Gum”_BLnSlnm@wr’_ifl T6M 65T eyeon@ b, eormeo GIS samrasng).

Q.25Which curveis provided on hill roads to avoid overturning of vehicles?
LDEMEVE FIT60I60861TI60 AUITE COTTRIG 6T HeNlDNmSS &6l s 6THS QIGHET6)
QUBISUUHSIDG?

a) Simple Curve (erefliu aucmomey)
b) Vertical Curve (Q&hi@, 68 eucverey)
¢) Transition Curve (b ay euemerey)

d)Superelevation Curve (Gweo&miie] aucmorey)
Answer: d) Superelevation Curve (Gweo&miie) aucmemey)

Explanation:

Superelevation counteracts centrifugal force and prevents overturning on
curves.

Bwev&miie] auemore| emwweilevsd @) cllensemw Fwiblemeotiu(hHs S, cucmereflco

GUT&GOThIGAT HAND DS S &6ilii&HSIns).

Q.26Which method is used for locating an unknown point in plane table
surveying using three known points?

ew 6t M) SidHwtu_L yeiretlsemerts uwestu(Hls Sl G1Gerest GL_leir iereilweSlco

SINWOUL TS YeTeflemw & evor_ b (p emm 6187
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a) Radiation (&&\iefi&ar)
b) Intersection (&ecmeworiiL)
c) Resection (Beir@mnd @)

d) Traversing (1q omeui &)
Answer: ¢) Resection (Ber@mns @)

Explanation:

Resection is used to locate an unknown station by observing three known
stations.

ew6dt M SiPhutuL_L yeireflssmert uwestu(Hlé Sl SidlwtiuL_ms yeiterflemw

&aoorL_M6I@s BeiT@mné @) (L emm.

Q.27In chain surveying, tie lines are provided to:

&1b1&5160] S1omeilwedlev, smL_ B (H&ET 618 HETE uLPIBISUIU(H &6T 60T ?

a) Check accuracy (gye06Swusems & eflunise)
b) Locate interior details (2_eitona 6Nleurmhis emer & 6vorL_ M)
¢) Connect main stations ((p & Hw Hlemeoluhis cmelr &6t 60T &8 )

d) Both (a) and (b) (a b mub b Sresor{Hib)
Answer:d) Both (a)and (b) (a b mub b Sredor (Hitd)

Explanation:
Tielines check accuracy of framework and help in locating interior details.

oL @& (hlaseT 1L emwllblesT gicoedlwsomns & Filumisbsa)b, 2 orors

efleuThis cmelt & 60oTL_MIWeLD 286 &HledTmeoT.
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Q.28The fore bearing and back bearing of a line differ by:
615 &L _1q. 65T (W61 SlemawrsiTL_Lg WhHmIb Y6t Slemaoratl_Lg &omL Gw

NG SWNFb eT6)6V6TE|?

a)90°
b)120°
C¢)150°

d)1s0°
Answer:d)180°

Explanation:
For a correctline, fore bearing - back bearing =180-.

sflwreor @&m_1q H@, (P ST SHlememrHmL_Lg. - GledT Slemesorssm”_1q =180°.

Q.29Which error is common in chain surveying due to unequal pull on chain?

&hi&l65] SierefilweSleo &winHm &(Riumed arbubhib Gungieureor Slemip 6T8)?

a) Sag error (& (pr&s 6o Slemip)
b) Compensating error (Fr(h) Sleomip)
¢) Cumulative error (@&iisoma Glemip)

d)Random error (Frihm Sleow)
Answer: a) Sag error (&(Hbiseo Glemw)

Explanation:
Sagin chain causes length to appear more than actual.

&1h1&165] & (IHhiE GUSHTEO 2_600T LW GOT {6l & 6 69l DiSlsns @&medr mib.
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Q.30Which levelling instrument has the highest precision?

91518 gieoeSlwib O\&T6ooTL Ueoeu6Slihi & (1565 6187

a) Dumpy Level (Lb 9 @eocued)

b) Tilting Level (smiiey Geoeico)
c)Auto Level (<11 GLir Geoeusd)

d) Digital Level (1q g8l"_1_6b @eveued)

Answer: d) Digital Level (19.851"_1L_6b @eoeued)

Explanation:
Digital levels give precise readings with least human error.
19.891L"_L_60 Gl6066DL&6IT OIS (& mMIbHS L6oTIG lempu|L 65T gl6oeShuLiTeor

oun SlIys 606 S & (1HSI6OT M 6oT.

Q.31Which error in levelling increases with distance?

ucoaN6SIhISleo HMTSHHIL 6T Bi515Ifld @D Ulemip 6187

a) Collimation error (8&meSiBweg65r Slemip)
b) Instrumental error (&6 Glemip)
¢) Curvature and Refraction (euemerey i mib 6feos Hgmeo)

d) Parallax error (ungeoéeiv Slemip)
Answer: ¢) Curvature and Refraction (euemerey b mib 6feos Hgmeo)

Explanation:
Effect of curvature and refraction increases with distance from instrument.

cucmore) hHmIb ceodHsmed Yemwsar &mHeTulledmibHa HTD iSlsiflsbs

91515 f16 @ b.
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Q.32Which surveying method is best for mountainous terrain?

LOE®EOLILMHIGT 6T U@ Sl aTeor Smibha Siemefliucd (Wpemm 618)?

a) Chain Survey (s &l6S SiereSliweo)
b) Plane Table Survey (9@erssr GL_iSl6iT iemreSlico)
¢) Compass Survey (Hlomemoram_1q DiemeSleco)

d) Theodolite Survey (HIGwrGLremeor”_ DiereNwicd)
Answer: b) Plane Table Survey (91@sreor GL19l6iT DiomeNwico)

Explanation:
Plane table is preferred in rough terrain due to direct plotting.
G1BemestT GLl6iT 19 coTIDM 60T HlevriuTiysserfled Gmirigq IWITe eIEHIUL D QIEHITOISHIT60

N EpULU(HIEIGBTDE).

Q.33In tacheometry, the multiplying constant is generally:

&1_SCGwrGwL_fludled, QU & @D T MleS] GIUNGIEITE TEICIOT6?

a)50
b)100
Cc)150

d)200
Answer: b)100

Explanation:
Tacheometers are designed with multiplying constant K =100.

S HGwmBL"_L iseir K =100 er601 62119 6u6m108 8 01L(HESIGSTDGOT.
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Q.34The method used in remote sensing to classify imagesis called:

USTETED m2_[F6Xl60 UL hish 606 auenaUIu(hé U UI6TU(hS SUU(HID (Y DM 6T8)?

a) Georeferencing (yeSl @mliy)

b) Image Classification (UL euem&UILHISSH60)
¢) Orthorectification (S,F@HTH (HSH D)

d) Resampling (my wr&f er(Hliy)

Answer:b) Image Classification (UL euem&tLHISS60)

Explanation:
Image classification categorizes pixels into land use/land cover classes.
UL euem&UIU(H& & 60 & & 608 emer Ihleols uwiesTum (/e (HUTUIL CUCHEEHETTE

ouem&IU(HS S SIS

Q.35Which curveis used to connect two parallel roads or rail lines?
16607 () £ 6O OTILITGOT &FTEDEOHGT Bi6060g)] TUIl60 UIT60)8 8 606 E360650T &8 6T1HS

ouemeI 6 UIWGTU(HSSUU(HISIDEI?

a) Simple Curve (erefliu aucmerey))
b) Reverse Curve (omidiu euemerey)
¢) Compound Curve (ga."_() cuemerey)

d) Transition Curve (b ) euemerey)
Answer: b) Reverse Curve (onmihmdlw euemerey)

Explanation:
Reverse curve connects two parallel tracks with opposite curvature.

b MU eucH6Te)| Sir6sor () & 6mEmTIWITET UIT60S 8 6molT 6TSlfLoemm cucmomelilco

ST S E).
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Q.36Which isnotan electromagnetic band used in remote sensing?

usTeTeD m2_[f6Xiled LWGHTU(HISSUIUL TS LOIGHT HTHES IEHEOEUELD 6T5)?

a) Microwave (emwéGrmGeus)
b) Infrared (&6or-timm@m”)
¢) X-ray (erdheiv-sS)i)

d) Visible (unif emeud ser1q W)
Answer: c) X-ray (erdho6to-&HSliT)

Explanation:
Remote sensing uses visible, infrared, microwave, not X rays.
USITE00TE0 602_[16)] UIT smeid &6 1q W, SeoT-Limm@irL_, emiwndCrm@eues

uweTU(HSHISID &), 618 6/0-HST & 6T &606m60.

Q.37Which system is used to measure depth of water in hydrographic
surveying?
Birourdy SereNweSleo Bifler s 08 Di6oTEHS 6TiHS (Y DM

uwesTU(HSSUU(HISIDEI?

a) Echo sounding (618@&r &6y6doriq 1)
b) Levelling (usoeueSim)
¢) Traversing (1q mmeur k)

d) Tacheometry (51" A@wrGuor_f)
Answer: a) Echo sounding (e1&8&nm &6 600719 161)

Explanation:
Echo sounding uses sound waves to measure depth of water.
618@ &M &6 60oT1q 1h1 6965 Di6mEv& M6 LIWESTU(HS S BiflesT 1056008

DioT&HEDG).
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Q.38Which error in photogrammetry arises due to camera tilt?

@swrm smibeureo Gum”_GLr&lTr@wLflulled erbu(Hid Glemip 618)?

a) Scale error (Sierefi”_ () Glemp)
b) Relief displacement (2_wiie &L 0@uUWIT& &)
¢) Tilt displacement (smiiey SL_UGUWITE &)

d) Orientation error ($lewa Slemip)
Answer: ¢) Tilt displacement (smiey SL0GUWITES)

Explanation:
Camera tilt causes displacement of images, known as tilt displacement.
@swrm smibe) UL hisafléo SLUGUWITEH W arhHUpHISHHID, Dis 6T FTLIGY

S UQuUWITsF & er6orHIEGmMmID.

Q.39Which curveis used in vertical alignment of highways?
@b (HEhETemevsaiflesT O\&ThIE) S8 &cmanTiINIed 6THS CUEHOIT6)

uwesTU(HSSUU(HISIDEI?

a) Horizontal Curve (SlemL ol L euemerney)
b) Transition Curve (i gy euemermey)
¢) Vertical Curve (@& &8 cucmerey)

d) Compound Curve (go.1"_() cucmerey)
Answer: ¢) Vertical Curve (@&, 6 8 anomerey)

Explanation:
Vertical curvesare provided for smooth change in gradient.

O &hIE &8 QIm6Ta&6T &FTi6Tleo GIb6sTemwWITesT ITHMSSIH&TES

oULIBISUIU(H &6 6oT.
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Q.40Which oneis NOT a property of contours?
aflafliby @& (haefledr ustoTun s &6oeons 8l 6T8)?

a) Contours never cross each other (eflefliby @s (a6t G rBUTGID 65T DM
R BLSBHIF)

b) Close contours represent steep slope (1@ &Slw eMefliby @& (Ha6i & HIb
FMibcn6eus &I (Hib)

¢) Contours form closed loops (eflefliby @sm(Hl&eir eiqw el L_hisemer

2 (IHeUN&H@GD)

d) Contours are straight lines (eSlefliby @& (Hia6r Gmii @ (Ha6ir)
Answer:d) Contoursare straight lines (eflafliby G (h&eir GmiGasn (Hseir)

Explanation:
Contoursare irregular curves, not straight lines.

eflafiibL B&m(H&s 6T G (1RIBIBHM IEMETER|&H6IT: GHiF G (His6T Sicdev.

Q.41Which method is used for quick determination of distances and
elevationsin rough terrain?
&1q coTLomeot Hleotugti§leo G WHmID 2 wWnTkisemer Gaussnses MU 6TiHE

(WP eom UWETU(HSSUUHISEIDSI?

a) Tacheometry (51 SA@wrGuoL_f)

b) Trigonometric levelling ((p &8s eoor ucoeueSihi)
¢) Plane table (91@ersdr GL_Nl6iT)

d) Chain survey (&1&l6S Siereflico)

Answer: a) Tacheometry (51 SiGwn@w1”_fl)
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Explanation:
Tacheometry is rapid and suitable for rough terrain.

SL_HCwr Gl 6flemreuncor g whHmib &Lq.corwreot HleoturtSlihH@ earbmg).

Q.42Which instrument is used to measure horizontal and vertical angles
precisely?
SlemL L L whHmib O&FhIE S8 G&neo i cmor &16oeSIns Diords 6Ths

&(H6eN LWETU(HSSUU(HISIDG)?

a) Compass (Hlemeworami_iq )

b) Theodolite (5/GwrGL_remeor” )
¢) Plane table (9@emeor GL_l6ir)
d) Abney level (11600 Glev6ucd)

Answer: b) Theodolite (5IGwrGL_memeot” )

Explanation:
Theodolite measures horizontal and vertical angles precisely.
SIBwWrGLmemevl” SlemL L L whHmib O\&mhiE &g Gamemnrhiasemer gleoeduwns

DOTEHGD.

Q.43The capacity of GPS to provide accurate positions depends on:

891.9).676M0 G1606SIIWILDITGOT EBL_1h18 66T QULPIHIE D SIM6OT 6185 65T B FMITTHE 6T S)?

a) Number of satellites visible (umisasuupHib @&FwhenadGamersaflesr
6T 600T 60011 60785 )
b) Position Dilution of Precision (g1606Sw £gmeo Hlemeo)

¢) Atmospheric conditions (euefliossorL_ev Hlemev)

d) All of the above (Bweo&ls eréveomib)
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Answer: d) All of the above (Gweo&)s er6veomib)

Explanation:

GPS accuracy depends on satellite visibility, PDOP, and atmosphere.
eflSl.e16i0 Gi6oeSb @ &FWHem&HBasmer &1L_&, PDOP, sueifloetor_oo Hlemeo
B Eweub dlesT 1B EMiHEI6Tor g).

Q.44Which survey uses stadia hair method?

6o @L1qwir Gamii (e 6THS Siemedluedled uwesTU[HSSUUHISIDE?

a) Chain Survey (si&l6S) Siereflco)
b) Tacheometry (51" &A@wrGuoL”_f)
¢) Compass Survey (Slememorasni_Lq. DiemeNlico)

d) Levelling (ucoeueSim)
Answer: b) Tacheometry (1" &lGwrGuor_f)

Explanation:
Stadia hair method is the basis of tacheometric surveying.

6ivBL g wir Gamii (emm s HBwTGIwL”_flé Sierefuediesr g liuemL W@ Lb.

Q.45The main advantage of photogrammetry over ground surveying is:

Gum_GBLr&lrmGlw”_fé@E) &eor Sieredluemneoedl (W &Sl [H65T 6oL 6T65T 60T?

a) Higher accuracy (21818 g16065ib)
b) Rapid coverage of large area (Quflw u@ S eow eNevreuns ey (H&60)
c) Less cost (& oomibhs @&e6))

d) Simple instruments (ereflw &(mHeMNseir)

Answer:b) Rapid coverage of large area (Quiflw u@ Hleow efemreuns ew (His6d)
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Explanation:

Photogrammetry coverslarge areasin short time using aerial photographs.
Gum_GLr&lrm@w1”_fl eflrests yemastiuL_hiseflesr eypeolb @ miShu GnrsSleo
Ouflw uG Sesemer e [HISIDS!.

Q.46Which is NOT a method of plane table surveying?
G1Bemest L6 StereileSledT (W emMWITES 606N S8l 6T5)?

a) Radiation (&&\iiefiésr)
b) Traversing (1q mmeurf &)
¢) Intersection (&emeooriiy)

d) Cross staff method (Slrmeio om0 (1p 6mm)
Answer: d) Cross staff method (Sirmero ehoL_m-.11 (ip 6mm)

Explanation:
Cross staff is for setting out perpendiculars in chain survey.

Slymeiv eioL_m-U) &FrhSled] Siereilucdleo O\&hIE S &I&H6T D&l UIGSTU(HID.

Q.47The process of aligning telescope with a signal is called:
@5 Teme0BHnsSHlem HécoTepL 6ot &Fwiblemeotiu(hs &b G&Fwed (W emM 6TUILLg. &

@&meoeolIu(Hib?

a) Centering (eowwiu(h&60)

b) Levelling (ueoeueSlii)

c) Sighting (@Bré @)

d) Focusing (&eueorib Q\&ep16 818 60)

Answer: ¢) Sighting (Gmné @)
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Explanation:
Sighting meansaligning telescope with the object.

@@ eTsTUE) OSTEeOEHTEHSlem GUN(HEHL 65T &FiblemeoliIu(HSGIUSTED.

Q.48Which GIS data type represents roads and rivers?

FTEDOV&EIT Lo MID HE&emar SlITSlueSls @b eil.ee.6T6/0 HI6) 6U6HE 6T8I?

a) Raster (gmeioL_f)
b) Vector (@6usLii)
¢) Grid (Sifl)

d) DEM (19 &erid)

Answer:b) Vector (QeuéL i)

Explanation:
Linear features like roadsand rivers are stored as vectors.
FM6m60&6iT, hSla o Gumesrn Bam(H(Hoy Db &FhiG6T CleudL_TTs

@sdlsaUu(HSlesTm6oT.

Q.49Which method of setting out curves uses deflection angles?
UCHOT & DO NGOG LD 6T1HS (P mMUuIled H&Hmeo G&meoorihig 6T

uwesTU(HlS&UIU(H&SlesT D 6oT?

a) Tangent method (BL@gp&esrL_ (pomm)

b) Deflection angle method (8&meb @amesor (1p 6mm)
¢) Chord method (@& (p emm)

d) Rankine method (Grmi&lesr (1p smm)

Answer: b) Deflection angle method (8&meb @amesor (1p omm)
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Explanation:

Deflection angle method sets out curves by measuring successive deflection
angles.

s meo Basmemor (Y smmulled G\&ML_f&SHwimeor g meo G&memrhigs e ioThs

UG R &EIT DL & & UIU(H Sl 60T D 6OT.

Q.50Which of the following isnot a GPS error source?

6T (1 Gu6OT AU NHl6D 6T 8 881.9).6T6M0 SlEmLp PP EOLTEHTE)?

a) Multipath (ueotiuTe®&)
b) Ionospheric delay (@uw@eormeiv Gt Hmosib)
c) Receiver clock error (Qumumii &1q & Slemip)

d) Echo sounding (6168 &6 6vor1q.1hi)
Answer: d) Echo sounding (616:@am &6)6toriq )

Explanation:
Echo sounding is used in hydrographic survey,not a GPSerror.
61868 &6y 6vorig bl BiFUUTiY SiemellueSleo LwsTU(HSSUUHID: 28.9).6T60 GlemLp

SI6V6V.

Q.51ln chain surveying, which of the following isa well-.conditioned triangle?
&1b1&168] Siomeilwedlev, &1 8 avorL_ouih MHl6d 618 1606 [Hlemed G\8TevorL

(Ww&Bsmeoorid?

a) Equilateral triangle (g0 &8s mevorid)

b) Isosceles triangle with small vertex angle (Adw 2_&& Gasnewmr(peiter & & &if

(W &Bsmeoorid)
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c) Right angled triangle (@Q&miBsmswor (1p & Basmemorid)

d) Obtuse angled triangle (651"_L_omeor @smesorweirer (1 &@&mesorib)

Answer: b) Isosceles triangle with small vertex angle (8w 2_&§8

@anemor(erer Fw& &I (P &HBasmemrid)

Explanation:

Well.conditioned triangles avoid large errors during plotting. A triangle with
anglesbetween 30°and 120-is considered well-conditioned.

156060 [Hlemed G\&T6etoTL (L & B & TeT RIS 6T 6UEmTE 65160 GIU(HLD SlemI & oS

&6 & &ledTmeoT. 30° M MID 1208 @) 6T 2_6iTem G&meT s 6T (18T GvoTL

WP &8s meorid Hevev [Hlemeoulled 2_eiTems).

Q.52Which survey instrument uses prismatic compass?

6T Diemailwed & el Ylifleowm 1q & SlemFstLi1g eow UWesTU(HS &I SID&I?

a) Chain survey (518165 ior6fuwico)
b) Compass survey (Hlemas_1q. Sieredlico)
¢) Levelling (usoeueSih)

d) Theodolite survey (5lGwim_smeol”_ Sierefiwico)
Answer: b) Compass survey (Hlemasm_iq Dieredliico)

Explanation:
Compass survey is conducted with a prismatic or surveyor’s compass to
measure bearings.

Slemasn_1g SereSlwed, Slemd G amorhis cmer SieTiushans Sliflevwm g &

Si6o60g) FTFGouT HlemasTL_Lg emwit LWGTU(HISSHISIDS.
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Q.53Which error in levelling is eliminated by balancing back sight and fore
sight distances?
ueoeueSlfusled Y6t &M & hHmib (P STEML_& HTIThisemer FUIU([HS 868 65T

ewoolb 61h S Vool B &HasULHISImE?

a) Collimation error (&65@we6:965r Slemip)
b) Parallax error (unmeodeiv Slemp)
¢) Instrumental error (&6 Glemip)

d)Settlement error (Siemwoiiy Slem)
Answer: a) Collimation error (&698weag6sr Slemwp)

Explanation:
Equalizing back sight and fore sight distances cancels collimation error.
Sleram_& b mib (WesTaTL_& grhisemer Fliu(hHEEIeNs6dT eLp6oLDd

560518 a6t Glemw Has0u[HSIDE).

Q.554Contour interval depends on which factor most significantly?

oflafliby SemL_Gleuefl SiSlab enibSlHLILE) 618 6T Bg)?

a) Type of survey (ierefliLeco a16ma)
b) Purpose of survey (ierefwieSleor Gmméasin)
¢)Scale of map (uemruL DieTey)

d) Nature of ground (& emrullesr 865 6min)
Answer: ¢) Scale of map (euemruL Sierey))

Explanation:

Smaller scale maps have larger contour intervals, while larger scale maps have

smaller intervals.
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dlw Sierefleoneor euemruL_mhiseifled Guiflw efleflibL &emLGleuefl &Hé G b:
@uiflw Sierefeoneor euemTuL hiselfleo Al SemL Gleuefl &(1Hé @ b.

Qs55Theleast count of a vernier theodolite is usually:

(15 Geuieotul SIGWITL_cmeol”1q 6T @& soHHUL & WSy ClungHieuns:

a)1 (1HIBILIb)
b) 20" (20 6MeoriTLg SH6iT)
€) 30" (30 6Nleoriq &6iT)

d)10" (10 6NleoriTLg SH6iT)
Answer: b) 20" (20 efleoriiq &6iT)

Explanation:
Most vernier theodolites have a least count of 20 seconds.
@upbureoneot @euretiul Sl@wmL_emeol”(HsatleT & emmibsuL_& Sy 20

65160TITIq H6IT h@ELD.

Q.s6ln trigonometric levelling, the distance is measured using:

WP &5 Bamemr UE0aU6SIHISIED, HITTD 678 63T eLPEOID SieT&H&IL(HSIDEI?

a) Chain (s &led))
b) Tape (ur_Lm)
c) Angle and height observations (@amesorib wHmub 2 wiré &ewityseir)

d) EDM instrument (\ble1 60160y ST Sierm soeuwii & (15 651)
Answer: c) Angle and height observations (@&mesorid wbHmyb 2 wird &efliiyseir)

Explanation:

Trigonometric levelling uses measured angles and known distances to
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calculate elevations.
W &5 8smemr ueoeuedli, Serail vl L Gasmemrihiser whmib @& flihs

SHNIHS6T6T g liuemLuiled 2 WiThis e &6oré&l(HSInE).

Qs7Tacheometric surveying is mainly used for:

HL_&B&Meoor Si6meflucd (I & 6T WITE 6185 MH&T&HL LIWESTU(HSSUUHISIDE?

a) Precise levelling (g1606Swiomeor ueoeueSibi)
b) Rapid contouring (@euswneor efleflibL) 6x6miT&60)
¢) Chain triangulation (&mi&leS) ey eueSlweo)

d) Boundary survey (ér6b6meo Diemewico)
Answer: b) Rapid contouring (@eusiwmesr 6fleflibL) 6368 60)

Explanation:

Tacheometry is used for quick measurement of distances and elevations,
useful in contouring.

BL_&Bameoor Siemeflucd HNThiG6T WHMID 2 wirkisemer Geusns Seriiusleo

uwedTu(Hi&EIm S eMefliby QIEOTHNISE 2 S SIDG).

Q.58Which type of curveis provided at the intersection of two straight linesin
road design?
FMT6m60 alq aemLlINIed &resor (h CriGssm(hasaflesr &bSltlleo 61hs ieme

GUEMOT6Y QIRHISIU[HISIDE)?

a) Simple curve (616l cusmerey))
b) Transition curve (orhm) euemerey)

c) Reverse curve (onhmy Sleo & auemerey)

d) Vertical curve (Q&mi@, 68 oucmerey)
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Answer: a) Simple curve (ereifliu aucmerey))

Explanation:
A simple curve connects two straight lines with a circular arc.

cratiu eucmoTer &iretor () CriGsT (He 6T 6(Ih AL L GIEHETATEO &360600T&HSIDE).

Q.59Which satellite-based system provides global positioning?
2_cosommeilw Hlemev Hlifeooriug ems auprhi@ b O&wWwihemned@smerr

Silq UUemL_uleon et DiemioliL] 6T8)?

a) GIS (e9lgz616i0)
b) GPS (ghlSleteiv)
¢) Photogrammetry (Gum”_@GLr&iom G _if)

d) Remote sensing (usnewTeo sm2_fi6))
Answer: b) GPS (g8lGl6r6i0)

Explanation:
GPS provides worldwide position and navigation data using satellites.
sdlGleToiv, @&FWIH & &G & MeiTs ement LweTU(hS S 2_cosermeiiu Hlemeo whH mib

ULDIO&FENISH 6 BT6|8 MO QUIHIG SIG).

Q60Which isnot a type of remote sensing resolution?

USTeooTe0 626t SiomeoT emasoifled Eeocons &) 6187

a) Spatial resolution (8L Siwneorib)
b) Temporal resolution (&meo Siomeorib)
c) Radiometric resolution (&&)liefis & Siwmeorid)

d) Economic resolution (Qunperngnr Siiwmeorid)
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Answer: d) Economic resolution (@Qungperngnr Siwmeorid)

Explanation:
Remote sensing resolutions are spatial, temporal, spectral, and radiometric.
usTeTeD m2_[FelledT SFLoMeoTThiG 6T &L LD, Hreolb, &Sl &, b mib v GlU&L_T6d

AEGID.

Q.61Which principle does photogrammetry mainly rely on?

Gu”_GLn&lrmGw L if] (i & 65T WIS 6T1HS & OI&ITET D& GO FTHTTHEI6T 6T &7

a) Triangulation (eypeueSiwueo)
b) Trilateration (b smeord GNIb)
¢) Parallax (urpevéeio)

d) Contouring (eMeflib eyemrs60)
Answer: ¢) Parallax (unreoéeiv)

Explanation:

Photogrammetry uses parallax in overlapping photographs to measure
heights and distances.

Gum_GBLr&lrm@uwL”_f], s (peuemIB HIL YemasUuL hissaifléd UMTeodmern

vwesTU(HSS 2 Wb WHMID HITTHISEHOT 6T SIS

Q62Which hydrographic surveying method is commonly used to measure
depth of water?
Birouriy SereiweSleo Biflesr s w8 SerellL Gungieuns UWETU(HSSUU(HID

(poeom 6181?

a) GPS (efiGl6r6i0)

b) Echo sounding (616 8&m &6 600r1q 1h1)
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¢) Photogrammetry (Gum”_@GLn&om@uo1”_f)

d) Chain triangulation (&&16S) eypeueSlweo)
Answer: b) Echo sounding (616:8&m &6 6tor1q 1)

Explanation:
Echo sounding measuresdepth using the time interval of sound waves.

6186 &I &6 600TIq b1, 6965 Diemovssaiflesr GBI &omL_Glauatlemut uwesTu(HiS S

Bfleor Wlpdowg endSmg).

Q.63Which instrumentis essential in Total Station for angle measurement?

@Lm’_L_6b 60BL_ag60fl60 B&memTiigemer Siemtiu D15 SlwmeuSwioret & (56 618i?

a) EDM (1bleé1 601 650)) ST D6 smruLiy)
b) Theodolite ($1GwmL_cmeor”)
¢) Compass (Slemasin_iq)

d) Clinometer (smiie| iorsmeuui)
Answer: b) Theodolite ($Gwm_cmeor")

Explanation:
A total station integrates theodolite for anglesand EDM for distances.
GL_L_6b 6vBLag6sT SGWITL_6m60L" 19 65T G&HITE0T D6 M GULLLD, FFLG 6TLD GITT

SieTemUID GRS 0600 SISl

Q.64Which GIS data type represents real-world features in the form of points,
lines, and polygons?
yeNullwedo &8 6160 Siemesriilled, Yereflaer, s (hisseir, uco@smemrihigseir &l

oulq 6urkis6Ifled 2608 2 _6tor 6™ UetoT & e NITSlueSl& G D HT6)| aIeHE 6T8)?
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a) Raster data (mmeoLif s16)))
b) Vector data (QeusLii sr6y)
¢) Attribute data (uedory BT6Y)

d) Remote sensing data (usnemTe0 sB2_Ti6) HT6Y)
Answer:b) Vector data (QeusLii H16)

Explanation:
Vector data uses points, lines, polygons to represent discrete features.
OausL I ey YaTetleser, Gam(h&eT, UeoBaTermhis 6l cpoold HooflsHs

& 65T 6oL & emar SlTSlueSls Slmg).

Q.65Which surveying method isbest suited for hilly terrain?

wemeotIunmhisTeor Hleotiuriié@ Wlsayb arbm SierTellwcd (Y emm 618)?

a) Chain surveying (sai&leSl Siemefuwico)
b) Compass surveying (Hlemaasn_1q Derewico)
c¢) Plane table surveying (918@ersr GL_Gleir iereuico)

d) Triangulation surveying (eypeueSiweo Sierefweo)
Answer: d) Triangulation surveying (eyeueSiuco SierefNuweo)

Explanation:
Triangulation is suitable for rough and hilly areas where chaining is difficult.
&rh1&l6d Sereiwed Srwmet wemeotiunhisTeT SLhisefléo eweueSliuco

Siereiliwed 6 HmST & LD.

Q.e6Which line is perpendicular to the plumb line?

Bl Gami_1q H@ C&hiES ST Gai(h) 6T8)?

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

a) Level line (flemeoéd Gan(h))

b) Horizontal line (SlemL w1l L @sm(h)
¢) Vertical line (@ &i@ 681 Gan(h)

d) Datum line (®emeyé8mid @ (h)

Answer:b) Horizontal line (SlewLo1” L Gan(h)

Explanation:
Horizontal line isat right angle to the plumb line.

Bl @smi_1q hHE OFhESsTer @sm(h) SlemLl L Gsm(h b@Eb.

Q.67Which method of contouring is most suitable for hilly regions?

LD E®EOVIUNTRIGT 60T UG S8 (01H & @ 15161 o hm 6flefliby 6uemrs6d (pemm 618)?

a) Cross-section method (g &&1°_H) (poom)
b) Radial line method (&8l @& () (pomm)
¢) Square method (& (w com)

d) Tachometric method (81_&8smewr (p6mm)
Answer: b) Radial line method (&8 @a&n(H) (p som)

Explanation:
In hilly terrain, radial lines from a central station are suitable for contouring.

L emeoUIUNThIsTeor SL_hisatled, somww HlemeoudleSpibg &Sl s (Hlesar aflafliby

QUHTHNIEE TDHOSTSLD.

Q.68Which correction is necessary in chaining over sloping ground?

gmiey bleod Sleo &miHledl Siemredlwedled 61hg Sl(H& S DienHwib?
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a) Sag correction (&5mpoy H(HGHHD)
b) Temperature correction (@eutiuBlemeo &(H&s1b)
c) Slope correction (Fmiiey H(H&6b)

d) Pull correction (8@guy Hiapésib)
Answer: ¢) Slope correction (&miey H(HEHs1b)

Explanation:

Slope correction isapplied to obtain horizontal distance on sloping ground.

gmie) hloog Sloo SlemL " L Hirdems @um smile) Sl(Hésb G &iutuhSlns.

Q.69Which reference surface is used for determining elevationsin surveying?
StemeflweSleo 2 _wirmhis emer Hlifeooruilé s 6Tihs iq UiuemL Guhuriy
uwesTU(HSSUU(HISIDEI?

a) Ellipsoid (B eireur”_L_ib)

b) Geoid (e91@wimudc)

¢) Datum plane (®iemrey&5mib se6rmib)

d) Mean sea level (spm&f L6 o1"_L_1b)
Answer:d) Mean sea level (som&ifl sL_60 1o1"_L D)

Explanation:
Mean sea level is taken as reference for elevations.

FIm&fl HL_60 L”_L b 2 Wb 6H&HESTET DilqUUmL L L s 6T(HasUUHSIng).

Q.70Which method is used in GIS to store continuous data like elevation or
temperature?

shlgneTorSled 2 _wirb Sicvbeog Gautiublemeo Gumesrm Q&ML f&SFlwmeor HTeme

@&l&s 611H5 (P M LWETU(HISSUIU[HISIDEI?
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a) Raster method (mmeoL_if (wemm)
b) Vector method (@eusL_ii (ip smm)
¢) Attribute table (Uetory =i1”_L_eu6m600T)

d) CAD system (@&1"_ SeivL_b)
Answer: a) Raster method (mmeioL_fi (ip 6mm)

Explanation:
Raster data represents continuous variation using grid cells.
omeivLii HT6| @&mLii&Swimeor om MUM"_6oL_ F&ITS &L _L_hiseifledr eLp6oLd

SlrSlueSls Slmg).

Q.71In remote sensing, which platform provides highest spatial resolution?

USTeTED 265160, DiSle S SoNeorHems QUIPHIGLD S6TD 6187

a) Ground platform (& 6o Hermib)
b) Aerial platform (eunresflwedo semib)
c) Satellite platform (@&wihHens&@s&mer seorib)

d) Balloon platform (uspresr semib)
Answer: a) Ground platform (&e6or Serib)

Explanation:

Ground-based sensors provide highest spatial resolution as they are close to the
target.

soouileo 2_eirer 2_ecoorifleser &eodbsSlh@E DihEled SHUUSTEO DiSs S

STDT6oTID GULPTHIE Sl60T M 6OT.

Q.72Which property of electromagnetic wavesis used in remote sensing for

vegetation studies?
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UG6DLD HITEUT D165 61Tl60 UG TETe0 6m2 1165160 6THE LDIGOT&HITIHS 6060 LI6ToTL|
uwesTU([HSSUUHISIDEI?

a) Reflection (Qir&lueSitiy)
b) Refraction (eNeos6v)
c) Absorption (2_ereunmiseo)

d) Transmission (cpefli&&)
Answer: a) Reflection (Qir&lueSiiy)

Explanation:
Vegetation reflects strongly in near-infrared region, used in remote sensing.
STUITEIS 6T I(HSIGNIGT 6T 6 ©Eh &6 HSlifelidFloo ilasb SlrSlueSls&Slesrmeor:

85l ugTeTeo 6m2_fedled LWETU(HSSUU(HISIDG).

Q.73Which error in plane table surveying arises due to non-horizontal table?
S1Berredr BL_G6iT SiemailweSleo Goem& SlemL oL L bs E606onSH &Moo 6 Hu(Hd

Slemp 618)?

a) Orientation error (Slem& Glemw)
b) Instrumental error (&@Hef Glemp)
¢) Parallax error (unmeodeiv Sleo)

d) Collimation error (&658wag6sr Sleomw)
Answer: a) Orientation error ($len& Slemwp)

Explanation:
If the plane table is not horizontal, proper orientation cannot be maintained.

S1@emesr GLSl6ir HlowL_Lol”_ L 1o Geveonadl” Lmed sflwneor Hlems 6 (1prbions

urmwiflées (WPig WS
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Q.74Which type of aerial photograph has the least distortion?

eUIT6oT
= Yem&UUL bis6lTled @ mmibHUL_&F aIcnoT6m6 O1&IT6oTL &) 6T5)?

a) Vertical photograph (Q&mhi@ s g yeoasUuL b)
b) Oblique photograph (smiie) yemsUiuL D)
¢) Low oblique photograph (@ eomihg mie) yemastuL tb)

d) High oblique photograph (2i$l& smiie) yensUuLLb)
Answer: a) Vertical photograph (Q&hi@ 6 8 yemsiuL b)

Explanation:

Vertical photographsare taken with camera axis vertical, minimizing
distortion.

O\ 8151 &8 Lem&UUL hI&6T GaHWIT D158 018hIEHSHSM8 6T (H&HsUU(HeusTed

G ODIHS CUEHETENE! & (IHEHI6ST M 6OT.

Q.75Which surveying method is most suitable for preparing topographic
maps?

CLm@un&lmmils cuemruL hisomer wiflés WG arbm SieTeilco (W emm 6T8)?

a) Compass surveying (Hlem&sn_1q SiereSliico)
b) Chain surveying (5ai&leSl Siem6eflwico)
¢) Triangulation surveying (eypeueSiweo SiareSlco)

d) Tacheometric surveying (&1_&@&meoor iereSlico)
Answer: ¢) Triangulation surveying (eypeueSiuco ierefuwieo)

Explanation:

Triangulation surveying is widely used for preparing accurate topographic

maps.
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ey aueSliucd Siereiled gicoedSlwwmeor GLT@uNSITTIlE euemIUL Ihis emerr

2 _(Hass SiSlsh uwTUhHSSUUHISEIDS).

Q.76 Which is the most accurate method of levelling?

ueoeueSItI&l6T 1SS &1606SIWLDIT6oT (L 6MM 6T8)?

a) Barometric levelling (euefloesor_oco 11988 ueoeeSIi)
b) Trigonometric levelling ((p &8 @ameoor ueoeeSihiI)
¢) Spirit levelling (<21,6M ueoeueSIihi)

d) Tacheometric levelling (&L_&8smemor U6o6U6ESIHI)
Answer: ¢) Spirit levelling (<69 uco616Siki)

Explanation:

Spirit levelling gives highest accuracy using a dumpy level or auto level.
L b1l @606:6D Di6d60G 1 BLT Glev6u6d epold 1,68 ueveueSIhI G HS
516065WSH 05 & @& (HdGLD.

Q.77Which scale iscommonly used in cadastral surveying?
@sL_sivL”_red SierellweSleo GUNGIUTS 6TiHS o6 dGsmed

uwesTU(HSSUU(HISID&I?

a)1:50,000
b)1:25,000
) 1:5,000

d)1:500

Answer:d)1:500
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Explanation:
Cadastral surveys require large scale maps (1:500 to 1:5000).
BaLo6ivl”_m6o SiereSlwedleo GuUIfiu Siemey&H@&HTed AIEHTUL BISGE6T (1:500 (P& 60

15000 evemir) 85 6m6u.

Q.78Which correction in chaining is always subtractive?

&rb1&l68] Siemefilwedlev 618 TUGUNSID &WI&&EUILEHID Sl(1HSHHID?

a) Temperature correction (@euiublemeo Sl(HSH D)
b) Pull correction (&guy Sl sb)

c) Sag correction (&Mpe Hl(HSHSD)

d) Slope correction (gmiiey H(H&H5D)

Answer: ¢) Sag correction (5mbey H(HGHH1D)

Explanation:
Sag increaseslength: hence correction isalways subtractive.
SMpe) siusleSlullesr Horsems 156ifé S g srer@eu S5 5D 6TiIGUTSID

&Pl&&UU(HID.

Q.79Which method is used for setting out right angle in field without
instruments?
&([HN& 6T E6060oed glemmulled O\&hIGET 6T S 6008 AHEMDEES 6THS (L DM

vwesTU(HSSUUHISIDEI?

a) Indian circle method (8m&w eu”_L (p eom)
b) 3-4.5 method (3-4-5 @ emm)

¢) Intersection method (&bH0y weom)

d) Radiation method (&8l (wemm)
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Answer: b) 3.4.5 method (3-4-5 @ eom)

Explanation:
3.4.5 triangle based on Pythagoras theorem gives right angle.
emus Bamreiv &M _um_1q 651 Siq UuemL_udled 3-4-5 (1 &G &imeorid

O &8s nerHms SiofléSlns).

Q.80Which method is used to eliminate local attraction in compass survey?
Slomas_1g Soeredluedleo 2_oiTeomiT Frilicnu 588 6THs (L oM
uwesTU(HSSUU(HISIDEI?

a) Orientation (Hlem& DiemioliL)

b) Included angle method (2_sireuniiSliu Gamesor (W 6mm)

¢) Radiation method (&8 (ip smm)

d) Traversing (LweooTib)
Answer: b) Included angle method (2_ereunmi&Slu @asmesor (1 emm)

Explanation:
Local attraction affects bearings but included angle method cancelsiit.
2_dreemii iUy Slema s _Lg. @smeoorihis emor Ul @ b; 2_oTeunrhiSiu Gsimevor

WD ems B&E S

Q.81Which type of levelling uses reciprocal observations?

rHw &efliiyss emerts LWESTU(HS GHID LeveueSITE (L DM 6T8)?

a) Profile levelling (ssweSleur ueoeueSlihi)
b) Differential levelling (Geumyumt’_ () usoeueSii)
¢) Fly levelling (eMemrey ueoeueSirhi)

d) Check levelling (&flunitiy ueoaueSiri)
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Answer: b) Differential levelling (Geumum”_(5) ucoeueSirhi)

Explanation:

Reciprocal levelling is a type of differential levelling, eliminating errors across
obstacles.

i ueveueSikl, & emL &6 &L_& @b Gung Slemwsemer HéHs 2 &ob

Gaumum”_ (i) ueo6aU6SIHI @& b.

Q.82Which curve connectsa straight line and a circular curve smoothly?
0(1H BBIFG&m(h) LHMID 6(H QUL 62606 6076) (1L 63T DTS &60)600T 85 (G LD

GUGDOTGY 6187

a) Simple curve (ereiflu cusmeTey))
b) Compound curve (B&i& 608 alcmomey)
¢) Transition curve (b g euemerey)

d) Reverse curve (o m) $levs cucmerey)
Answer: ¢) Transition curve (o) eucmerey)

Explanation:
Transition curves provide gradual change of curvature.

LOM(D )] QIGHETEYSHGT QIGNHETEY LT HMEH S GILD6ST WIS Diafld &ledTmeor.

Q.83Which system provides height information directly from satellites?
@&wWH s &Gsmarsefled(Hibhg Chgwns 2 WIs &86u6m60 QUPIHIE LD il
61g)?

a) DGPS (q..g9.9).616/0)

b) GPS (e919.6160)
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¢) GIS (g9).e3.61610)
d) Photogrammetry (Gum”_@GLn&irm@uor_fl)

Answer: b) GPS (g8.91.616/0)

Explanation:
GPS provides 3D coordinates - latitude, longitude, and height.

sl 9l.ereiv 3D Hlemeo - Siseob, Bormb, 2 _wirbd <, &Slweuh emm eulprhiESmg).

Q.84Which remote sensing resolution indicates how often a satellite revisits
the same area?
(5 O FWIH&E&ECsHT6T RET BL_5516GS S(HNF ClFOMID Diq &&1q

& 60T OGO HITL_ (HID USTG0T60 6m2_[T6)] SHLON6GoTID 6187

a) Spatial resolution (&L Sifreorib)
b) Temporal resolution (&meo Siimeorib)
c) Radiometric resolution (&8)ieSs & Siwmeorid)

d) Spectral resolution (euesoresrs; Siitomeorib)
Answer: b) Temporal resolution (&meo Siiomeorid)

Explanation:
Temporal resolution defines the revisit period of satellite sensors.
&ieo Siineorid 6redTug OFWHem&EE@smer 2 _cworflser Gr SL 55D @

Sl & GEcomIb &Tev SemLGlauaflemw & MI&SDG).

Q.85Which principle is used in photogrammetry for height determination?

Gum”_BLrSlrmGIoL_flulled 2_wirdems Hlif coorullé & 61ih s & G\&ITeiT6ma

uWesTU([HSSUUHSIDEI?
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a) Stereoscopy (S(pwLs&mL_&)
b) Collimation (&69@w65.657)
c) Refraction (6Ml6o&60)

d) Reflection (Qir&lueSliy)
Answer: a) Stereoscopy (SpwL_ s _8)

Explanation:
Overlapping photographs viewed stereoscopically help measure height.
6 (IHUeOT B MHI Ljem&SUIUL_higSemer S(HL &M _&ulled umisHSHmeo 2 WTb SioTéHs

(pLguib.

Q.86Which method is used to find depth in hydrographic survey using sound
waves?
6265 Siemevs cmart) LWesTU(HSS] BFvumiL Siereliliwedled 108 6ms & 6vorL_Mlwb

(poeom 6181?

a) Lead line sounding (8mibys &ulim (pemm)
b) Echo sounding (616 8&m &6 6ooriq rhi)
¢) Cross staff (Slrmero sroL_m-L1)

d)Sextant (@& & 6oL_mesory”)
Answer: b) Echo sounding (6168&m &6 6toriq rbi)

Explanation:
Echo sounding measures depth by time taken for sound waves to return.

69651 Diemovs et Sl(HIY QI 6T(HHG D CHITS M8 IS G 6THEEHT &6|cwoTLq. b

WIS NTEHEHDE).
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Q.87Which part of Total Station is responsible for storing data?

GLm_L_6b 60 BLasg6fled HT6men GFDl&H G UGS 6187

a) EDM (1blc5r coramy g Siememeuiuii)
b) Processor (@&wed))

c) Datalogger (sme) uSleN)

d) Telescope (gnresié£)

Answer: ¢) Data logger (sm6) usle)

Explanation:
Data logger stores measured angles and distancesin total station.
GLm’_L_6b 60BL_ag60fl60 Diemefl_UuL L @& mesThis6f oM mIb SHITTThISG6T HI6)|

usleflulleo B&1dl& & 1u(HSledTm6oT.

Q.88In GIS, which data type is used to represent satellite images?
sl.en.ererdled @&FWIHema & @asmer UL ks emer SlTSlueSlés oTihs HI6)| alcma
uwesTU(HSSUU(HISIDEI?

a) Vector data (QeusLii 06))

b) Raster data (rmeioL_if s16Y))

¢) Attribute data (uesory BT6])

d) Tabular data (o1 euemesor Hrey))
Answer: b) Raster data (tmefoL_if Hrey)

Explanation:
Satellite images are stored as raster data in GIS.

@ &WIH 608 &Gs&sTaT UL This6T gl.e2.6Terdled mrevLif HTours @&léstiu(h&ledTmeor.
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Q.89Which line passes through the optical centre of the theodolite telescope?

SCGwm_cmeol” grefis Fulledr soflufluco emwwib euplwins & @ &coopib s (h) 618)?

a) Axis of telescope (gnmefig HuSlesr o1& &)
b) Line of collimation (&65@we9q6sr @& (h)
¢) Vertical axis (Q&hi@ g ié &)

d) Horizontal axis (SlemLol"_L <15 8)
Answer:b) Line of collimation (£65@weagesr Gan(h)

Explanation:

Line of collimation passes through optical centre and intersection of cross
hairs.

5658w asg6r s () spafluilicd sowwsemsub @& mnié@ Hrevseflesr &bsllcmuw|b
&L &SI S

Q.90Which property of contour linesis always true?

oflefliby Ga(Hasoifiesr sTtIGUTED 2 6voT GOLDWIT6OT UGBOTL| 6T8)7?

a) They cross each other (p(BouemmBMlé @ &coSHlesrmeoT)
b) They merge into rivers (yihdleo &6t 60t 66T m6oT)
¢) They close either inside or outside (2_eT@er icoeog) @enefBu ew (H&ledTm6oT)

d) They are straight lines (®iemen Gpii@asn (Ha6ir)

Answer: ¢) They close either inside or outside (2_cr@er Sicoeog) GenefGuw
ew (H&ledTmeoor)

Explanation:
Contoursalwaysform closed loops either within or outside map boundary.
allafliby Gam(Haser sTi@ugID 2 TG Dicvoos Geuefl@w eypLtiu L

QUGMOITWILDNE &3 (1H& G LD.
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Qo1Which error occurs in tacheometry if the staff isnot vertical?

&L &@ameoor Sierefilwedleo el C&hIE S 5TE &eoeomeill_Lmed arbu(hib Yemp
org)I?

a) Additive error (ge."_(HSlemw)

b) Multiplicative error (Qup& @V Slemip)

¢) Collimation error (65@we965r Slemip)

d) Instrumental error (&6 Sleoip)
Answer: a) Additive error (ge.l”_(HSIemL)

Explanation:
Non-vertical staff leads to incorrect intercept, causing additive error.
O shIEH 5518 Sovcons 6oLl Hanrer ool laetlemw &HSng): &&cormed

go”_(HiU Slemip erbuU(pHId.

Q.92Which curveis provided when two curves of different radii meet
tangentially?
16007 (h) UEmET&6T Gaum HTSHHIL ST OS5 (H CHmL_s &hSHléeEb Gurg)

QIPHISUIU(HID QIGHOTE)| 6T5)?

a) Simple curve (616l cusmerey))
b) Transition curve (onhm) euemerey)
¢) Compound curve (@&ii& 608 aucmore))

d) Reverse curve (onhm) Hlevs cucmerey)
Answer: ¢) Compound curve (B&ii & cm& auemorey)

Explanation:

Compound curve consists of two or more simple curves of different radii with
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common tangent.
Gaiisome aucmonay, G &N (hH& G (HI 66T Goumi bmib G\&T 6oL & 6vor (h

9160608 DiGMH@ GHUL_L eTeiflu euem o6& cmerm ©G\6T6sor (HeTor g).

Q.93Which satellite is India's first remote sensing satellite?

SHSwnelledT (Y &6d UGTEOTED 2 _[T6)] CIFIWIH &S @&MET 6T8)?

a) INSAT-1A
b)IRSAA
c)GSAT-

d)Cartosat-1

Answer:b)IRS1A

Explanation:
IRSAA waslaunched in 1988 as India's first remote sensing satellite.
IRS1A 1988-S 60 Sib&Hlmefilest (1p& 6o USTemTe0 m2_Ii6 GFIWHem& & GaHmoTna

aeiul_L_g.

Q.94Which hydrographic survey method was traditionally used before echo
sounding?

61658 Fa|6ooriq i (W 6bTeori ummbuflwons vwesTuHiSSUUL_L Brturiy
Slom6eilwcd (L oM 6187

a) Sextant method (@&&etoL_medort”_ (W emm)

b) Lead line sounding (&pbys suflmy (pwemm)

¢) Cross staff method (Slmmeio om0 (p emm)
d) GPS method (g81.9.616f0 (W omm)

Answer:b) Lead line sounding (&@pbys suflmy (pwemm)
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Explanation:

Lead line sounding used weighted rope to measure depth.

Spbys suilmi (Y M, 6TemL 6o Suflemm LWETU[HISS] DD EHHG DioTHS G).

Q.95Which component of Total Station emits electromagnetic signals?

@Lm’_L_6b 60 BL_ag60fl60 ST&HMHS Diemevs emer Geusfluil(Hib uE Sl 6T81?

a) Data logger (&1 uSlef)

b) EDM (D66 60160y ST Dieim smeuui)
¢) Telescope (gnrefig )

d) Processor (@ &wed))

Answer: b) EDM (blesrcorgmoy g Siermemeuwi)

Explanation:
EDM transmits and receives electromagnetic waves to measure distance.
FFLG.6TLD LOIGST&MTH S 1607608 66T gyl GIUMICIS T PLHEOLD FHITIS NS

ST &HEDG).

Q.96Which GIS operation is used to overlay multiple thematic maps?
91.82.616r5160 UGV & (IHUIEUIT(IH6IT QIGHITUL h1& 66T 68T &L_&Sl60 Siems&Uu(Hib

@& weoun () 618I1?

a) Buffering (u-ufirs)
b) Overlay analysis (geui@eo u@viumiiey)
¢) Digitization (19.g8ll"_cmL_@&erg.60T)

d) Georeferencing (UeM& &1"_L_6o)

Answer:b) Overlay analysis (geuiGeo u@tiumiey)
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Explanation:
Overlay analysisintegrates different thematic layers in GIS.
spauiiGeo UG LIUMLIGY 28).82.6T6r5160 U6V & (HUI@UN(HEIT i(Hd &) & oI

6 (15h1&5l6 6001 &SI &)l

Q.97Which is the first step in photogrammetric surveying?

Gum_GLr&lrm@w1”_fl& Siemelilwedleo (Y &6d ulg 6T8)?

a) Aerial photography (eumeor yem&UUL D)
b) Control survey (&1 Houm’(H SereMuwed)
¢) Map preparation (euemguL_ &wiflé & 60)

d)Image interpretation (UL eMem&&1D)
Answer: a) Aerial photography (eureor yem&UiuL Ib)

Explanation:
Aerial photographsare basic input for photogrammetry.

eumeot YemaUUL higser Gum’_GLnSlnmGlni”_flé Slesr Dig liuemL 2 _ereiTL_m@GLb.

Q98Which line in a theodolite is made truly vertical by centering?
SBWITL_6m60L"_19.60 BWLWUIU(HS G161 T PLP6VLD 2_660T GHLDIWITGOT O &FIRIGH &S TEH

s sUIU(HID Ga(h) o18)?

a) Line of sight (umiemey @& (k)
b) Vertical axis (Q&mhi@, &g & &)
¢) Horizontal axis (SlemLol” L 15 8r)

d) Line of collimation (&651@w gt @&m(h)

Answer:b) Vertical axis (Q&mi@ &g & &)
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Explanation:
Centring ensures the vertical axis of theodolite is truly vertical.
eoWIU([HS 60 SIGWITL_6mevl” Lq 65T O\&hIG) S8 D& & 2_600T OLDIWNTE

O 5hIGSHS5TE SIHUUDmS 2 MNISICFWSDG).

Q.29Which principleisapplied in chain triangulation?

&1u&165] ey aueSlwedleo LwGsTU(HSSUIL(HID C&TITENE 6T8?

a)Sine rule (co&esr 6N&))
b) Cosine rule (8smema it 6915))
¢) Tangent rule (BLsbreneor1”_ 6 &))

d) Pythagoras theorem (swug@snreiv Gam_um(h)
Answer: b) Cosine rule (8asnem&6ir 6918))

Explanation:
Chain triangulation applies cosine rule to compute distances.

&1 5165 ey Q16SWcd HITIThIS 6T

soTHEIL Basmeneaest eflSlemwis wesTU[HSSHISIDS)I.

Q100Which instrument is used for rapid contouring in rough terrain?
Wr_Lmeor HleotiugtiSleo eflemreuneot efleflibL euemIUL & 8185 @& 6THS & (HoN
vwesTU(HSSUUHISIDEI?

a) Abney level (11607l Gleoeu6v)

b) Dumpy level (Lb9) @eoeued)

¢) Theodolite (5lGwr_emeoo1” )

d) Total station (GLm"_L_6b 6ivBL_619.65T)
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Answer: a) Abney level (o160l @eo6u6v)

Explanation:
Abney level isa hand instrument useful for rapid contouring in hilly areas.
Siieofl @ev6u6d OSUILWGTUTL () & (568 <,Gb: emeoliu@ Slaafleo eflemmeumeor

aflafliby euemIUL 5816@ 250 &g

Q101Which error in levelling is eliminated by balancing backsight and
foresight distances?
ueveu6SIhiled YlesTUMT6m6M W H MILD (L 65T @ 60T E & LI UM 606 SHITTTHIS GO

gwiblemeotiu(hs&lIeus 6T eyeold Ha&EUU(HID Yemip 618)?

a) Collimation error (865@we966r Slemip)
b) Parallax error (untmevdeiv Gemip)
c) Refraction error (eSleoss 6o Slemip)

d) Instrumental error (&6 Sleop)
Answer: a) Collimation error (&658weagcsr Glemw)

Explanation:
Balancing backsight and foresight cancels line of collimation error.
Sledrunmii emex HMID (Y 65T@6oTTE @G UMIT6mey GITIThIES GHOIT ELOLDITE &)U

560G 69651 Blemip emw 8@ SHmg).

Q:102Which survey is used for locating boundaries of property?

@515 5 61606608 el [Hlifcooruié s 61ihg Sterafluco LweTU[HISSUIUHISIDSI?

a) Topographical survey (GLn@ur&lrm9lé Sierellico)

b) Cadastral survey (Ba&L_6io1”_r6d Siemreiico)
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¢) Engineering survey (@urmdluflweo Siereflwico)

d) Hydrographic survey (B itiuniy iereSlweo)
Answer: b) Cadastral survey (BsL_6o1”_réb DiemeNwico)

Explanation:
Cadastral survey marks legal property boundaries.

@sLooL_r6d Sterefllco @&TSHE) &1L 616060608 6ma Hlif cooruils Slmg).

Q.103Which line in a theodolite must be perpendicular to the vertical axis?
SIBWL_cmooL”_19.60 O\&FBIE &G D15 &G O FRIGSH5TH SHHs Goucriqw G (k)
o1g)?

a) Horizontal axis (SlemL_o1” L 15 &)

b) Line of collimation (&65@we9q6r @& (h)

¢) Line of sight (uniiemen @& (K))

d) Axis of bubble tube (uSleir @TUG6oT Dig &)
Answer: a) Horizontal axis (HleoL ol L i&&)

Explanation:
For correct measurement, horizontal axis must be L to vertical axis.
sflwneor Siemelil_1q HETSH, SleoL L L D& & 0\FhE S8 EaHE 0\&hIE ST

& (558 G6eoor (HIib.

Q104Which instrument is used for determining magnetic bearing of a line?

615 B&IM_1q 65T &MHG Slemaemiu & ot MW 6T1hS & (HeM LWETU(HSSUU(HISIDG)?

a) Plane table (9@erssr GL_l6iT)

b) Prismatic compass (Sifletowomiq & SHlemsssn_iq )
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¢) Theodolite (H1Gwm_cmeor”)

d) Dumpy level (Libi9 Geocued)
Answer: b) Prismatic compass (S9ifletoioniq & Slemasm_ig.)

Explanation:
Prismatic compass directly measures magnetic bearings.

Slflerowomig & Slem&sn g C&m g 6T &TH Slemesemer Ghlg WNe SiersSlng)|.

Q105Which levelling method is suitable for rough preliminary surveys?

WrL_Lrer Q&8 Sierellueyid @ ol hm UeoeueSirhi (L 6mm 6T8I?

a) Spirit levelling (<1,69 ueveuseSliii)
b) Trigonometric levelling ((p &8 Bameoor ueo66SIHI)
¢) Barometric levelling (euefioesor_oco 211988 ueoeeSlii)

d) Fly levelling (eSlemreayt usoaieSibi)
Answer: ¢c) Barometric levelling (eueflioator_eo 11988 ueoeueSibi)

Explanation:
Barometric levelling isless accurate but quick, useful for preliminary work.
aeflipedor_6o (1958 UE0aIESIIEI & CHMAITEOT §1606SILID G&IT6HOTL_ &) b 6OTIT60

Caussons HL &SI COsTL_&&U0 uailsafled uweTuHISIDE).

Q:106Which curve iscommonly used in railway tracks for smooth entry and
exit?

Tulleo e uTem & Seaifled Gl 65T ETIWITEDT HIEMW 6 WHMID GeuaflGWbDS&IHGE

Oungieurs LIETU(HISSUUHID QICHOIT6) 6T8I?
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a) Simple curve (616l cusmerey))
b) Transition curve (onhm) euemerey)
c) Reverse curve (o py Slev& eusmerey)

d) Compound curve (B&iis 608 alcmomey)
Answer:b) Transition curve (b my euemerey)

Explanation:
Transition curves provide gradual change in curvature for trains.

LOMT(D )] QIGHEITGY&HGT QUIGHETEY LT DHME S OILD6ST WIS Si6itld &HledTmeor.

Q107Which satellite system is India's regional navigation satellite system?

SpSwnellesr GirmihShw eudlO&FeIS 560 O\&FWIH 60 &E@&M6T Diemlil 6187

a) GLONASS (&Bermeormeiv)

b) Galileo (&6965@wir)

¢) IRNSS (23,917 67657 6T610.6T600)
d) GPS (g0).91.616i0)

Answer: ¢) IRNSS (e2.911i 61667 .6T610.6T610)

Explanation:
IRNSS (also called NavIC)is India's regional navigation satellite system.
IRNSS (NavIC sreor Siempéstiu@h&Snsg) SpSwumeslesr SlombSlw

DO &FEMIS &0 O&FIWIHe0ESESHToT Siembliy G b.

Q108 Which resolution in remote sensing depends on the number of spectral
bands?

USTeooTe 6m2_[T65l60 Dicmevarflom&sd O\&Tem& & 6ifledT 61600T 600l 608 I

OurMI5 & SHTGOTID 6187
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a) Spatial resolution (&L Siwmeorid)
b) Radiometric resolution (&8s & Siomeorib)
¢) Temporal resolution (&meo Siimeorib)

d) Spectral resolution (euedoreoor g Sifiomeotib)
Answer: d) Spectral resolution (eegoresors Sifiomeorin)

Explanation:
Spectral resolution is ability to distinguish different wavelengths (bands).
66001 6001 & SIFLDTEoTID 6TATUS Gaum) Siemevouiflems s emar (Guesor (hH&6iT)

9158 Olb Slm et @ b.

Q109Which method is used to plot survey details directly in the field?
Siemeflwecd efleunhisemer glemmusleo GbIig WITe GUEHTW 6THE (L 6M
uwesTU(HSSUU(HISIDEI?

a) Chain surveying (&ii&leSl iemefuwico)

b) Compass traversing (Hlem&sn”_1q UWIESOTID)

c¢) Plane table surveying (91@eresr GL_Sl6iT iereSlwico)

d) Tacheometry (&1_&@&mesor iereSlico)
Answer: ¢) Plane table surveying (918emesr GL_Sleir ieredlwico)

Explanation:
Plane table allows plotting survey work directly on drawing sheet.

G@erredr BL_leiT giemmulled Gmirig wnss euemHTUL &&léd Siermeflwed uewils emer

oI 2560 SIn&).
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Q1oWhich method of tacheometry uses fixed stadia hair interval?

&L &8s meoor SiemeweSleo Hlrbsr sioGL g wir mHiTed &emL_@eusiflemwis
UWSTU(HSGHID (L 6D 6THI?

a) Tangential method (8L esreedri”_ (1p 6oM)

b) Stadia method (6o @L1qwim (1p 6m>M)

¢) Subtense method (s0IGL_6br6M0 (p6DM)

d) Direct method (@mmq. (ip smm)
Answer: b) Stadia method (6o @L1qwim (1p sm>m)

Explanation:
Stadia method uses fixed stadia hair interval for distance measurement.
oo GL g wir (W emm HlTbsT 6o GL Lg Wit [HiTed SomL_Oeuaflemiu G SieTeydEU

uweTUHISHISIDG).

QmWhich map projection preserves area but distorts shape?

uTUemud FflNsS STL_Lg 6Ilg 616 6D WITDH MID QIEOTUL S SI°_L b 618)?

a) Conformal projection (&redruniioeo "L 1b)
b) Equal area projection (& untiy SI"_L1b)
¢) Azimuthal projection (18w &&6o HI”_L 1b)

d) Perspective projection (@uieio@usig 631 HII”_L_1b)
Answer: b) Equal area projection (gw ugtiy Si”_L_1b)

Explanation:
Equal area projections preserve area, but shapesare distorted.

& uruy S Lkiser urteou Fflunesd asrn'_®Lb: ,60TITEV AL OUIBIG 6T BUEGHOITIHE)

& eoorUu(Hib.
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Qm2Which error occurs due to eccentricity of telescope in theodolite?

S BwimL_emooL”_1q.60 Gnrelig & emiieured arbHu(Hid Slemwp 618)?

a) Horizontal axis error (SlemLo1”_ L 1§ & Glemip)
b) Vertical axis error (Q&1ki@ 68 i& & Gleow)
¢) Collimation error (&65@we965r Slemip)

d) Parallax error (ungeoéeiv Gemip)
Answer: ¢) Collimation error (&69@weag6sr Slemw)

Explanation:
Eccentricity misalignsline of sight with axis, causing collimation error.
Sreli& & smiiey umiemney Gam(h WHMID D& & QRGTHNSH S(HEHSHTHSTED

5658w a6t Blemw arhu(pHib.

Qm3Which curve consists of two arcsbending in opposite directions?

o185l Hlemaulled euemeTHs &6 () IEHOIT 6|8 T O1&ITCOTL . IO 6T8)?

a) Simple curve (616l cucmerey))
b) Reverse curve (onb oy Hewe cucmeorey)
¢) Transition curve (b euemerey)

d) Compound curve (@58 6m& aucmomey)
Answer:b) Reverse curve (onhm Hleoe auemerey)

Explanation:

Reverse curve has two arcs of opposite curvature with common tangent.

wrhHm Slems aicnore) 61l Hlemns alemarThs ETesor(h) bThisS 6T 08T 60T g
Oungid O (h Baim(h 2_ 6ot (i).
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Q1aWhich GPSerror is reduced by using dual frequency receivers?
SIL_eoL Siemeoalflens GluMmIbisemer UWGTU[HSSHIUSTE0 @ D& &IL([HID

s8l.9).61610 SlemLp 6T8)?

a) Multipath error (ueotiunems Sleop)
b) Ionospheric delay (@uw@eormeio Gt Hmosib)
¢) Tropospheric delay ("_GrrGumeivSwii HmosIb)

d) Clock error (19 &1 Slemip)
Answer: b) Ionospheric delay (SuwBeormeio i Hmiosib)

Explanation:
Dual frequency cancelsionospheric delay using two signals.

Sr_eoL Scncoalflens, S (h Sicmevs cmer UISI (H @ eormern Glwir

SMDGHSHmS B6HEG S,

Q15Which feature cannot be represented by contour lines?

olafliby @& (Haseir eyooid UlrSluedlés (Wi wng SiD&LD 6187

a) Hill (inemev)
b) Valley (ueiren & smé @)
¢) Overhanging cliff (Gweo@mré&Siu uremm)

d) Depression (smpey)
Answer: c) Overhanging cliff (Gweo@mné &Hlw uremm)

Explanation:
Contours cannot cross; overhanging cliff requires hachures.

oflefliby Gasm (a6 6o (mHeuemIBm (Wig WwWing: GeoGrmé&Siu utemn Gams &i

Gam(hsoi eweold &ML UUHISIDS).
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Qm1eWhich survey method is best for reconnaissance survey?

BamiE & ((p 651) SieTeNwend @ WIG6D 6 hm (oM 6T8)?

a) Plane table survey (9@eresr GLGl6iT iomedliico)
b) Compass survey (Slem s _ig Semedliico)
¢) Chain survey (5186l Siemefwico)

d) Aerial survey (eumeor iereSliuco)
Answer: d) Aerial survey (eureor SiereSliweo)

Explanation:
Aerial survey covers large areas quickly, useful for reconnaissance.
eumeor Sieredlweo GUIfw UG Slemww ilemTauTE S HSWITEHHT (h (P BT WG| &S

2 50|5ng.

Q117Which instrument is used in hydrographic survey for locating position at
sea?
&L_60l60 BL_§6ms &evorL Ml Houmty Sierefwedled 61ihs & (Hed

uwesTU(HSSUU(HISIDEI?

a) Sextant (@& &eoL_mesorL”)
b) Theodolite ($1GwL_smeol”)
¢) Compass (Slemasm_iq)

d) Echo sounder (e168&n &6y 6sorLif)
Answer: a) Sextant (Q\&&e6ioL_mesor”_)

Explanation:
Sextant measures angle between celestial body and horizon to find position.
@&&6vL_mesorL eflesorBedT b mIb CBHE&T_L & Sledr SemL_ Bw C&memrsomns

oMb HL_60 SL_&H60s Hlif coorudlsSimg).
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Qm8Which component of GISlinks spatial data with attribute data?

ehl.en.616r5160 S5 HTEHRILLD U6HoTL| STEORILLD 36060018 @D For M) 6187

a) Database management system (&16)8 86 @60t 660T 6oL HGHIDUIL])
b) Hardware (& peSlaeir)
¢) Sof tware (@ edt @uIT(mH6iT)

d) Digitizer (iq g8l"_eoL_&i)
Answer: a) Database management system (816158 6 GLo6oT 66T 6mLD Di6mIOLIL])

Explanation:
DBMS in GIS connects spatial and attribute information.

shl.en.ererSleo DBMS &6 16y 1oiH muid uetor 88 66060 £ 660018 SIm&).

Q19Which method is used in photogrammetry to establish ground control
points?
Gum_GLn&lpmGo L fludled Hleod &L (HUuTL_(h) Yyoraflessmer Hlifcooruilé s 61ihs

(P eom UWETU(HISSUUHISIDSI?

a) Triangulation (eypeueSweo)
b) Traversing (UweoTDd)
¢) Resection (Bermiiey)

d) Radiation (&8 (p emm)
Answer: a) Triangulation (eypeueSweo)

Explanation:
Triangulation networks establish accurate ground control for aerial photos.

PP RIGSILIGO GIEHEOIIEHLOLILIEOIT QUITGOT LG UILL 18 (61h & @ &lcoeSiumeot Hlood

&L (HUUTL_coL_ euLpThIE) &H65T D 6oT.
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Q120Which error occurs if staff is not bisected exactly in levelling?
uev6u6SIfISSled eoL M glicoeSiuwms Sresor_masl GlemeSlLtiuLmeSl_Lmed erbhu(hitd

Sleowp 6181?

a) Parallax error (ungeodeiv Slemp)
b) Instrumental error (&peM Slemip)
¢) Collimation error (65@we965r Slemip)

d) Personal error (efliur_L Qlemip)
Answer: d) Personal error (eofliur_ L Slemip)

Explanation:
Incorrect bisection of staff by observer causes personal error.
umi emeuImert eioL_m gicoeSiuwns Glereilrg g med eofliur_ L Glemip

TbubHEmG).

Q121Which map shows natural and artificial features of an area?

615 U@ Sull6T SwWihHems WhH MID OFIWIDH NS SIDEHIS MO ST (HID QIGHITUL LD
618)?

a) Cadastral map (BsL_6io1"_méb euemIuL_ID)

b) Topographic map (GLr@un&lirmSlé euemruL_ib)

¢) Thematic map (&@HUGUI(HET GuEmTUL D)

d) Index map (&1"_() ewemruL_b)
Answer: b) Topographic map (GLr@un&lrm9s euemruL_tb)

Explanation:

Topographic maps show relief, rivers, roads, settlements, etc.
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CLrBun&lrmils eusmruL_mhissar Hleoedleflibl, <, miser, FTemevssar, @Lg ullmHUiLyserr

GunesrmeauhHemmé & (Hl&lesTmeoT.

Q122Which instrument measures horizontal and vertical angles accurately?
SlooL L whHmib O\&hG S8 GaTemThiesemer §1606Sne Diermé @b &5
e18)?

a) Compass (Slem&sn_iq )

b) Dumpy level (Lb9) @eo6ued)

¢) Theodolite ($1Gwm_cmool”)
d) Plane table (9@orreir GL_l6iT)

Answer: ¢) Theodolite (51GwmL_smeol”)

Explanation:
Theodolite measures both horizontal and vertical angles with accuracy.
SBwL_cmool” SlemL_ol”_L b HmIb O\&hIE) & 5185 C&memlihiesemer &IcoeShumes

ST &HEDG).

Q123Which principle of surveying states that "whole to part" method should
be adopted?
Siemailwedledr 6Ths & G&MeTems " (1RSeSl(HbEI UG S!" (W 6mm SlesTuDHMULL

@euevor (HIb 616018 For MISIMD&I?

a) Principle of accuracy (g1606Swé @Qsmeiromns)
b) Principle of consistency (@b miemwd G&nerens)
¢) Principle of working from whole to part ((p g 5l6S(5ib 51 UG &) GsT6TERE)

d) Principle of economy (fléseoré Gasmeromns)

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Answer: ¢) Principle of working from whole to part ((p g &leS(5ibg1 UGS

O&M6ITems)

Explanation:

Survey control is established first, then detailed parts are filled in.
Siemefilwed (Y &6Sl6d &L (HUuN () Siemwd gl Sledreori S uE Sl o
Blroutup&lestmeor.

Q124Which system uses aerial photographs for preparing maps?
QUEHIUL h1& 66 SWflées auITeorl) Lema UL k& 66l UETU[HISSID Siemoliy
o1g)?

a) GIS (£9).e3.616/0)

b) GPS (g1.9).616i0)

¢) Photogrammetry (Gum”_@GLr&lrmGuor”_f)

d) Remote sensing (usTemT60 WH_[T6)])
Answer: ¢) Photogrammetry (Gum”_@GLn&lrm@uor”_f)

Explanation:
Photogrammetry uses aerial photographs to prepare accurate maps.
Gum_GLn&lrmGwL_ifl sumesTt) YemsUUL ks emerl) UesTU(h& S 8160 eSlwiomeor

QUGHIUL & 6morm S SWifléSlns.

Q125Which satellite sensor records thermal infrared radiation?
@eutu Nl e Diemeos Hlii s emerr uHleyGF D OFWIHemadGasmer

2_eoorfliumesT 618)?

a) LISS (er60.23.616/0.6T610)

b) PAN (9.er.61651)
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¢) AVHRR (a1.65).618.24F.<,17)
d) MSS (erib.61610.6T61D)

Answer:c) AVHRR (a1.69.616 .<Dp1i.D11)

Explanation:

AVHRR records visible, near IR and thermal IR for weather and vegetation
studies.

AVHRR @safley, im&Slepeirer IR whmib @etiu IR uSlej@siHns:

6T 6ofl 660 Lo H MID HTeuT SpeHed LWESTUHISEIDG).

Q126 Which type of error in chain surveying is caused by temperature
variation?

&b &ledl Siemefilwedleo @eutiublemen MmN Lmed arbu(pHib Klemp 618)?

a) Sag error (5mpey Gleow)
b) Compensating error (7 () Sleomw)
¢) Cumulative error (8&iié & Glemip)

d)Random error (rihm Sleow)
Answer: c) Cumulative error (8&iidcms Sleomw)

Explanation:

Chain length expands/contracts with temperature, producing cumulative
error.

&1b1&l68l Homb Geutius smeo elifleucmL b g/ & (HhiE cusTcd G&iidHcmnas Ylemw
THUOHEDS).

Q127Which curve provides gradual change between a straight line and

circular curve?
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(1 CHIG&HT(HIb 6ul_ L acmeTa|b &emL G Gl 65T EmIWIT6OT N HME 6mE

QULDIBIG D 6I6M6IT6)| 6T8)?

a) Simple curve (e1oiflu cusmeTey))
b) Transition curve (b my euemerey)
¢) Compound curve (B&ii& 68 au6m6m6y)

d) Reverse curve (onbmy Heos eucmerey)
Answer:b) Transition curve (onbmy euemerey)

Explanation:
Transition curve gradually introduces curvature, reducing jerk in vehicles.

LI H M) CIENH6T6Y GILDGST EHLOWITEET U6 656 6T UL TEIS] EUTEH 6T DSl 6

GHODESIDE).

Q128Which error in plane table surveying arises if magnetic declination is not
considered?

&S FMie] &HSUUL TN med SIBeresr GLSleir SterailueSled arhu(hitd Glemip
618)?

a) Orientation error (@mremwiiy Slemip)

b) Centering error (emwwiiu(hé s 6o Glemw)

c) Plotting error (euemreyts Glemip)

d) Instrumental error (&p650 Sleo)
Answer:a) Orientation error (@mremwiy Glemw)

Explanation:
Ignoring magnetic declination causes table to be wrongly oriented.

&bhs FMicmel Undsafliusmeo GNlGerest GLler Haumns spmbmUubHSIns).
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Q129Which levelling method gives reduced levels by arithmetic calculation?
H600TE&L_19 65T PLHELID @ MMESIUL_L DL L ThI& D6 QULPIhIEG D UeoaueSlik (L emm
o1g)I?

a) Rise and fall method (2_wiey-sfley (p som)

b) Collimation method (&65@weg6sr (1p 6mm)

¢) Fly levelling (eNemrey ueoeueSirhi)

d) Check levelling (&flumitiy ueoeueSirki)

Answer: a) Rise and fall method (2_wiey-#fle) (pemm)

Explanation:
Rise & fall method calculates difference in elevation step by step.

2 _wiey-Ffle) emm 2 wr Geumun’ oL 66iGleuTH ULg uSlepib & 6ot &Sl (HSIS.

Q130Which principle is followed in triangulation survey?

ew6uedlied SiereilweSleo SlesrubHDUUHID G&TETENE 6T8)?

a)Sine rule (ew&6or NS))
b) Cosine rule (&merSlesr 6915))
¢) Trigonometric functions ((y &8&neor’ CUN(HS Ghis6IT)

d)Law of tangents (BL_csrezeor1”_ 6915))
Answer: b) Cosine rule (srerSleor 65915))

Explanation:
Distances and anglesin triangulation are computed using cosine law.

e au6Sliucd Sierailwedleo @&memTihis e Wb mIb SHITTHISET sTerdlesr eNSlwimeo

& 60018 SIL_UIU(H ST mGoT.
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Q131Which method of setting out curve requires deflection anglesand
chords?
UGG 66N MWD &S Slem& b M G&imeorThiss eTHLD & (158 @& B (HeserpLd

@5 omanuneT (L emm 6T&I?

a) Tangent method (BLebrez66r1”_ (1p 6OM)

b) Chord method (s @mé @ (p eom)

¢) Deflection angle method (Slem&wnibmy @smnesor (p som)
d) Offset method (@,-11@ &L (p6m>M)

Answer: ¢) Deflection angle method (Hlewawnbay Gamesor (wemm)

Explanation:
Deflection method sets curve using successive chord deflection angles.
Slemeonmm Gsmemr (W emm &i((1Hd G & Can(haoflesr @&TLii Hlemawnbm)

@amemrhig el UW6TU(HS &I SIE.

Q132Which instrument is used for measuring short base linesin
triangulation?

ewauedlweSleo @ miSIu g LiuemL @& (hs emer Siem6llL 6Tihs & (HoX
uwesTU(HSSUU(HISIDEI?

a) Steel tape (e1:.@ o6& B&M60)
b) EDM (ere0s1"_mrmeoflés it Siermemeuwii)
¢) Gunter's chain (@) eoorL_flesr &i&Hled))

d) Subtense bar (st1@L_6dr6M0 LMIT)
Answer: a) Steel tape (e1:.@ Diome)dHBaie)

Explanation:

Steel tape provides high accuracy in short base line measurement.
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GDISEW g iuemL B ()& & @) 61-:@ DieTeydHBsTed &G Hs &lcoedwib

SHESDS).

Q133Which line connects points of equal depth in hydrographic survey?
Brouriy SerefweSleo &w b GI&TesorL LsiTaflesemer & emeord @b @& ()
e18)?

a) Contour (eflefliby @& (k)

b) Isobar (e2@&munmit)

¢) Isobath (22@smuns)
d) Isohyet (@&nmemami”)

Answer: ¢) Isobath (22@&muns)

Explanation:
Isobaths are lines connecting equal depth pointsin water.

2@amunsd Gam(hiser Hifloo 10 b GI&TesoTL LioiTaifles e &6t 60T 8 Sl60T 6T

Q134Which projection is used for preparing topographic mapsin India?
Sipslwredleo GLrGurnSlnmils cuesmruL hisemers swniflést) uwesTu (S SUIU([HID

Sl b e1g)?

a) Mercator projection (@wi@asL_Lif SII°_L1b)
b) Polyconic projection (uneSI@smeofld Sli”_L 1b)
¢) Conic projection (@&smeofld SI°_Lib)

d) Cylindrical projection (fleSlesoriq fluico Sli”_1_ib)

Answer: b) Polyconic projection (uneSI@smeoflé Sli”_1_ib)
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Explanation:
India uses polyconic projection for Survey of India topo maps.
SpSwnellesr GLTGUN uemTUL his (61H &G UTeSI@sTefls Sl L b

uwesTU(HSSUUHISID S

Q135Which method of tacheometry uses stadia interval factor (k)?
6o BL 1 wiT GomL_Geuef] srrenfl (k) LwesTURIGSVIUHID HL_&G&Tesor Serefiuco

(WP 6181?

a) Tangential method (GLssrenedri”_ (1p smM)
b) Stadia method (6o @L1q wir (1p smM)
¢) Subtense method (#01GL_6br6M0 (1p6DM)

d) Direct method (Gmmq (psmm)
Answer: b) Stadia method (6o @L 1w (ip 6mm)

Explanation:
In stadia method, horizontal distance =k x staff intercept.c.

6o @L g Wit (Y emmu60, SlemL L’ L gmb =k ~ stoL_m) Gemr Bevafl- c.

Q136Which GIS data type represents features as points, lines and polygons?
shl.en 67610 HTR|S euemsulled Yererfl, Baim(h), U6d@&MTETD 611q 65160 DD &Frhi& 66T
&L (houg) 61817

a) Raster data (umeloL_if Hrey))

b) Vector data (QeuéLii Hr6y))

¢) Attribute data (uedoTys Sro)

d)Metadata (Gwr_Lrm QL _Lm)

Answer:b) Vector data (QeusLii sr6)
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Explanation:
Vector model represents features as geometric shapes.

@ausLiT 516 yarearfl, @& (h), uso@smemr ailg 65160 Db Fhisemers &6 fléSmg).

Q137Which GPS error is minimized by differential GPS (DGPS)y?
19 ~u@resTa§Iwed g8l.9.6reiv (DGPS) epevid @omméstiuHid ghl.Gl.ereiv Slemip o18)?

a) Ephemeris error (e1-91Go Moo Glemip)
b) Receiver noise (Qummbii #651b)
c) Satellite geometry error (Q&FwWH & & &M SL_omhHmy Nemip)

d) Multipath error (usotiuTems Sleo1p)
Answer: a) Ephemeris error (e1-81@wiflev Slemip)

Explanation:
DGPS corrects satellite orbit (ephemeris) and clock errors.

DGPS @swihems & @smer &wph& wbhmib &iq.&mr Slemwpsemerd &ifl Q&wSns.

Q138Which contour pattern indicates a gentle slope?

Owéitemwwneor &flemeud s (Hib efefliby Gam(h g eub 618)?

a) Contours very close (10l& 158588 Gan(haeir)
b) Contours widely spaced (unibs oo @evefl @anesor @& (Ha6ir)
¢) Contours merging (esrmns Semawonyb G&i(hHa6ir)

d) Contours crossing (rm G&sogpid s (Haseir)
Answer: b) Contours widely spaced (unb s &omL Geuafl @amesor Bam(Haeir)

Explanation:

Wide spacing between contours shows gentle slope.
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urbs SooLGlaefl G&neaorL eflefliby G&m(Haser Glestsmwwner &iflemeaid

GM&HGD.

Q139Which type of error is eliminated in reciprocal levelling?

umerour ueoeuedlhiSled B & &sUU(HIb Yemw 6rg)?

a) Collimation error (65@we:965r Slemip)
b) Parallax error (unmeodeiv Slemip)
c) Sag error (BMpoy Slemip)

d) Staff reading error (ehoL_nm0 eun iy Gemip)
Answer: a) Collimation error (&658wegesr Slemw)

Explanation:
Reciprocal levelling cancels line of collimation and refraction errors.

urerU Ueoeuediibi &651@La 965 b MIb 65160860 Slemp & cmer [ 8@ SIms.

Q140 Which remote sensing platform operates at altitude 20-40 km?

20-40 815 2_wrHSled SwikiGb USHTERTE0 M2_[6) HOITD 6TF)?

a) Ground based (&e»muesmoiL)
b) Aerial (euneoré somib)
¢) Balloon based (ugpniesr gemib)

d) Satellite (@ &wbH 688 Gameir)
Answer: ¢) Balloon based (ugpnetr gerib)

Explanation:
High-altitude balloons operate in stratosphere at 20-40 km.

2 _wif ugpresT& 6T 6oL TG meivYlwifleo 20-40 S5 2 _wWrsSleo SwihiE SledrmeoT.

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Q141Which method is used for setting out works like culverts and bridges?
&ireoeuil b Mt umeotb GumedTm Uelle 6T D& LIWGTU([HISSUU(HID (L DM
org)I?

a) Chain and cross staff method (&i&leS) w b mitb @& midE, oL’ (W emm)

b) Radiation method (&8l p som)

¢) Intersection method (&emeworiiy (p emm)

d) Resection method (Bermiie) (i som)

Answer: a) Chain and cross staff method (gi1&168 wh mib @& mié@ e
poo)

Explanation:
Chain and cross staff method is simple and used for small structures.
&b1&l68] HMID & MIHE oLl (L o eraflemiwimest g HHU SiemlILs61h &)

I D).

Q142Which surveying method is most suitable for hilly terrain?

WwemeolIuES&HGsHMHM Siereilicd (W emm 618)?

a) Plane table surveying (91@eresr GLSl6iT Siemellico)
b) Compass surveying (Slemasn_1q. Diemefico)
¢) Tacheometric surveying (51_&@&meoor ieredlico)

d) Chain surveying (5ai1£l6Sl Dierefuwico)
Answer: ¢) Tacheometric surveying (&L_&8&mewor SiereNlwco)

Explanation:
Tacheometry is suitable for inaccessible, rough and hilly terrain.

&L &8s memor Siemelwcd &1q 6oTLOMT6T em6eoUIUE S & G&MHMmE).
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Q143Which satellite of ISRO provides cartographic data?
SibSw efesor @evefl S,omiig A Hmieueord (ISRO) euemruL_g remey auiprhiE b

@& WwihH 6088 BaToIT 61817

a) INSAT (&6oram’)
b)CARTOSAT (&mi@GLm&m)
o) RISAT (&)

d) Oceansat (g6t &)
Answer:b) CARTOSAT (sni@GLnam’)

Explanation:
Cartosat series provides high-resolution cartographic imagery.

SMGLT&m_ QST 2 wif STDT6OT QIGHIUL U UL HI&H 66T aUlphIESIm ).

Q144Which method of plane table surveying requires three well defined
points?
ewedr M @setleureor yereflaser @& emeutiu(hib GlGemesr GLGleir Sierefilwed (W emm

618)?

a) Radiation (&8 (peom)
b) Intersection (&emevoriiy (L 6mm)
¢) Resection (Bermiey (peom)

d) Traversing (Uweworib (Lp 6mM)
Answer: ¢) Resection (Bermiiey (ip som)

Explanation:

Resection fixesinstrument station by observing three known points.

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Bermiiey (Y 6mm ey 6T M SiIHwtuL_L yeiteflesemerts uwesTu(HisS) &pesi
iflemeows ems Hlifcoorudlé Slms.

Q145Which scale is used when graphical scale isdrawn asa line divided into
units?
couemTuL SierefiL_(h Gam(h Slfleysermat GIflss0uL_LTed Dig) 6TOILIG &

@&meoeotIuHSIng)?

a) Plain scale (engnmeor iemefi_(H Gan(h)
b) Diagonal scale (eypsmeoblemeods Garr (i)
¢) Comparative scale (6USL"_ (i) Stemesi(h)
d) Vernier scale (Qeuicoflwi Siemesi(p)

Answer: a) Plain scale (sngnmesor Serefi_() Gan(h)

Explanation:
Plain scale shows units and subdivisionsin a straight line.
gngnreoor Seresi(H) Gam(h) 6r6vorH6T WHMID Glfleysemer CHiTCHTL_T&HE

s_[HSIng).

Q146Which contour pattern indicates a ridge?

6 (Ih LG ST (Homey &L (Hib eflefliby & (h) culg 6ulb 618)?

a) Ushaped contours pointing uphill (Gweo@mré s U euig eu Bam(hlaeir)
b) V-shaped contours pointing downhill (Bp@mré & V eug e G (pseir)
¢) Closed contours with lower inside (2_er@er mpey @smesorL ewiq.w
@am(hsseir)

d) Concentric circles decreasing outward (Qeefl@w @& somuyb 61 L B&m(Ha6ir)
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Answer:b) V-shaped contours pointing downhill (8pG@mna Sl V euiq e
@am(haseir)

Explanation:
Ridges show V.-shaped contours pointing downhill.
wemevd Gs(Hedled V eulg 6u 6flefliby @& (e S @mms &l s (Hb.

Q147Which instrument is used in modern total stations for distance
measurement?
esicor GLm"_L_6b 6ioBLag6iTs6ifled s ems SiereliL Ui wesTu(HiHSUIU([HID

&(H6N 6187

a) Prism reflector (9fl&b Sir&lueSitiumesr)
b) Optical square (U9 860 EgITD)
¢) Sextant (@& &eroL_meoorL”)

d) Plane alidade (Q1@erresr 1691@L_(h)
Answer: a) Prism reflector (9flsb Qir&lueSitiumesr)

Explanation:
Total stations use EDM with prism reflector for distance measurement.

GLm’_L_6b 6vBLag6sr, Sifl&Fb GrSlueSiiunesT eyoold &MTsH ems Demell(HSImG).

Q148Which GIS operation combines two data layersinto one?

S 16007 (h) HTR| Di(hé@E) M6 GREOTMITE &606001 8 &L gbl.en.6T6/0 G&FWeoU () 6T5)?

a) Overlay (Bweoepips6d)
b) Buffering (uufir)
¢) Clipping (@eu"_(H&6o)

d) Merging (&§emeoortiy)
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Answer: a) Overlay (Gweveppaeo)

Explanation:

Overlay operation superimposes layers for spatial analysis.
Guévewpscd IFWOUN(H Bi([HEE & m6T TDNSES G&isHs SLeilwed
uGLUMLIeY| C&FEWSIDSI.

Q149Which method is most suitable for locating inaccessible pointsin
theodolite surveying?
SGwm_cmeol” SiereilweSled i) (Wig WS LoTerfles cmar Hlifcoruilés s Wlesa|ib

OUN(HSSHTET (L DM 6TS?

a) Intersection method (&emeworiiy (p 6mm)
b) Radiation method (&8lieSé s (1p omm)
¢) Traversing method (g rmeuieio (pemm)

d) Resection method (Beir9ifley (wpoom)
Answer: a) Intersection method (&emevortiy (i smm)

Explanation:

Intersection method is widely used in theodolite surveying to fix inaccessible
points.

SGwim_smool” Siereilwedled Digms (Wigwins Yeitatlesemer bHlifcooruils s

SomeworUy (oo iSl&ns LWGTU([HSSUUHISIDS.

Qas50Which type of curve is preferred for highways and railways to provide
smooth transition?

OB (h G FTmE0&AT W H MID Tulledseifled Gl 65T emWITEDT WTHMSSIHEU

UWESTU(HISSUU(HID GIEHOT6| 6T8)?
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a) Simple curve (616l cusmerey))
b) Compound curve (Semesoriiy exemerney)
¢) Transition curve (b gy cuemerey)

d)Reverse curve (5606081 eucmerey)
Answer: ¢) Transition curve (orhm eucmeTey)

Explanation:
Transition curves provide gradual change of curvature and superelevation.
Lo H M) GI66IT6Y| GILD 3T GHLOIITEOT RIGRHEIT R & 65T 6MLD LOH MILD GLoCO&FTILIEH6

QHIGSIDG).

Q51In hydrographic surveying, the position of a sounding boat is fixed by
Brouriy SerefweSleo, &a|esorig bl UL SledT 1hlemeo eTeleummy

Bl sooruilé stuHSing)?

a) Cross staff survey (&lrmeio eroL_m:1 DiemeSlco)
b) Range and bearing ($lewe b mib gmmb)
¢) Prismatic compass (Uifletoiomiq & Slemasni_iq )

d) Plane table survey (91@erssr GL_1Sl6iT iom6lwico)
Answer:b) Range and bearing (§lem& wmbmb gmmib)

Explanation:
Sounding boatsare located by range and bearing from known shore stations.
& 60019 Thl UL @& &6IT, ANWIUL_L &eorGur HlemeowrhisefleSi(pibg) Slens

WHmID SIS Smeo Hlif corullés & Uiu(Hl&lesT meor.

Qa152Which error is most common in chain surveying?

&1b1&168] Sierefilwedled Wlsa b Gungiaureor Yemlp 6187
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a) Personal error (efliur_L Slemip)
b) Instrumental error (&p69 Slemip)
¢) Natural error (Swihens Gemip)

d) Cumulative error (B&iidboma Sleomwp)
Answer: a) Personal error (seofliur_L Glemip)

Explanation:

Chain surveying depends on field staff: personal mistakesin alignmentand
reading are common.

&rb1&l68] Siemefilwed Yyeots uesflwmeriseflesT &aicors SHlemeot EMiHESI: Dilq &Holq.

Soofluul_L Glemwseir arbu(hSHlesTmeor.

Q153Which instrument is used in tacheometry for stadia method?
6o BL1q W (P eDESTE FL_&@&Tenor Diemedlwedled 61hs & (Hed

uwesTU(HSSUUHISIDEI?

a) Compass (Slem&ssm_iq )

b) Dumpy level (Lib9 Geoesv)
¢) Theodolite (5lGwr_emeor” )
d) Plane table (9@eresr GL_6iT)

Answer: ¢) Theodolite (5lGwm_smeo1”)

Explanation:
Theodolite fitted with stadia hairsis used in tacheometry.

o BLLgwir B&m(H&EHL 6T d6r1q.1W SGWIML_cmevl” H1L_&Gsmesor Siereilwedlco

LwWesTU([HSSUUHISID S
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Q154Which system provides 24-hour global coverage for positioning?

iBlemeowndlw 24 wewfl G 2_cosermeiiu G&emaiemiu aUIPHIE D el 6T8)?

a) GPS (e.9.616/0)
b) GIS (gf1.en.616/0)
¢) Remote sensing (ugnesoreo sme_iiey))

d) Photogrammetry (Gum”_GLn&lrmGuor_f)
Answer: a) GPS (g9.9).6r6i0)

Explanation:
GPS provides continuous global positioning with satellites.

shlfl.ereiv @FWHenssBsmerseflesT eyweold 24 wewfl GBI 2_cosemmeslw

iBlemeowidlg 6meo aulphIE Slm ).

Q155Which map projection is commonly used for topographic mapsin India?
SpSlwnelleo GLTGuUISITTIE aIemIUL kIS 6H&E GuNgHIeuTs UILETU(HISSUU(HID

ouemIUL & SI_L b 61817

a) Conical projection (@a&smeoor HI”_L_1b)
b) Mercator projection (@wiGsL_Lif SIi"_L_ib)
¢) Cylindrical projection (8eSledor_fleo Si”_1_1b)

d) Azimuthal projection (il &860 L ib)

Answer: a) Conical projection (8&meoor Sli”_1_ib)

Explanation:

Conical projection suits mid-latitude countries like India for topographic
mapping.

Gsmeoor SI”_L1b ShShwm GUITETD H(HSST 18 60MThIS BT (H&OHEE TDDG).
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Q156 Which is the primary advantage of remote sensing over ground survey?
USTETE0 2_[f6)] eTeilicd &emruililco SiemelliucmeoelilL euLpIhIE D (Y & 65T 6HLD

TH 60T 6OLD 6T8))?

a) Low cost (@& oomihs @&eoe;)
b) Synoptic view (6@ miemio unieme)
¢) High accuracy (2_wii gyeoeShuib)

d) Simple instruments (ereflw &(meMsoir)
Answer: b) Synoptic view (@b micmw umicney)

Explanation:
Remote sensing provides synoptic view of large areasat once.
usNesTeo 26y 68T Brrs Sleo Ul uTtiemu 6@ LT e eSO &iTevor

2 50|5ng.

Q157Which method is used to calculate reduced levelsin levelling?
@6v6uedlh Siemedlwedleo @ emmE&EIUL_L L L h1& 606l &6orsHEIL 6ThE (L M
uwesTU(HSSUU(HISIDEI?

a) Height of instrument method (&@ef 2_wimb p emwm)

b) Rise and fall method (arbmib wHmib #fley (P omm)

¢) Both a and b (&regor (Hib)

d) None (ergyeip &eoemev)

Answer: c) Both aand b (&esor (ib)

Explanation:
Reduced levels can be calculated by both HI method and Rise & Fall method.

&ODHS L_L_Mhis6T &IH6N 2_wirib (p emm whHmb abmb &fle| (p emmuwired

86007 & &\L_UIUL_60MmID.
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Q158Which element is not required in GIS database?

shl.en 61610 HTR|S &6 S Slod Bsemanubm se m) 6187

a) Spatial data (&L_eSweo s16)
b) Attribute data (ustorys sT6Y)
¢) Temporal data (&meo s16))
d) Audio data (665 Brey)

Answer: d) Audio data (6968 gey)

Explanation:
GIS mainly uses spatial, attribute, and temporal data: audio is irrelevant.
sfl.en.616/0 SL_65W6d, UGTTUS BTG, HTEO T A SlweuhemmU LWESTU[HISSHISIDSI:

5065 516 €5 mUMDME).

Q159Which instrument isbest for measuring horizontal and vertical angles?

SlemL L L whHmib O&hG S8 Ganemo s smer Seriiu Amibhs &aped o18)?

a) Dumpy level (Libi9 Geoered)

b) Prismatic compass (fleiowomig & Hlemasm_Lq )
¢) Theodolite (5lGwr_emeol” )

d) Plane table (9@erssr GL_Nl6ir)

Answer: ¢) Theodolite (5lGwm_smeo1”)

Explanation:
Theodolite measures horizontal and vertical anglesaccurately.

SBwm_emool” SlewL 1" L b mib O\&mhIE S8 GaTemThissemerr §lcoeSliunss

DieT&HEDG).
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Q160Which photogrammetry technique uses two overlapping photographs?
& 16007 (h) LIFMIU(HID Le&UIUL IS emerll LWTU(HiSSIb Gum”_ GLn&lrmGinlifl

(oo 6181?

a) Stereoscopy (eioLe flGwimeio Gamal)
b) Orthophoto method (24 6885r@Gum”_GLIr (W omm)
¢) Mosaic method (Gwrenss (ipemm)

d) Rectification (s sib)
Answer: a) Stereoscopy (eore flGwmeio @am)

Explanation:

Stereoscopy provides 3D view from two overlapping photographs.
eroLeflGwmeio@aml &resor () M mUHID YemastiuLhisefleSimibg 3D s Semw
QUPIBIEH S G).

Q161Which type of error in levelling is eliminated by balancing the back sight
and fore sight distances?
©l606651MbISI60 Gl6STUNT 66N LMD MID (L BTUMT D6 HITITEIES GHEIT FLOLDITE &) 6L 65T

ewoold BEH&UUHID YemLp 618)?

a) Collimation error (&65@we6g65r Slemip)
b) Parallax error (unmeodeiv Slem)
c¢) Curvature error (euemere| Slemw)

d) Instrumental error (&6 Sleo)

Answer: a) Collimation error (&658weag6sr Slemw)
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Explanation:
Balancing sight distances cancels collimation errors.

Ui 66 GITITEIS GDOIT &S @)U & 656 ag6iT Glemip emw 6@ Smg).

Q162Which curve is used when two parallel roads/railways are connected by a
curve?
116007 (1)) &£ 60 GOTIITGOT &ITEDHE0EGT /U608 6l 360601 G Gug)

UwedTU(HSSUU(HID IENEITe)| 6TSI?

a) Reverse curve (8606081 cucmorey)
b) Compound curve (Semewriiy exemerney)
¢) Transition curve (orH ) eucmeTe)

d) Vertical curve (@&, 681 eueverey)
Answer:a) Reverse curve (5me0&1p auemorrey)

Explanation:
Reverse curve connects two parallel alignments.
HNOELD UGHOIT 6| S50 (1) 360 600TIITT GULDIS FL_T518 GO 360600188

vwesTUHISID .

Q163Which survey uses triangulation method asits principle?

e 6U6ESIILIED (L MM Silq UL WTEHE O80T Di6eT 66D 6T8)?

a) Geodetic survey (yeMuSlweo Sieredlco)
b) Plane table survey (9@eresr GL_1Sl6iT Diemredliico)
¢) Chain survey (5iai1&l6Sl Diorefwico)

d) Hydrographic survey (®itiuniy SiereSlweo)

Answer: a) Geodetic survey (yeSluSliweo Sierefliico)
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Explanation:
Geodetic survey covers large areas using triangulation.

yeudlwedo Siereflwco Guifiu urtiys emer ey euedlicd (Y emmulled Dieré Slm&.

Q164Which factor mainly affects the accuracy of GPS positioning?

e8l.9).e160 [HlemeowIgH6SlesT &1606SIugms (L& 6T emWTs UTSlEE D Srremnfl 618)?

a) Number of satellites (Q&wihemna&Basmeiraofesr 6160orcmfls 6mas)
b) Weight of receiver (Qummbflesr eremL)
¢) Antenna height (<1,6601 G660t 2_Wwirib)

d) Battery power (Gui_Lfl &65))
Answer: a) Number of satellites (Q&wibhema&Bsmeiraoflesr 6160orcmofld 6mas)

Explanation:
More satellites provide better positional accuracy.
91516 QFWIH 08 EHGsTeTs6T DiSls &icveSlwmeot Hlemeown)ls cmeo

GULDTEIE) H6OT D 6OT.

Q1e5Which instrument is used for measuring depth in hydrographic survey?

Brourdy SereweSleo By s ems Semiiu LIETUHISSUU(HID &(IH6N 6187

a) Echo sounder (616881 &6y 600rL_iT)
b) Sextant (@& &eioL_coT1")
¢) Prismatic compass (Uifleioiomniq & Slem&sm_Lq )

d) Plane table (9@orsr GL_Nl6iT)

Answer: a) Echo sounder (6168sm s66orL1})
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Explanation:
Echo sounder uses sound waves to measure water depth.

6188 &M 561 6UoTL_IT 69651 Dicmevs emertl UGSTU(HS S B IflesT B8 SierdSlms).

Q166 Which is the main application of photogrammetry in civil engineering?

Hefleo SebdrBleoflwflitudSleo Gum_ G SlrmG@InL fluSledr (& &S uwesTu (i) 61817

a) Structural analysis (euiq euemty UG VUMIEY)
b) Topographic mapping (GLrGun&lrmilé euemruL_b)
¢) Soil testing (edor UG & & 6meoT)

d) Concrete mix design (&nest Sl H606m61 Gl BIEmIOUIL])
Answer: b) Topographic mapping (GLr@Gun&lrmSé euemIuL Ib)

Explanation:
Photogrammetry is mainly used for preparing topographic maps.
Gum”_GLn&lrmG@w L ifl Gupburepitd GLT@UISITTYI& euEHIUL i ool

2 _(Heunés LWGTUHISIDG).

Q167Which satellite system is operated by Russia?

TOSWIT SWéH @D QFWHen&sEGsmeT Siemwliy o18)?

a) GPS (ghl.Gl.61610)

b) GLONASS (@ @erreormeiv)

¢) Galileo (&69651@wir)

d) Compass/BeiDou (Quii@Lr)

Answer:b) GLONASS (@ @erreorieiv)
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Explanation:
GLONASS is the Russian satellite navigation system.

& @oreoreiv eI WITeNl6sT @ &FWIH 608 EGHT6T aUDISTL L. DIemIOUIL.

Q168Which levelling method is used in hilly areas where ordinary levelling is
not possible?

sngnrer GeoaeSlh &1é S bHm wemeotiu@ Slaafleo uwesTu(HidSUUHID
©le06651hI (L 6™ 6T5)?

a) Reciprocal levelling (urehour @eo6u6Sih)
b) Differential levelling (Geumyun () GeveueSii)
¢) Trigonometric levelling ((p &8s emr @eo6u6Sihi)

d) Fly levelling (umé @b @eoeueSihi)
Answer: ¢) Trigonometric levelling ((p 86858 memor @eo66Shi)

Explanation:

Heightsin hilly regionsare determined by measuring vertical anglesand
distances.

wemeoliu@Slsatlco O&hIE S 8Id GaTemThIS 6T LDMHMID SITTTHIS DI 6T HE)

2 Wb &eoréSIL_UU(HSImE).

Q169Which map scale is most suitable for town planning?

H&TOWULEG) WIS UM IHESLONGT QIGDTUL 66 6T8)?

a)1:50,000
b)1:25,000

€)1:5,000

d)1:2,50,000
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Answer: ¢)1:5,000

Explanation:
Large scale maps (1:5,000) are used for town planning for detailed features.
@uifliu Siere)B&ITed euEHTUL higeT (1:5,000) haTremioliGleo elliflexmeor

eNlauThis (61h & @ LW6STU(HSSUIU(HSl6dT m6oT.

Q.170Which GIS operation is used to combine two different thematic maps?
Sresor () Gaumiul_ L &HUGIUTIHOT QIGHTUL HIS N6 365600188

uvwestuHSsUUHID GIS @&weoun () 61g)?

a) Buffering (u-ufia)
b) Overlay (speuiGev)
¢) Clipping (&leflidm)

d) Intersection (&emeoortiLy)
Answer:b) Overlay (6peui@ov)

Explanation:
Overlay operation combines multiple thematic layers in GIS.
edl.e2.616r0160 6T @60 GlEWIGOUI (H LD & (HLUIGUINIHEIT <Di(hH& &8 oI

ST S E).

Qa71Which type of aerial photograph isbest for photogrammetric mapping?
Gurm_BLn&lrm@wL_flé euemruL_&Slh @& U LWTU(HSHS WISID 6 hHM 6UT6oTU

LHom&UUL LD 618)?

a) Vertical photograph (Q&ki@ g yemstuL ib)
b) Low oblique photograph (@& emmibs &mie) yeoasiuL Ib)
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¢) High oblique photograph (2i$l& smiie) yemaiiuLib)

d) Panoramic photograph (u@esrmimidlé yema&UiuL_Lb)
Answer: a) Vertical photograph (Q&hi@ 68 yemstuL b)

Explanation:
Vertical photographs give minimum distortion for accurate mapping.
0\ &5HIE S &) LeO&UUL BIS6HT & 60Dihe CIGHETEM6! QIDIHIE)USITEO §|606SILILDT6oT

QUGOTUL 5815 2_&HiHSomo6).

Q172Which method is used to determine azimuth in compass survey?
Slemasnl g SereilweSleo S s ems Hlifcorudlé st uwesTuHiHSUIUHID (W e
o1g)?

a) Forward bearing method ((p et Sleme (pomm)

b) Back bearing method (et Sleme (1p smm)

¢) Both aand b (Sresor (Hib)

d) None (ergyoyip Seoemev)
Answer: ¢) Both aand b (8resor (Hib)

Explanation:
Azimuth isdetermined by forward and back bearing.

WP S (Wit Slems i mIb Gl6sT Slem& eyoeold & 60T s &IL_6omiD.

Q173Which is the major disadvantage of chain surveying?

&1b1&l68] Siereilwedlest (&S @ emmum (i) 618)?

a) Cannot be used for small areas (9w urtiSleo LwETUHISS (WPig WITE))

b) Cannot be used for large areas (Quflw urtifieo LweSTU[HIGS (WLgWITG))

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

c) Very costly (Blseyib G&eoeureor &)

d) Needs modern instruments (p68cor &5 e8ls6iT B8 6mow)

Answer:b) Cannot be used for large areas (@Quiflw urti§ieo uwesTUHS S

((DILRTT) )]

Explanation:
Chain survey issuitable only for small, plain areas.

&ib1&l68] Siemeflwed Hlw, &G euefl uE S1&EHE G WL (HGWL UT(HS ST S).

Q.174Which sensor isactive in remote sensing?

usTemTeo m2_[felled G&FwWe6Sleo 2_eirer 2_eorflliumesT 6187

a) LISS (er60.23.67610.6T610)
b) SAR (6r6iv.6r.11)
¢) MSS (erib.616M0.6T61D)

d) AVHRR (ar.69.616.<1,iF.Dp11)
Answer:b) SAR (er6iv.61.<2biF)

Explanation:
Synthetic Aperture Radar (SAR)isan active sensor sending its own energy.

6T610.61.1 60Tl pHMeneo Glaefludl(Hib @&wedled 2_srer 2 _ecoorfliiumesr.

Q.175Which instrument combines EDM with theodolite?

o119.611b (EDM) 1o muid S1@wim_emeor”_eomL_ & ememords @b & (15651 6187

a) Total Station (GLm"_L_6b 6ivBL_619.65T)

b) Plane table (9@eomsr GL_Nl6iT)
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c) Abney level (11607l Gleo6u6d)

d) Optical square (019 860 Fgimid)
Answer: a) Total Station (GL_m"_L_6b 6o @L_629.65T)

Explanation:

Total Station integrates theodolite with Electronic Distance Measurement
(EDM).

GLm’_L_6b 60BL_ag65T HIGWITL_6medL"_emL Wb 6T60&1"_nmeolld ST DiemefiL 6oL b

S 60018 S ).

Q176 Which curve provides a gradual change from straightline to circular
curve?
CriiGa i _19.65(HH&I 6uL_L_cuemernellih @ GILo6ST eMWITGT MTHME NS QULPHIELD

GU6DOIT6) 6187

a) Simple curve (erefliu eucsmeTeR])
b) Transition curve (b m) eueverey)
¢) Compound curve (Sememriiy aucmere))

d)Reverse curve (5606081 cusmorey)
Answer:b) Transition curve (onbm) eueverey)

Explanation:
Transition curve ensures comfort and safety in roadsand railways.
LOM(D ) QIGHEITEY FTE60&ET L HMIb Tuilevsserfled uTgHBTUIHULID 6uESlemwib

2 mISIOuHiSHEDE.

Qa77Which type of survey is conducted to determine mean sea level?

san&fl HL60 1" L &5 Hlifeooruilé s bL_&SUuU[HID Siemeilucd 618)?
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a) Levelling survey (@6o6u6Slh1 Siemefleco)
b) Hydrographic survey (@itunriy SiermeSlweo)
¢) Geodetic survey (yefuSweo SiereSlico)

d) Cadastral survey (@&ns g SiemeSlweco)
Answer: a) Levelling survey (Gleoau6Slh1 Siereflico)

Explanation:
Levelling surveys establish mean sea level asdatum.

@ovcueSlity Sierefilwed Fam&ifl HL_60 LI _L & cms g &&6mns bHlif cooruiléSmg).

Q178Which property of contour linesis correct?

elafliby @am(hasefledr 61ihs Lesory &iflwimeot g)?

a) Contours cross each other (eflefliby Gar (& 6iT 69 66T M GUUITEHT M) &HL_&G1D)
b) Contours merge into rivers (<,misefleo eSlefliby Gai(H&6iT &608 @)
¢) Contours never cross each other (eflefliby s (Hser 6@pGUNGID &L_&&M8))

d) Contours always straight (eflefliby s (pl&eir sTiBun g Gruns &(mHd@Eb)

Answer: ¢) Contours never cross each other (efefliby Gar(Haeir 6 (H@UMTGID

&L &5HMG))

Explanation:

Each point has only one elevation, so contours never cross.

663Gl (1H YeiTaifld @b 6 LB &(H&@b; Sigeorimod eflafliby Gasm(Hlaser
R(HBUTHID &HL_S&T ).

Q179Which map projection preserves area correctly?

urtueremey Eflnsd &TéE D euemIUL & SI_L b 6187
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a) Equal-area projection (w0 ugtiy S_1_ib)
b) Conformal projection (swevig.6n S 1b)
¢) Azimuthal projection (18w & 860 HI”_L_1b)

d) Cylindrical projection (8eSiesor_fliweo Hli”_L_ib)
Answer: a) Equal-area projection (st ugtiy SI_L1b)

Explanation:
Equal.area projections maintain true area representation.

&l urty Sl L (b 2 65T mLoWIT6oT UTLIUGT 6m61s &TéHSIDG).

Q18o0Which is the first step in photogrammetric survey?

Gum_GLr&lrm@w1”_fl& Siemellwedleo (1 &6d ulg 6T8)?

a) Aerial photography (euneorts yem&UUL Ib)
b) Control survey (&1 ([Huum(p) SiereSlweo)
¢)Map plotting (euemruL 6uemIs60)

d) Stereoscopic study (srore N@wneioBasnitlds Spiiiey))
Answer: a) Aerial photography (eureort) yemaiuL_ib)

Explanation:
Photogrammetry begins with capturing aerial photographs.

Gum_GBLr&lrm@w1_fl (1 &6Sl6d aumeoT) LemsUUL 1his emer 6T (HUusleSImHibg)

OsLhi@G S &)

Q181Which GIS data model uses points, lines, and polygons?

yeireflaseir, 8aim(haeir, ueo@amemrmiser <, &lweumemmi uwesTu(His &b GIS srey

wrSlifl e18)?

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

a) Raster model (mmeioL_ii ior &A1)

b) Vector model (@euéL_ii on&H)f)

¢) Grid model (Sif"_ wr&)A)

d) Network model (@m1"_@eunis wr &)

Answer: b) Vector model (QeusLii ion &)

Explanation:
Vector model represents spatial features with points, lines, polygons.
@eusL i rSifl SL_eflweo Sib&ibisemer LeTelflser, Gsm(hser,

U6OB&TETTRISGTTEO HITL_(H&SIDE.

Q182Which instrument is used to plot directly in the field without
calculations?

&60158 (1) S6d1 1) GbIig WTs L6vs Sl6d auemTsH @G UWeTU([HSSUU(HID &mHed
o1g)I?

a) Theodolite (51GwmL_smeol”)

b) Plane table (9@t GL_l6iT)

¢) Dumpy level (Lib 19 @eoered)

d) Prismatic compass (Ofleioiomiq & Slemassn_iq.)
Answer: b) Plane table (9@erssr GL_Sl6iT)

Explanation:
Plane table is used for direct plotting in the field.

G1BomesT GL_l6iT Ljoo S Sled Chirig WiTs IemISHEGU LIWGTUHISIDS.

Q183Which EDM instrument uses light waves?

ovaifl Diemevs emerts uwesTu(HISGID EDM & (1565 61817
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a) Tellurometer (@L_coepi@rmiBL"_ i)

b) Distomat (1q 6ro@L_mome")

c) Geodimeter (g8l@wimq B1"_L i)
d)Microwave EDM (emwé@rmBeney EDM)

Answer: ¢c) Geodimeter (5Gwmiq BL_Lif)

Explanation:
Geodimeter uses light waves for distance measurement.

221Gwimiq BL_L_ii 6p6ifl Biemevss smerrts LWGHTU(HISS] HITTEH DG D& SIMG).

Q184Which error occursdue to improper centering of theodolite?

S Gwim_smool”_6oL_ SRS eowWwIU{HSSHINSTed arHu(hid Slemlp 6T18)?

a) Eccentricity error (Q&1ki@ & g Slemip)
b) Centering error (emwwiiu(hé s 6o Glemw)
¢) Collimation error (&6S@weg 65 Slemip)

d)Parallax error (ungeoéeiv Slemip)
Answer: b) Centering error (sowwiiu{Hidbseo Sleow)

Explanation:
Improper centering causes centering error.

SQUDITGOT HWLIWIU([HS S 60 HWLWLIU([HIS S 60 el eml arHU[HISSHID.

Q185Which technique is used in GIS for finding shortest route?

& DI&W uren s oow sesorLHw GIS Geo uwesTuHSSILHID K ULD 618)?

a) Buffer analysis (u-uif ugUUMIEY)

b) Network analysis (@mbL_@euniid u@Uumiey)
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¢) Overlay analysis (eui@eo u@uiumiiey)

d) Interpolation (&6srL_fGurBev6r19.65T)
Answer: b) Network analysis (Qb1_@eumis u@iumiey)

Explanation:
Network analysis helpsin route optimization.

@BL_@ounié uEUUMLE| uTens Gbu g 6 256 &SIDE.

Q186 Which system is used for storing GIS data?

GIS sremen @ahlé &t LweTUHISSUUHID SiemUIL 6TS)?

a) RDBMS (1719 861D 6T610)
b) CAD (fleriq)

¢) GPS (ef19).e1610)

d) EDM (Fr.q 611b)

Answer:a) RDBMS (o171 Glerib.6T610)

Explanation:
Relational Database Management System is used to store GIS data.

efl.e.e16i0 516 RDBMS &6b & ibléas0uhlSms.

Q:187Which survey determines property boundaries?

O\ &5 8) 6160607608 6ma Hlif 6oorull G Diomeilico 6187

a) Topographic survey (GLrBur&amé iereNuwico)
b) Cadastral survey (Q&n g Sierefilweo)

¢) Hydrographic survey (®itumiy Sierefluico)

d) Geodetic survey (yeMNuSlweo Sieredlco)
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Answer:b) Cadastral survey (Q&ns g1 Sierefweo)

Explanation:
Cadastral survey marks property boundaries.

@ &5 5 Serelluco &S &l 616060608 emeor [HlifxoruilsSim .

Q188Which curve is used at road intersections for smooth turning of vehicles?
GUT&GOTIRIS 6T (I G5T GMWITE Sl(THDU &FTemed FiHSIUs6ifleo LWETU(HSHSUU(HID

QUGHEIT6) 6T8)?

a) Simple curve (erofl euemere))
b) Transition curve (b euemerey)
¢) Vertical curve (Q&hi@ 58 cucmorey)

d)Reverse curve (6m6081p eucmerey)
Answer:b) Transition curve (ombmy euemerey)

Explanation:
Transition curvesallow gradual turning at intersections.
LM H M) IEmET6Y &FTemoo FhHIULsaifleo Gl 6T emwwneT Sl(HUUSems

UIBIEH S G).

Q189Which surveying method is best for underground tunnels?

31q 1blovd §I6MMDEG1HSE) l&6D @UT(HSSLMET Si6eTeSlICD (L DM 6T5)?

a) Traverse surveying (iq rmeuiieio iemeSlweo)
b) Tacheometry (LT &iGwr@w1”_f)
¢) Photogrammetry (Gum”_GLr&lrmGuo1”_f)

d) Hydrographic survey (®itiuniy SiereSlweo)
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Answer: a) Traverse surveying (iqomeuieio Siemeflwico)

Explanation:

Traverse method is suitable for tunnel alignment.

LG ITEUT 6 (WP 6O &1IThIs DS SHL_& 815 E OUT(HSSLOTCOTS).

Q190Which type of aerial camera gives stereoscopic vision?

eoLeflGwreroBamillé Ui emeuemI ULPIRIE D euTesTd G 6T8I?

a) Single lens camera (@hHemm Glevssreiv GasLomm)
b) Twin lens camera (8 _emL @evedToiv G&L0MTT)
¢) Panoramic camera (U@sormrmiblés @aswom)

d) Strip camera (6iv1q fli @&Lomm)
Answer: b) Twin lens camera (8n"_eoL @eoscsrero @somm)

Explanation:
Twin lens provides stereo vision for 3D study.

S’_ooL @evesrev 3D Spiiieyssmeor soteflGwim umiemeuemw aupkiE S &)

Q191Which projection is most suitable for mapping poles?

&I(HoUhIS 6meT euemTUL I Wlsa|b Gurpsneot Sl L b 61g)?

a) Conical projection (@a&smeoor HI”_L_1b)
b) Cylindrical projection (8eSiesor_flweo Hli”_L_ib)
¢) Azimuthal projection (18w & &6o HI”_L 1b)

d) Mercator projection (@wi@Gs1_Lif Sli”_L_ib)

Answer: ¢) Azimuthal projection (1860 SIi”_L 1b)
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Explanation:

Azimuthal projection is used for polar mapping.

S WPSHH60 SI”_L b §I(HE UEHTUL $5165 @ UIWSTUHSSUUHISEIDS).

Q.192Which GISdata model represents elevation using grids?

2 wirhisemer Sl eyood srL_(Hib GIS srey wrSfl erg?

a) Vector model (GeuéLii on &)

b) Raster model (mmeoL_ii ion &)

c) Network model (OpL_@euniis wr&Hifl)
d) TIN model (iq..e3.61651 on SIif)

Answer: b) Raster model (rmeioL_if ion &)

Explanation:
Raster model uses grids to represent continuous data like elevation.

gmeoLif rlifl 2 _wimb Guresrm C&TLIF Hremey Sfl eweold &M (HEDG).

Q193Which error is eliminated by the method of repetition in theodolite
survey?

SGwim_smool” Siereflwedled flUlig 6965t (L MWD B &H&SUIUHID Slem 6T8)?

a) Collimation error (&65@we6965r Slemip)
b) Reading error (eur&liiy Sleop)
¢) Centering error (eowwiiu(Hé s6o Slemwp)

d) Instrumental error (&6 Slemp)

Answer: b) Reading error (eur&luy Slemip)
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Explanation:
Repetition method averages reading errors.

il exg.661 (W emm eur Uy Glemwsemer rmnefl GFWSIDE!.

Q.194Which instrument is used to measure vertical anglesin plane table
survey?

918Bemest BGL_Yleir SterefileSled O\&MhIEG S8 G&memThies eI SieTiul
uwesTU(HSSUUHID &(HeN 6187

a) Alidade (21696 ()

b) Plumb bob (Qlerib unty)

¢) Trough compass (L_r-t) Slemasn_iq)

d) Clinometer (&6fl@eormBL_Lif)
Answer:d) Clinometer (&ofl@oormiBL_L i)

Explanation:
Clinometer is used to measure vertical angles.

&oflBeormbBL L if &M@ S8 C&HTemrhisemom Siemésasl UW6TU(HSImE.

Q195Which type of curve is used in summit or valley roads?

E&ID Di6060F) UGTOTH BTG &FTemovsailed LIWGTU(HSHSUIU(HID QIEH6T6)| 6TE)?

a) Horizontal curve (SlemLol”_L euemerey)
b) Vertical curve (Q & @, &8 oucmerey)
¢) Transition curve (b ) Qem6T6Y)

d)Reverse curve (5606081 cusmormey)

Answer:b) Vertical curve (Q&mi@, 68 cucmerey)
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Explanation:
Vertical curvesare used in summit and valley roads.
s HmIb UTETS ST G FTemcus6fled Ol&hIG S8 OIENH6Te)|

uwesTU(HSSUUHISID S

Q196Which is the main advantage of remote sensing?

USTeTED m2_[FeSl6dT (Y & &I HEST LD 6T5)?

a) Costly (@&eveuneor &)
b) Wide area coverage (@Quiflw urtiy sm&witemeo)
¢) Requires more manpower (2i8)s weofls alemib & ecmen)

d) Low accuracy (@ oomibs gi606Siuib)
Answer:b) Wide area coverage (@Quiflw umtiy emaiwimemeo)

Explanation:
Remote sensing coverslarge inaccessible areas quickly.
ugTesTeo 6m2_lie] G, DieEs (WIq WIS UG SScmer el eus

ST OH S G).

Q197Which levelling method is used in setting out long tunnels?

B eoorL & his s etleo Siemwius @ LW6ETUHISSUU(HID Gleoau6SIH! (W e 6T8)?

a) Reciprocal levelling (urehour Geo6u6SIh)
b) Differential levelling (@eumyun () @eoeuedi)
¢) Trigonometric levelling ((p &8 8smewr @eo6u6Sihi)

d) Fly levelling (umé& @b GeoeueSihi)

Answer: a) Reciprocal levelling (urehour Geo6u6Sih)
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Explanation:
Reciprocal levelling avoids line of sight errorsin long tunnels.

umerour @eoeueSim fesorL srmishisafleo umiemey Slemw s emer &6l & SIn&.

Q198Which instrument is used for rapid determination of distances and
elevations?
GNITHISG GDOTILD 2 WIS 66ITI|LD eNlemreuns Hlijeooruilé &L uwdsru@_c_‘r,g,ﬂu@m

&(H6N 6187

a) Theodolite (51GwmL_smeol”)
b) Tacheometer (Lt GwWmBL_L )
c) Total station (GLr"_L_6b 6ivBL_61965T)

d) GPS receiver (g8l.9).6r6i0 GuUmbi)
Answer: b) Tacheometer (LrAGwmSL_Lif)

Explanation:
Tacheometer is used for quick measurement of distances and elevations.
Lr&HGWTBL_Lif gnrkiseir whmib 2 winhisemer 65lenreuns ierés

vwesTUHISID .

Q:199Which error occurs due to eccentricity of theodolite verniers?

S Bwm_emool” Gauietwisofleor @ &kiE S8 HRDTed arbu(hib Slemlp 618?

a) Parallax error (unmeodeiv Sleo)
b) Eccentricity error (Q&hi@ 68 Gomip)
¢) Collimation error (&651@we6:965r Slomip)

d) Centering error (sowwiiupHdseo Glemip)

Answer:b) Eccentricity error (Q&ki@ &g Sleow)

RLA ACADEMY CIVIL ENG (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Explanation:
Improper placing of verniers causes eccentricity error.
Oauieflwiser sflwune &oeocomned cmeusssliu(hHausned O1FhIE s Yem

eI Hu(hHiIb.

Q.200Which system integrates GPS, GIS, and Remote Sensing for disaster
management?
SieusT Georeoremwdsns gilill.eren, 88l.e.6r6 WHMID USTEHTED H2_[Femey

62 (15151851 6076001 85 (&) LD Di6oLOUIL] 6T8))?

a) DGPS (19..291.191.616i0)
b) Decision Support System ((ip1q.6)] Sb&T6) DicmIoUIL])
¢) LIS (hleos &8 6160 SicoioliLy)

d) MIS (@ eor 6dor 6m10 886260 DiemioiL])
Answer: b) Decision Support System (@19 & Sb&r60] Dismioli)

Explanation:
DSSintegrates GPS, GIS, Remote sensing for effective disaster management.
(P1L9.6)] H,HTR| Dol Dieu&T GLoeoresor mw&&ns s8l9l.ere, sfl.es.ere Wb mib

USTGI0TE0 602_[T 606Y 69 (IH1hISH 6076001 &SI 8l
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